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����� ���¥� ¬� ���� ¡¢ �· ¡®�¢³ ²¥·¥¨ � ���·��ª��� �·¡�¤��¤ � �ª��©� ° �¡¤«¡· �� ©²¥·¥¨ ¡�¢°¡¢� µ ãª ����©¤¶¤³ ²¥·¥¨  �® °���©�� �¤°¡���� § ����� � ¤ª�¤©�� ���°¡����¡·¥�©� �  �¤�¤©��� °�� ¬�¥� á���¯â¨¤�¤ § � � �· «¤ª��¤©�¤ ���°¡�·¥�©� � ª����°¡�·°¢ § �¤�� �����¤¸ � �¶��·���´¤«®���©� ª�©ª�·¡·§ ¥¨¤�¤°¡��·�¢³ ²¥�  �® ¢ «¤�°��·� �·� �¤��� ­�¤°¡¤�©·� ��· ¢©�° ÃµÃ� µ

ç· ¢©�° ÃµÃ � à��·° «¤ª· ª�©ª�·¡¬� � ���·��ª��� § � °���³ ©�±¥� � �¤°¡���� ����©¤¶¤³ ²¥�  �® �´® ¡·� � «·© �� � ����¢ �¥��©·� ¥¢°��� § � ¤ª�¤©�� ���°¡����¡·¥�©� §  �¤�¤©�� °¤�¡°� �¤����¢ �� °��¬�¥� á���¯â¨¤�¤ § �· «¤ª��¤©�� ���°¡�·¥�©� � ª����°¡�·°¢ �¡�� µ �´¢�¤ £�¥¨¡�©� ��´¤�
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����¶©�±¸ � ��  ¡¤³ ²¥·¥¨ ° �¡¤«¡¬� ©�� ³ � ¡ ���·�¤ª°��¤ � �·©�°¤ � � �ª��©�³  ¡�¢°¡¢�·��� ¢³ ²¥·¥¨ ¡� �¤´¤ª©��©�¤ �¬�©¤º µ �³ ¤� � °¤ ¡¤°�� ³ ¤° °����©�®¥�� § ´ª· ­¤�¤ °�· ¡¤��¥�©¤ ��±©��� ­¤��� ¥��° «�³ § ��¤�¥� ���°�±¥�� § ¥�·�� ����¢¥³ ¤ ¥��¥�· � �©��³  ��³ ���°�±¥� �  ¡��·°��¤©�³ ª�¥��¥�· � � �®° ��³ ���°�±¥� ��¤� � ¤ª�¤©�� ���°¡����¡·¥�©� § ´ª· ª·­¢©ª¢³ ²¥� � ���°¡����¥�� ³ �©·����·°��³ ¤³ ²  �®� ª� °¤¡�ª·§ «²¥�² ¡�  ¤� � �¬�©¤©�¤ µ � �· ¡°�� � ��·¶ �� ���·° «¤ª· ���·� ��©·¥¨ �¤«�¶�©�¤¥¨ ª¤³ ²  �®  ����¤ª��¸ ª� ��� ¢ ����� � ���  °¤�¤�©�
u(~x, t)

§ °¡¬�� � �¶��������©¡��¤¸ ¡�����¤¡¢�® �°����©�®¥��� § ¥�±© ��©�� ���¤�¥� ���°�±¥�� � § � �¡�©¥³ ¤« ���°¡�·¥�©·�� ¤ª�¤©�� ���°¡����¡·¥�©�� �¢� °�©¥�©¡�¤¥³ ® �� ¤ª�¤©�� ���°¡����¡·¥�©� §°����©�®¥��� µ � ����¢���·�¤ª°¤¥¨ �°¤�¢³ �  �® § ¶� � ��·¶ �� � ���  � �«©�¤ �¬�©¤©�� £¤��¤¥� ¦¤
∇2u(~x, t) = 0

�ÃµÃ�
� �¤�¢©°��� ����´��·�

u(~x, t) = 0
©¤ ����´¢ �­��©¥��� ���¢ �¤³ ²¥�´�  �® �� �¤�¢ µ â° «¤ª��¤©��� ¤�©¤ ��®ª°�±¥� ����´¢ ª¤©¤ ³ � ¡ �����

vn = c n̂ · ∇u(~x, t),
�ÃµÅ�

´ª��� ¥ ³ � ¡ � ��©²  ¡¤«² § ¤
n̂
��©¤¥�¤ ³ �ª©� ¡°��· ��°¡�� ©��� ¤�©· ª� ��� ����¥¨©� µ

à�� �� � ��© ����±¸ �¬�©¤©�¤ £¤��¤¥� ¦¤ § ����� � ��·¶ �· �¤�¢©�° �¢¥¨¢ ����´¢ § ������� ¡¤³ �  �® © ����© ���· � � ��¤ ©��� ����� ¤ ��� ¡·� � ���·�¤ª°¤� � ©�� � �¶� �·¸ ���� �²�¤©· ¤©¤��¯¡·¥�©�� µ � ¡�¡©² ¥�¥¨² ¡¤°��´� ¢° «¤ª¢ § ³ � ¡ ­¤°¡ § ¶� ­��©¡ ³ � ¡ ©�� ¡¤���©· �� ��´�®ª¢ ©¤ � ¤«��¤�¢���©�¤ µ à�¥�²¡°��� �¡¤�· ����¢¥³ � ¡¤°��´� ­��©¡¢  ² ª����� ��¤ª¤©� � �¡�ª² ��© ����³ ¤©¤¯���·  ¡¤���©�±¥� µ æ ¤� �� �¡¤�·  ² �©¤¥�©�� ¡�¢ª©��³  �� ª� ��� ¢ § ´ª·¶ �¤�¢���©· ­��©¡ ¡����·­��� ® ª�©ª�·¡¬� �  ¡�¢°¡¢�¤ �©¤¥�©�� °�����°¢³ �  �® µ � ¡�³ ­¤��� § �¤�ª�� � ¡�¡©�  ¡¤³ �  �® �³ ¤¯� � °� �·�¤���¤¥³ � � �®ª�· ª�©ª�·¡¤� � µ � �®° �� ´¤«®��� �� ©² ¥��¤�  �·� ¥��³ � ¨¤�¢³ ² ���� ¡�©��³  �·¥¨ �©¤³ª¢³ ²¥·¥¨  �® � �¥¨  ² ��ª�¡� �� µ
æ� ¤©¤���· � µ�© µ � «¤±©�� ¡�´� �³ ¤� � °¤ � � «¢¶·�·  �® ¢��� �¥��©·� ��ª���� § � °¡¬�·�ª�©ª�·¡· �� ©² ¡·�°� ©¤  ���¥¨ °�º¥¤¥¨ µ ø¤°� � �ª�� ��¤©· ³ � ¡ � �ª���� �´ «��·� � � �¶��·¸  ¡� ��¤©· � ���·�¤ª°¤¥¨ § � °¡¬�·¥¨ ��� �¥����¤©��  �® ª�©ª�·¡¬� �  �¢� ��¢°¡¢¤¥³ �� ©���ª´�·�¤³ ² ª¢¶�³ ���� § ³ ¤° � ���·° «¤ª¤¥¨ ©¤ �· ¢©°¢ ÃµÅ µ

ç· ¢©�° ÃµÅ � à��·° «¤ª· �³ ¤� � ° § � °¡¬�·¥¨ � �¶©¤  ¡� ��¤¸ � �ª�� �´ «��· � °�· ¡¤���¤¥³ ¤ �������ª��©·� ���¡����� �Ã� ��¤� °¤©¤«· ¡����²¥�  �® � ����¢ �¥�¤³ ²¥�³  �® � �ª �� «·���¥��¥�·  °¤�� �Å� µ
� ��� �� ¡�´� ¡·�¢ �³ ¤� � ° ¢¶·³ ��· ­��� ¤����¢ �¬�©¤©�¤ £���©��¤ µ �ª�¤ ¡�´� ­��� ¤����¢����´¤ ©¤ ���� �²�·�¤©�¢ �¬�©¤©�¤ £¤��¤¥� ¦¤ ����� �©¤�����©�� °�©­����©�³ � ¤�· ���©®¡��¤�´�� « ©¤ ��� ¡ �· �� �¤� � �©¤©·� ���� �²�¤©�¢ �¬�©¤©�¤ £¤��¤¥� ¦¤ µ Ê¤ ¡®�©��  �¢°¤¸ � ®ª����·�¬�©¤©�¤ �¬¶©�¥�°���´� ©¤ ����¢¥³ ® ¡¤°��´� �ª������¤©�¤ µ ø¤°�� � �ª�³ ±¥�� �©¤¥�©�� ¢��¤ �¯¥�¤ �¤´¤ª©��©�� § ´ª·¶ � ¢° «¤ª¢ � ©�� °�º¥��©�� � ���¢  ¡��© �¤¥¨  ����ª·§ �� � ·�¤©�´� ������¬�©¤©�¤ �¬¶©�¥�°��� ¥�² ¡°��� §  ����¤ª�¤ ���  ª� ¢° «¤ª¢ ª·©¤� �¥�©�´� µ
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� ���·�¤ª°¢ �´�� « �� ©²¥·¥¨ � ©���´�¤©�¥��©�³ ���� ¡���©� �¬�©¤©�� £���©��¤ ³ � ¡ �©¤©� µ��ª©¤° � �¢©°¡¢ � �ª��©�¤ ��·°� § �©¤¥�©�� �¤�ª���³ �©¡��� ¢³ ²¥· ³ � ¡ ���·�¤ª�° § ´ª· �� �¤����� ¡¢ ³ � ¡ �´�¤©�¥��©· ±¥�¤©°¤� � µ ��«·� ±¥�¤©�° � ¡�´� ¡·�¢ �³ ¤� � °¤¥¨ ©�� ³ � ¡ �¤©��ª�·¯�¤�©·§ ¤ ³ ¤° � �°¤¶��· � ª¤� ��³ ¥�®±¥� ��¤¥·§ � �®¥� °�¢¥���·µ æ �¤¡�´� � «¤±©�� �¤ª¤©· �· «���� ¡ �´�� « � ´��� �¡��� °¤©¤«¢ � �¬¶©·� � �¤�¢©°¤� � ����´��·� � µ � ¡·� ¥��¢ �·����¤ª��©��� ¡¤«� ©��� �¬�©¤©�� £���©��¤ ª�¤ ¡�´� ���·�¤ª°¢ µÊ¤ ��¥�²¡°¢ ��¤¥·§ � ���ª��¤�� Å �� ¬� ��· �©¤©� ���·° «¤ª· �³ ¤� � ° ��·¥�©·¥¨ �ª��� �¤¯ª¤³ ²¥·¥¨ ���� ¡�� � £¤��¤¥� ¦¤ � ¤©¤���² ��·¥�©·¥¨ � «¤ ©�±¥� ¡�´� ¡·�¢ ���� ¡¢ ©¤ ���·° «¤ª����¤�¥¬� ���°�±¥� � °�� ¬�¥� á���¯â¨¤�¤ µ � ���ª��¤�� Ä ���·� ��©��· ©���� ®ª©· � � �¡�ª����ª������¤º °�©­����©·¥¨ ¤�¤�¤¡ � ¤¡�� ¤¡·¥�©·§ °¡¬�· �¤ ¡� ¢³ ��· � ��ª��¢ ��� ¡·¥¨ �´�� «�� ¬� ��©·� � ���ª��¤�� å µ � ���ª��¤�� Ô ���·� ��©��· �·����¤ª��©�� �©¤©�´� ³ ¢¶ �¬�©¤©�¤£���©��¤ ª�¤ � ¬«� «¤ �¥�·�©·§ �����¤ª�¤³ ²¥ ³ �ª©¤° ��� ¤¡ � �¡����©· � ���ª��¤�� è § �¤� ���¤¯³ ²¥·� �·����¤ª��©�� ©���´� �¬�©¤©�¤ £���©��¤ ª�¤ � ¬«�¤ °¤ µ ç��ª��¤« ê �¤� ���¤ �·���¯�¤ª��©�� �©¤©�´� ³ ¢¶ �¬�©¤©�¤ £���©��¤ � ´��� �¡��� �¤�¥¤ § ¤�� �©©² � �¡�ª² § ¤©¤��´�¥�©²ª�  ¡� ��¤©�³ � ���ª��¤�� è µ � ���ª��¤«¤¥¨ è � ê ¤©¤�����¤¸ � ®ª����· �³ ¤� � °� �·�¤���¤¥³ � §°���· ¡¤³ ²¥ � ���� �²�¤º ©¢� ��·¥�©·¥¨ �¡��·� ¤©·¥¨ �¬�©¤º £���©��¤ § ¢�· °¤©·¥¨ � �¡�ª²��� ¤©² �¤«²¥�©�°¢ » µ
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ä��¬�°¤ á���¯â¨¤�¤ ¡� ¢° «¤ª ª�¬¥¨ � «¤ °�¥¨ § �¬�©���´ «·¥¨ � �����¤¶©�� �������¥�· ¡·¥¨� «·¡ § ¢ ¡¤� ��©·¥¨ ¡¤° § ¶� �ª��´ «�±¸ � �®ª�· ©�� � �
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x
§
y
�©¤³ ª¢³ ²  �® � � «¤ �¥�·*©���¬�©���´ «·¥¨ ±¥�¤© § ©¤¡�� �¤ ¡ �±

z
� ®ª��� ª� ©�¥¨ ��� ¡��¤ª «¤ µ ��±�� �ª��´ «�±¸

b
³ � ¡ ª¢¶��©��³  �¤ �ª ���� ¡¤«·¥¨ ���� �¤�¬� °�� ¬�°� ¡� � �¶��· ���·³ ²¸ § ¶� ��°¤�©�� ��®ª°�±¸ �� ��©�¤ �® � �� ��©©�³

z
³ ¤° � �®ª�· ª� ��� ¤ ©�� °�º¥��©·� � � «¤ �¥�·�©¤� � § ¥�·�� �¤�¤� ���¥�©�� �è�

~v(x, y, z) = −∇p(x, y)

2µ

(

b2/4 − z2
)

.
�Å µÃ�

é�¶��· �¡�ª· ��� ¤¸ ¥¤«· ����� «·� ����� ±��ª©�² ��®ª°�±¸ � � �
z

〈v(x, y)〉 =
1

b

∫ b/2

−b/2
v(x, y, z)dz = − b2

12µ
∇p(x, y)

�Å µÅ�
à��·¶ �� �¬�©¤©�� ¡� ¡¤° ��¤©� ��¤�� æ¤�¥· ¦�´� � ¬� �²¥� ¶� ª�¤ � ¤«·¥¨

b
±��ª©�¤ ��®ª°�±¸³ � ¡ ���� ��¥³ �©¤�©¤ ª� ��°¤�©�´� ´�¤ª��©¡¢ ¥�±©��©�¤ µ ãª ¡��¤� � ®ª����· ��� �³ ¤¸ �©¤° ±��ª¯©��³ § ¤ �¤´¤ª©��©�� ¡�¤°¡¢³ ��· ª�¢�·� �¤���� � ¡¤° ¡�¶ ���¢� ���· �· ¡®�¢³ ²¥� �� ��¤¡��·

ß



ç· ¢©�° Å µÃ � à¤�¥� ���°�±¥� � ��  ¡¤³ ²¥� � �¤ª�¤�©�³ °�� ¬�¥� á���¯â¨¤�¤

ç· ¢©�° Å µÅ � ä��¬�°¤ á���¯â¨¤�¤ ��¤� � ��©¤¥��©�¤� � � � �  � ¬«��®ª©·¥¨
�¬¶©�¥�°��� µ æ �¤ ¥��¥�· ©��±¥�±����³ �¤¥¨�ª�� �

∇ · ~v = 0
�Å µÄ�

à�ª ¡¤� �¤³ ²¥ �Å µÅ� ª� �Å µÄ� �¡��·�¢³ ��· �¬�©¤©�� ©¤ ¥�±© ��©��
p
� �� ¡¤¥� �¬�©¤©�¤ £¤��¤¥� ¦¤

∇2p(x, y) =
∂2p(x, y)

∂x2
+

∂2p(x, y)

∂y2
= 0

�Å µå �
� ¥�²´ «�±¥� ����� «·�¢ ¥��¥�· ©¤ � �� ����¥¨©� ���ª��¤«¢ � «·©¬� �·©�°¤ § ¶� ��®ª°�±¸ ¡�³ � �¯� ����¥¨©� ³ � ¡ ���� ��¥³ �©¤�©¤ ª�

n̂ · ∇p
µ

� úÝÐÑÚ+ úÛñØ,- ��¤ª¤³�· ¡��¤�  ¡¤���©�±¸ ­��©¡¢ � �� �®ª�· ª��� ¤ � «·©¤� � � �¡�ª² ��© ����³¤©¤���·  ¡¤���©�±¥� ��°¬« ���� �²�¤©�¤ ³ �ª©���ª©�´� µ à�¤�� æ¤�¥· ¦�´� �Å µÅ� �¤�� ¤©� � ¢¶·¥����� ��©©�³
κ = b2/12

�¤ �� ¡¤¸ �
~v = −κ

µ
∇p.

�Å µÔ�
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ã�� ��· ©¤³����� ���·�¤ª�° ³ �ª©���ª©�� ���� ¢�¤³ ²¥�´�  �® ­��©¡¢ § ³ ¤° ©¤ �· ¢©°¢ Å µÄ µ

ç· ¢©�° Å µÄ � ��ª©���ª©�� ���� ¢�¤³ ²¥·  �® ­��©¡ � °�� ¬�¥� á���¯â¨¤�¤ µ
� ��¢ � «·©¤¥¨ ¥�±©��© ��  � �«©�¤ �¬�©¤©�� £¤��¤¥� ¦¤ �

∇2pA = ∇2pB = 0.
�Å µè�

ä �¡¤«¡ ���� ¢�¤³ ²¥�´�  �® ³ �ª©���ª©�� ­��©¡¢ ��� ¤©· ³ � ¡ �¬�©¤©��� �
xf (y, t) = V t
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xf
¡� �  � ¬«��®ª©¤ � ����� ¤ �¢©°¡¢ ©¤ ����´¢ §

y
��©¤¥�¤ �  � ¬«��®ª©² ���©��² �¢©°¡¢©¤ ����´¢ §

t
³ � ¡ ¥¨� ��² ¥�¤ ¢ § ¤

V
��®ª°�±¥�² ­��©¡¢ µ ö�±©��©�� ³ � ¡ ¥�²´ «� ©¤ ����´¢ �¤¡��

pA(xf ) = pB(xf )
µ � ¡·¥¨ �¤��¶©�±¥� § ��¤�¤ æ¤�¥· ¦�´� �

vA(xf ) = vB(xf ) = V
��¶��· �©¤��*¸¥�±©��©�� � � ��¢  ¡��©¤¥¨ ­��©¡¢ µ

pA = −µA

κ
V x

pB = −µB

κ
V x +

(

µB

κ
− µA

κ

)

V 2t
�Å µ��

ö�· ¡¤° � ��¢ �¤³ ²¥·  �® ­��©¡ ³ � ¡  ¡¤���©· . ��¤ª¤³�· ����¢¥³ ® ¡¤°��´� ­��©¡¢ § ª�ª¤³ ²¥ ª�³ �´� ° �¡¤«¡¢ § � ¤«� � ����ª·¥�©� �¤�¢���©�� § ³ ¤° ©¤ �· ¢©°¢ Å µå µ à��·³� �³�· ¡��¤� ° �¡¤«¡

ç· ¢©�° Å µå � ��ª©���ª©· ����� «·� � °��¬�¥� á���¯â¨¤�¤ � � ¤«·� § � ����ª·¥�©·� �¤�¢���¯©��� ­��©¡¢ µ
­��©¡¢ ª¤©· ������

xf (y, t) = V t + ε
ç�

[eiky+σ(k)t].
�Å µß�

/ ®ª����· �¤ª¤¸ �©¤°
σ(k)

� ³ �±��
σ(k) > 0

¡� ª�¤ �¤�¢���©�¤ � ��°¡���� ­¤���·�
k
­��©¡ ³ � ¡©�� ¡¤���©·µ à�®ª°�±¸ ­��©¡¢ � ¤ �� ¡¤¸ �

vf = V + εσ
ç�

[eiky+σ(k)t] = vA(xf ) = vB(xf )
�Å µÃ÷�
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ö�±©��©�¤ � � ��¢  ¡��©¤¥¨ ­��©¡¢ § ���· ¡¤°��³ ��®ª°�±¥� � ¤³ ² � � ¡¤¸ �
pA = −µA

κ

(

V x +
εσ(k)

k

ç�
[eiky+k(x−V t)+σ(k)t]

) �Å µÃÃ�
pB = −µB

κ

(

V x − εσ(k)

k

ç�
[eiky−k(x−V t)+σ(k)t]

)

+

(

µB

κ
− µA

κ

)

V 2t

à�ª ¡¤� �¤³ ²¥
x = xf

� °���· ¡¤³ ²¥ � ¥�²´ «�±¥� ¥�±©��©�¤ ©¤ ­��©¥�� �¡��·�¢³ ��· � ª�° «¤ª©�±¥�²ª� ¥� «�©¬� ��© ���·¥¨ �
ε

µA

(

V +
σ(k)

k

)

= µB

(

V − σ(k)

k

)

.
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à� ����° �¡¤«¥�©�¢ �¡��·�¢³ ��· �� �²��° ª· � �� ·³ ©· � � ¡¤¥� �
σ(k) = V k

µB − µA

µB + µA
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∆p = γ

(

2

b
+ K

)

,
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γ
¡� ©¤��®¥�� � �� ����¥¨©���� §

K
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σ(k) = V k
µB − µA

µB + µA
− k3 γκ

µB + µA
.
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σ(k)
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ç· ¢©�° Å µè � ���²��° ª· � �� ·³©· ª�¤ �¤�¥¬� ���°�±¥� � ¢��´�®ª©��©��� ©¤��®¥�¤ � �� ����¥¨¯©����´� µ
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• ¢° «¤ª ³ � ¡ ��°¤�©�� �  ¡¤©�� �¬�©��¤´� ¡��� �ª·©¤� �¥�©�³ §
• �­�°¡· °�©��°¥³ �  ² �¤©��ª�·�¤�©� §
•  ¡®¶�© �� ³ �©¬� ³ � ¡ � ¤«� §
• ©�� �¤¥¨�ª�� ���°¡�����¤ µ

�¤«¬¶�· ��©¤ª¡� § ¶� � ¤�· ¡·�°� ³ �ª�© ��ª�¤³ ³ �©¬� � °�©¥�©¡�¤¥³ �
c
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µ = A(T ) + kBT log(c) + qΦ
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µ
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��©¤¥�¤ ���· «�¶�©� ©¤��®¥�� µ �¤¢�¤¶�·§ ¶� � ´�¤©�¥· 2¢¤�� ¡¤¥³ �©¤�©�³ § ´ª·  °¤�¤¥�¤ ¢ �� ���¤¥³ � ³ � ¡ �©¤¥�©�� � �®° �¤ �ª  °¤�� ¥�¤ ¢ ª�¥¨�ª��©�¤ ¢° «¤ª¢ ª�  ¡¤©¢  ¡¤¥³ �©¤�¯©�´� § ª·���´�©¥³ ¤ ¥¤«°�� �¡�´� ��²ª¢ �©�°¤ µ �¤¡��

∇ ·~j = ∇2u = 0.
�Å µÃ��

ç�� ����¤³ ²¥ � ��·¶ �· �¤�¢©�° ©¤ ��� ����¥¨©�® ���ª��¤«¢ ­¤� § �¡��·�¢³ ��· �¤�¢©�° ©¤ �¢¥¨����´¢
~vn ∝ n̂ ·~j = n̂ · ∇u

�Å µÃß�
�·©�° ¡·� ���´� �° � ��·� �©¡¢ � ¤ª�¤©�¤ ���°¡����¡·¥�©�´� § ¢°¤�¢³ ²¥· ¥¨¤�¤°¡��· ¡·¥�©� �³ ¤¯� � °¤ �·�¤���¤¥³ � � ��� �¥����¤©�¤ § ����ª ¡¤� �¤ �· ¢©�° Å µ� µ

ç· ¢©�° Å µ� � �·©�° ¡·� ���´� �° � ��·� �©¡¢ � ¤ª�¤©�¤ ���°¡����¡·¥�©�´� § ª�¤ � «¤ °��³ ���°¯¡��ª·µ ���¢ ¡�¤¥³ ¤ �¤ �å � �
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• °�· ¡¤���¤¥³ ¤ ����¥¨ «�ª��©�³ § ³ �ª©� ° «¤ª©�°���³ ¥��¥�·§
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• ���¡��� �¥�©¤ °�· ¡¤���¤¥³ ¤ � ������ª��©·� ���¡����� µ
� �����  �·� ���·�¤ª°¢ �¤�¤� �¡��� ¥¤«°�� �¥�� ��� ¢³ ²¥·� �¤¥¨�ª�²¥· ���¥�  ³ � ¡ ¡��� �¯�¤¡¢�¤ § �¤ ¡� � ���¡��� �¥�©�³ °�· ¡¤���¤¥³ � � ���¡����� � ®ª��� ¡� °�©¥�©¡�¤¥³ ¤ ª·­¢©ª¢³ ²¥·¥¨� ���¡����� ¤¡�� ¬� µ ã�¤ �¤¥¨�ª�²¥� ���¥� · ��� ¤©�  ² �ª��� ��ª©�� ����� �¬�©¤©�� ����¯��ª©�¥¡�¤ ¥����©�´� � �¬�©¤©�� ª·­¢�³ � µ ã�©¤¥�¤³ ²¥ � ��¤ ¡�����¤¡¢�·

T
�¢� °�©¥�©¡�¤¥³ �

c����� �� ��©©²
u
ª¤  �® ��� ¤¸ ³ � ¡¤°��  ¤�·� �¬�©¤©��� �

∂u(~x, t)

∂t
= C∇2u(~x, t),

�Å µÅ÷�
´ª���

C
��¶� ��©¤¥�¤¸  ¡¤«² ª·­¢�³ � �¢� ������ª©�¥¡�¤ ¥����©�´� µ �¤° «¤ª¤³ ²¥ ¶� ¥¨¤�¤°¡��·¯ ¡·¥�©¤  °¤�¤ ª «¢´�±¥� ¢° «¤ª¢ ��ª�����©¤ ����� ��®ª°�±¸ � �� ����¥¨©� ���ª��¤«¢ ­¤� ³ � ¡ � ¤«¤� ���¬�©¤©�¢ ª� ¥¨¤�¤°¡��· ¡·¥�©�´� ¥�¤ ¢ ���¤° ¤¥³ �

u(~x, t)
ª� ���° «¤ª¢  ¡¤¥³ �©¤�©�´� ª�¤ª¤©�´� ° �¡¤«¡¢ ����´¢ § � �¶©¤ ¢���±¥�¸ ���  ª� �¬�©¤©�¤ £¤��¤¥� ¦¤ µ � ��¢ ���·�¤ª°¤¥¨ § ��¬�©¤©�¤ ¥�²´ «�±¥� ©¤ ����´¢ �·©�°¤¸ � ®ª��� ��®ª°�±¸ ���� ¢�¤©�¤  �® � �� ����¥¨©� ���ª��¤«¢­¤� ���� ��¥³ �©¤�©¤ ª�

n̂ · ∇u
µ ¹��´�®ª©�¤³ ²¥ ©¤��®¥�� � �� ����¥¨©���� § �¤�¢©�° ����´��· ©¤

u(~x, t)
� ���·�¤ª°¢ ����¥¨ «�ª��©�³ ¥��¥�· � ¤ �� ¡¤¸ �

u(~x, t) = Tm

(

1 − γK

HL

)

,
�Å µÅ Ã�

´ª���
Tm

¯ ¡��� ��¤¡¢�¤ ¡��©��©�¤ §
γ
¯ ©¤��®¥�� � �� ����¥¨©���� §

K
¯ °��·� ��©¤ ­��©¡¢ § ¤

HL¯ ¥��� «� ¡��© ��©�¤ µ
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é�ª�� ��¤©· æ£» �æ�:¢ ��©¯£�� �¡�ª »´´��´¤¡��© § ¥�·�� ¤´��´¤¥³ ¤ �´�¤©�¥��©¤ ª·­¢�³ ²� ��¯ ¡¤« �����¤ª��©· ����� � �¡¡�©¤ � â¤©ª�� ¤ � Ãß� Ã ��� ³ ¤°� �¤�ª�� ¢��� �¥��©·§ °���¢¡����·��ª�� � ¤ª�¤©�¤ ���°¡����¡·¥�©�´� � ���¡��� �¥�©�´� °����©�®¥�¤ µ ¹��� �¥��©�� � ���´¤ ©¤ ���·¯³ ®¥�¢ § ¶� ³ �©· � �ª��´¤³ ² ¡·�°� � �· «²¥�©�� ª·­¢�³ � § ¤ ´ª· ��¡°©²  �® � °¤¡�ª² § ���·°��³ ¤³ ²  �®ª� ©��³ µ ç �¤���¤¥³ ¤ °���¢¡����¤ ³ � ¡ ³ � �¥�� ��� ¡ �¤ µ Ê ¤ ª�¢ �¢� ¡�¬³�·� �¤����³  �¤¡¥� ���¤��©¤¥�¤³ ² �¢ ¡� � ��³  ¥¤ § ¤ ³ �ª·©°� � ��³  ¥¤ �¤³ ®¡� ����� ³ �©· � �¡¤�¢ µ � ���©·� � ��³  ¥¢ ��¯�©²¡��  �¤¡°� ¢� �� �¥�¤�· ³ ²ª�� ���� ¡¢ ��´©� °� °�· ¡¤���¤¥³ �� § � �¶� ¡� �·¸ ³ �ª�© �¢©°¡ ³ ¤°�¬�©��¶ ©� µ °�«� µ � ª¢¶�³ �ª��´ «�±¥� �ª �´©� °¤ § � �� ��� �·��¤©·� � ��³  ¥¢ ��¢ �¥�¤�· ��¯³ �ª·©¥�² ¥�² ¡°® � �ª��´¤³ ²¥² °�¤ ·¥�©·� �¢¥¨�� / ���©¤ µ � �¬�©·� ��¤�ª���ª����º ¡���� °¤¶ª·� °��°¢ ¥�¤ ��·� ���� ¢�¤  �� �©¤ � ³ �ª©·� � ¥�¡���¥¨ °���¢©°¬� µ 0ª· ©¤��¡°¤�´©� °� ¡�© µ � ³ �³ ©¤³���¶ �·�  ² ��ª�¡� �� �©¤³ ª¢³ �  �® �©©¤ ¥�² ¡°¤ § ���� ¡¤³ �  �® � ��¢ �¤¸ �� ��� ¡¤³ � � ¡·�  ¤�·� � ��³  ¥¢  ¡¤³ ²¥  �® ¥�®±¥�² ³ ²ª�¤ µ à� ���·°��³ �©�¢  �® ³ �ª©�³ ¥�² ¡°� §°���³ ©� ¢�¤�©�¤©�  ² ¤©¤��´�¥�©�� § ³ �ª©¤ � � ª�¢´��³ µ 0® ¡�±¸ ��¤�ª���ª����º ¡�¤ �©¤�����©�¤� �³ �ª·©¥��³ ¥�² ¡°� � ª¤©�³ ¥¨� ��� ¥�¤ ¢

t
§ � �¤ª¤©·� � ��³  ¥¢

x
 � �«©�¤ �¬�©¤©�� ª·­¢�³ � µ

∂

∂t
P (x, t) = ∇2P (x, t)

�Å µÅÅ�
����� �©¡¢�¥³ � ¡����²¥¤  �® � ¡·� ��ª��¢  ¡�¢°¡¢�¤ ©�� � ®ª��� �¥¤�� �¥�¤ ©� ¢�¤°��¤©¤� § ¤¡����·¸  �® � ®ª��� �� ��· ­�¤°¡¤� µ ã¥�·� �±¥�� ³ �´� ³ �´� ° �¡¤«¡ �¤��¶�¸ � ®ª��� �ª �¢°¡¢¤¥³ � � �°¤¶ª² ��¤���¤¥³ ² ¤�´��·¡�¢ ���· ¡·¥¨  ¤�·¥¨ �¤�¢©°¤¥¨ ��¥�²¡°��·¥¨ � ����´��·¥¨ � ®ª��� �® �� ��©�¤« µ � Ãß�è ä��¡� � �  �¥ �° �ß� �� �ª·�°��¤�� ¤�´��·¡� � ¥��¢ �·���� �©��¤©�¤�� «·�¢ �¢°¡¢¤¥³ � µ � �¥¨ ��� ³ � § ¥�² ¡°¤ � �� �®° �¤«¤ ³ ²ª�� § ª������ ´ª·

m
¥�² ¡�° ª�¡¤�«��¥��±©��³ ª� ¡�´� �¢©°¡¢ µ ä  �¡¤«¡· �¡��·�·�¤©·¥¨ �´¢� ª�¤ �¬¶©·¥¨ �¤�¡�±¥� �¤�¤� �¡�¢

m����ª ¡¤� �¤ �· ¢©�° Å µß µ
ÃÔ



ç· ¢©�° Å µß ��·©�°�  ·�¢�¤¥³ � �� �ª·�°��¤©�´� æ£» � ��ª¢°¥³ ²  �¢�¢ § ª�¤ �¬¶©·¥¨ �¤�¡�±¥��¤�¤� �¡�¢
m
µ ¤�

m = 2
� �

m = 20
� �

m = 400
µ ���¢ ¡�¤¥³ ¤ �¤ �å � �

æ�¤
m

ª²¶²¥�´� ª� ©�� °�º¥��©�±¥� �¡��·�¢³ �  �®  ¡¤¥³ �©¤�©� ���� �²�¤©�� �¬�©¤©�¤ ©¤´® ¡�±¸ ��¤�ª���ª����º ¡�¤ § � ®ª²¥� �¬�©¤©��� £¤��¤¥� ¦¤ � ���� ¡ ³ ²ª�¤ � °���¢©°¢ ´�¤¯ª��©¡¢
P

©¤ ����´¢ µ � �° � ��·� �©¡¢ ©¢� ��·¥�©�´� �·©�°¤ § ¶� ª�¤ ª¢¶·¥¨
m

 ¡�¢°¡¢�¤  ¡¤³ � �® �¤�ª���  ¡¤���©¤ � ��¤�¡¤ µ
! "; " <�x� %���!} � � |����!� � ��z� 
à��¤ �·©�°¤� � ¡����¡·¥�©·� � ��¤�¡·� � ©¤ ��© ����³ ¤©¤�����  ¡¤���©�±¥� § �¤�ª�� � ¤«� � �¤¯ª�� � � ª¤� ��³ ����¢¥³ � ­��©¡¢ � ������� �� ���� ¡¢ £¤��¥� ¦¤ µ � ¡�¡©² ���® �ª´�·�¤³ ² � ©��³©¤¡�� �¤ ¡ �³ ¤� � °¤ �·�¤���¤¥³ � � ��� �¥����¤©�¤ µ à��¤ ©��� ���°² ���±¥� ��� ¡·¥¨ ���·�¤ª°¬�©�� ª¤³ ²  �® �©� ³ �ª©¤° ��� ¤¸ ���±¥���� µ à��� ¡¤©���· ³ �ª·©�� ©¤ ��� �� ­�©�� �©���´�¥�©·� §��¬� ® ��� ¢ ���±¥����´� � ��� ¡¤� �¤³ ²¥ ©¤ � ¬*©��³ µ 1 ­�°¡ �·�¤���¤¥³ � ©¤³ �����³ � �ª�¥�©· ³ � ¡©¤ �· ¢©°¢ Å µ� µ � �ª�¥�©� ���®° �� ´¤«²�°�� �¤³ ² �  ���� �¡�¥��©�¢ ª¢¶� �©��³  �·¥¨  ² �¤¯ª¬� µ �� �¥��±©��³  ��³ ­¤��� ����¢¥³ � § ´ª· ���¤ ¡¤³ ²¥¤  ¡�¢°¡¢�¤ �· «¤ ³ � �¥�� ©��� ���°¤ § ©���· «� ª¢¶�´� ��¬¶©�¥��¤©�¤ ���� �¤�¬� ´¤«²��° µ à�ª �� «·��� �¢°¡¢¤¥³ � ¥�®±¸ � ©�¥¨  ¡¤«¤  �®�ª����©® � �®° �¤ § ©¤ ¡®�©�� � �¥¨¤©��� ��°¤�¤©· ©¤ �· ¢©°¢ Å µÔ  � ���ª��¤« �¥¨ ���¤¡·�¯©��  �·� �· ���� ¡ µ 0ª· � �¡�¥��© �¢ � ¤«�³ ´¤«²�°� �©¤³ ª¢³ �  �® �·¶ �·  ² �¤ª ��©��³  �¤ ¡��¤�¡�±¸ ´�¤ª��©¡¢ � ��¤ ��°¬« ©��³ � ¨ ¤�¢³ � ³ �³ ���� ¡ µ � «¤±©�� ¡� �³ ¤� � °� ©¤�·�¤�· �·�¤¯���¤¥³ ² µ »©¤���¤ ¡�´� �­�°¡¢ � �����¤ª�¤©·� � ©¤ ¡®�©·¥¨ ���ª��¤«¤¥¨ � �ª��¢ ³ � ¡ ³ �ª©·�� ´ «¬�©·¥¨ ¥��¬� ¡�³ ��¤¥·µç�� �¥����¤©�� § ��¤©� � ��¡��¤¡¢��� �¡��¯ ���¡¡�©´� § ¡� �³ ¤� � °� �ª��� ��ª��¤�©� �¤ � ��  ¡¤¯�¤©�� °��¤¥�¤ ¡·¥¨ ´¤«²��° µ Ê �� ¡¤���©· ­��©¡ ����¢¢³ � � � ¤«·¥¨ �¤�¢���º � �´¢�· ���·� �¯� �©¤³ ²¥� � �ª «¢¶©� �¤�¥� µ à��· � ��©�³ ª «¢´�±¥� ¡¤°��´� �¤�¥¤ § ©�� ¡¤���©�±¸ ³ �´� � �� ����¥¨©�� �¥�©·¥¨ ���� ¡¤³ � �·¸ �¤©��ª�·�¤�©¤ � � � �°¢ �¤¥�·©¤ �·�¤ ¡¤¸ °���³ ©· �¤��¥ µ à��¥�  � �ª¤¸©¤ �· ¢©°¢ Å µÃ÷ § ©¤ ���·° «¤ª��� �¤�¥¬� ���°�±¥� � ��� ¡�°²¡©�³ °�� ¬�¥� á���¯â¨¤�¤ µ �³ ¤� � °�

ç· ¢©�° Å µÃ÷ � �³ ¤� � °� ��� �¥����¤©�¤ � °�� ¬�¥� á���¯â¨¤�¤ µ
� �¶�  �® � ��¡¤��¤¸ ª�¤ °���³©·¥¨ �ª©¬¶· � � ¡�©  � � ¬� ���  ¡¤³ ² ´¤«²�°���  ¡�¢°¡¢�· ³ ¤° ©¤

Ãè



�· ¢©°¢ Å µ� µ
! "= " > �y % �� ?�x 
é�¡·�¤¥³ ² ª� ����¤¡�·�¤©�¤ ����¢¥³ � �´�� « § ³ � ¡ ¤ ·��¡�¡·¥�©� �¤¥¨��¤©�� ���¤ ¡¤³ ²¥·¥¨ �¤¯��¤¥� ¦��  °�  ¡�¢°¡¢� µ 0 �¤©�¥�©¤ � � ¡¤¸  ¡�¢°¡¢� æ£» ���· ��ª¢°¥³ �  �¢�¢ �¬�©��¶ ª¤³ � �·¯�¤*©� �´ «·µ à��· �¤�ª�� � ¤«·� ©¤��®¥�¢ � �� ����¥¨©���·� �¤�¥� ���°�±¥� ���·³�¢³ ² ° �¡¤«¡�¤�ª�� �² °�¥¨ § ��¤� �� �´ «��·¥¨ °¤©¤«¬� µ â¢´��¢³ � ¡� ���·���¶�©� � �ª����¤©�� ����¢¢³ ²¥·¥¨�� �¤�¬� �����  °�º¥��©² ��¥�� ® �´�� « �� ©²¥·¥¨ ¡·�°� ©¤ ³ �ª©·�  ���� °�º¥¢ µ ø¤°�� ¢��� �¯¥��©�� � ������ ©¤ ¤©¤��¡·¥�©� � �ª�³ ±¥�� ª� ���� ¡¢ £¤��¤¥� ¦¤ � � � �¢°��¤©�� � ¡·� ��ª��¢¡¤°�¥¨ �³ ¤� � ° ³ ¤° �  � ��©�¤©¤ �·�¤���¤¥³ ¤ µà ����  �� � �ª��� �´ «��� ���� ¡¢ £¤��¤¥� ¦¤ � �³ ¤� �«·  �® � Ãß�è � ��¤¥¤¥¨ ç�  ��´� �Ã÷� �é �¤°�©¤ �ÃÃ� ³ ¤°� � �ª·�°¤¥³ ¤ � �ª��¢ æ£» µ �²ª��� ��� ¡¤³ ²¥�³  ¡�¢°¡¢�· �· «¤ ������� ¤���� ¡¤ § ª� °¡¬��³ ���·°��³ ¤«·  �® °���³ ©� ¥�² ¡°� § ¤�� ¡· �°� �¡�ª·§ ´ª· �� �¤ª¤«·  ² �¤ª¤ � �ª ��² ¤ ©�� � ³ �ª©·� � ¥�¡���¥¨ µ à��  ¡¤³ ²¥� � ¡�©  � � ¬�  ¡�¢°¡¢�· � �¤«· ° �¡¤«¡ �¬�©�¯��´ «·¥¨ �´�� « � �¬¶©·¥¨ ª «¢´�±¥�¤¥¨ µ �ª�² ¡�³ �� �¤©· �· «� ���ª�����©�� ���¥� ¬� �·�¤���¤¥³ � §¥�·�� ¨¤� ��¤©�¤ �©��³  �·¥¨ �´��« ����� �©¤³ ª¢³ ²¥�  �® � �¥¨ � ����¶¢ � �®° �� �´ «· ���¤�¡�³ ©¤� �¥¨ «¤©�¤© �¢ ����� � �®° �² �´ «® ¥�² ¡�° § °¡¬�� ©�� � �´ «· ª�¡���¸ ª� �©��³  ��³ � § �ª �­�°¡¢�¡��¯ ���¡¡�©´� ¥�·�� ���´¤«®��¤©�¤  �®  ¡�¢°¡¢�· ©¤ � �°� µ �·©�°� ª�±� �¤ª¥��º ©¢� ��·¥�©·¥¨� æ£» �¤��¶² ³ �ª©¤° �ª ��¤���¤¥³ � ���¥� ¢ �  ² ��²ª��©� ����� �¢°¡¢¤¥³ � µ � ¡·� ��ª��¢�¬�©��¶ � �¶©¤ �· «�  ¡� ��¤¸ � �¡�ª® ��ª¢°¥³ �  �¢�¢ ³ ¤° � °�¤ ·¥�©·� æ£» µ � ��¤¥¤¥¨�ÃÅ� § �ÃÄ� � �Ãå � ����¤¶¤©� �¬�©��¶ �¢°¡¢¢³ ²¥· æ£» § ¤�� �´ «· ©�� �� «· ³¢¶ ��� ¡� § ��¥� � �¯´ «·  �® �·´�©¤¸ µ ä���³©� ¥�² ¡°� ¤´��´¤¡¢ � �´ «· ���· «²¥�¤¸  �® ¡·�°� ª� � ¡¤¡©��³ ¥�² ¡°� ©¤�´�� µ à� ���· «²¥��©�¢  �® °���³©�³ ¥�² ¡°� § ¡� �©¤  ¡¤�¤«¤  �® ©��·� ¥�¢�°��� �´ «·µ ö¤¡�  �ÃÔ����� �¥�²« �¤ª¤©�¤ ©¤ª ª�¡��� �©� ¡·¥�©² § � ���¤� ��©²  �¢�¢ ��� ³ ² � �ª��¢ �´ «���´� � �¡�ª²� ��¤ ±��ª©��´� µ â��� � £¢´� � �Ãè� ��ª� ��� ª� ¡�´�  ¤� �´� �¤´¤ª©��©�¤ � �¡�ª² �ª������¤º°�©­����©·¥¨ § ©¤¡�� �¤ ¡ ä�  ��� � Æ¤� ��· �Ãê� � 1@��¡ � �Ã�� �¡��·� ¤�� ³ ¢¶ ¡² � �¡�ª² �¤�¡�±¥��·� �¤�¬� ­�¤°¡¤�©·¥¨ � ��  ¡¤³ ²¥·¥¨ �´ «���  ¡�¢°¡¢� £¤��¤¥� ¦��  °�¥¨ µ æ·©¤� �°® �� ©²¥·¥¨�¤��¤¥� ¦��  °� ��� ¡·¥¨ �´�� « �¡��·� ¤�� � ���·�¤ª°¢ �¤ª�¤�© �� �� ©²¥·¥¨ �´�� « æ����ª¤ � á¤°���Ãß� § ¤ ª�¤ ���·�¤ª°¢ �¬�©���´ «·¥¨ ä�¢´ �Å÷� µ â���¥·�¢³ ��· ¡��¤� � �ª�� ���� ¡¢  ¡� ��¤©·� ª�¬¥¨ � ¡¤¡©�¥¨ ��¤¥¤¥¨ µç���¤¶�· ���� �²�¤©�� �¬�©¤©�¤ £¤��¤¥� ¦¤ ��°¬« ¥�¢�°¤ �´ «·§ ¥�·�� ¡¤� ´ª��� �ª�·�¤¸� ¤  �® ���� ¡ µ à��·³� �³�· ��©¤¥��©�¤ ³ ¤° ©¤ �· ¢©°¢ Å µÃÃµ A¤¡��  ��¤�ª��¸ § ¶� ���� �²�¤©��

ç· ¢©�° Å µÃÃ � ã�©¤¥��©�� �� ��©©·¥¨ ��°¬« �´ «·
��°¬« ¥�¢�°¤ �´ «· ���· �¤�¢©°¢ ����´��·�

Φ = 0
©¤ �´�� � ¤ �� ¡¤¸

Φ(r, θ) = C
√

r cos(θ/2),
�Å µÅÄ�

Ãê



´ª��� ö ��©¤¥�¤ � ��©²  ¡¤«² µ 0 �¤ª��©¡
Φ
��°¬« ¥�¢�°¤ �´ «· � ¤ �� ¡¤¸ �

∇Φ(r, θ) =
C

2
√

r
(cos(θ/2) êr + sin(θ/2) êθ) .

�Å µÅå �
� �ª¤¸ �·�¤*©�� § ¶� ©¤  ¤�·� ¥�¢�°¢ �´ «· ´�¤ª��©¡ � ¤ ª����� �°��±��©· °���¢©�° § ¤�� ³ �´��¤�¡�±¸ ³ � ¡ ©�� °�º¥��©¤ µ Ê �� � �¶��· �¤¡�� � ��ª��¢ �´ «��·� ���·³� ��¤¸ ��®ª°�±¥� ����¯ ¡¢ �´ «· ���� ��¥³ �©¤�©�³ ª� �¤�¡�±¥� ´�¤ª��©¡¢ ©¤ ¥�¢�°¢ µ ãª��� �¤ª¤ �¤ ¡� ©�� °�º¥��©�� � ¤«¤ ����°�±¸ �´�� « § ¥�  °¢¡°¢³ � � �³ ¤� ��©���  �® � ������±¥� µ à������ ³ � ¡ ¤©¤��´�¥�©· ª� ����¤¯¶¤©�´� ���· ¤©¤�����  ¡¤���©�±¥� µ ã�¬� ���±�· ¡¤� �³ ¤� � °¤ �´�¤©�¥�¤³ ²¥� � ��  ¡¤�¤©�� ª¢¶·¥¨´�¤ª��©¡¬� ©� µ ©¤��®¥�� � �� ����¥¨©���� µ � ��ª��¢ �´ «��·� �¬�©��¶ �¢ ��· �����¤ª��¸ ¡¤¯°�� �´�¤©�¥��©�� �ª��«¢³ ²¥  �® ª� �©¡¢�¥³ � � � �ª��¢ æ£» µ �´ «¤ ���¤ ¡¤ ª��®°� ���·°��³ ¤©�¢  �®ª� ©��³ ¥�² ¡�° µ à�¡�¤°¡¢³�· �¤¡�� ¥�¢� �° �´ «· ³ ¤°� °¢�® � ���� ��©�¢

a
§ � ¤«·� � ���¬�¯©¤©�¢ ª� ���� �¤�¬� �´ «· � ©���¤��¶©·� �ª ¥�¤ ¢ � ³ �³ ° �¡¤«¡¢ µ ö¤«°�� �¡·  ¡�¢� ��º ¥�² ¡�°���·°��³ ¤³ ²¥·¥¨  �® ª� ¡¤°��´� ¥�¢�°¤ ¡� ¥¤«°¤ �

n̂ · ∇Φ
�� ��� ����¥¨©� � ¤«�³  ­��·µ �¤�¡�±¸¥¤«°� ³ � ¡  °�º¥��©¤ � ���� ��¥³ �©¤�©¤ ª�  ¡¤«�³

C
� ���� �²�¤©�¢ �Å µÅÄ� µ � ��ª�²¥ �¤¡�� § ¶���°¬« ¥�¢�°¤ �´ «· ��©¤³ ª¢³ ²¥�´�  �® � �¢©°¥��

~rk
� � �ª��´ «�±¥�

~r
�ª ©��´� § � ¤�·

|∇Φ(~r + ~rk)| ∝
1√
r
.

�Å µÅÔ�
�¤ �Ãß� ª��©�¢³ ��· ��®ª°�±¸ ���� ¡¢ �´ «·

E
³ ¤°� �

E = lim
r→0

[√
r |∇Φ(~r + ~rk)|

] �Å µÅè�
���� ¡ �´ «· � ��®ª°�±¥�² ª¤©² ����� �Å µÅè� � ®ª����· ©¤�·�¤¸ ���� ¡�� �¤��¤¥� ¦��  °�� µ é�¯ª��� �´ «��� � �¶��· ¡��¤� � �ª�����¸ ©¤ ¡��· ´�¢�·

Ãµ ���� ¡� �´ «·� ¯ �� ©²¥� � ³ �ª©·� § �¤ª¤©·� °���¢©°¢ � �¤��¤¥� ¦��  °² ��®ª°�±¥�² µ
Å µ �´�®¡°�� �´ «·� ¯ �� ©²¥� � °���¢©°¢ ∇Φ

©¤ ¥�¢�°¢ § ¤�� ��  ¡¤«² ��®ª°�±¥�² µ
Ä µ �� �«©· � �ª��� ¯ �´ «· �� ©²¥� � °���¢©°¢ ∇Φ

©¤ ¥�¢�°¢ � �¤��¤¥� ¦��  °² ��®ª°�±¥�² µ
��� ³ ¤ ��� ¡·¥¨ �´�� « �¤ª¤©¤ �· «¤ � ��¤¥¤¥¨ �Ãß� � �Å÷� µ é �ª�� ´�®¡°�¥¨ �´�� « � ´��� �¡���� ¬ «���� ¡���©� ��� ¤©· �� ¡¤« � �Åå � µ � ���ª��¤�� å �¤ª¤¸ � ®ª����· ��ª�� ��� ¡·¥¨ �´�� « §©¤¡�� �¤ ¡ �ª ���ª��¤«¢ Ô ª� °�º¥¤ ��¤¥· ��� ·�¤©� � ®ª² � �ª��� ´�®¡°�¥¨ �´�� « � � �«©· � ´��¯� �¡��� °¤©¤«¢ � �¬¶©·� � �¤�¢©°¤� � ����´��·� � � �·°���· ¡¤©��� ©���´� § �·����¤ª��©�´������ ©¤  �¬�©¤©�¤ £���©��¤ µ
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� ��¤¥· ����¤¡�¢³ ® �· «²¥�©�� � �ª��� ª�¢�·� �¤���� § ©¤¡¢�¤�©� �¤¡�� �·ª¤³ �  �® ��� ·�¤©���¢©°¡¬� ����� �� ��©©² �� � ���©²
z
�¤� �¤ ¡ ����� �  � ¬«��®ª©� °¤�¡��³ ¤º °��

x, y ∈ R
µ

z = x + iy
�Ä µÃ�

à��·� ��©��· ��ª ¡¤���� ­¤°¡· � ¡����� ­¢©°¥³ � ¤©¤��¡·¥�©·¥¨ § ´��� �¡��� �¬¶©�¥�°���³ � �¬�¯©¤º �¬¶©�¥�°��·¥¨ ¥�² ¡°��·¥¨ ��¡����©� � ª¤� ��³ ¥�®±¥� ��¤¥·§ �����¤³ ²¥  �® � �©¤¥�©�³� ����� ©¤ � ��·¥³ � �ÅÅ� µ
J�ðú KØ×íÚñÚ ä¤¶ª�³ ��¥����

t
©¤��¶²¥�³ ª� ����ª��¤«¢ ª��°©�®¡�´�

I
���·� ���²ª°¢³�·� ��©² ��¥�� ® �� � ���©²

z(t) = x(t) + iy(t)
µ 0 �¤©�¥® � ¥�²´ «�±¸ ­¢©°¥³ �

z(t)
ª��©�¢³ �  �® ¤©¤��¯´�¥�©�� ª� ­¢©°¥³ � ���¥�·� � ¡·¥¨ § ³ �±�� ª�¤ °¤¶ª�´� ¥�²´¢ ��¥�� {tn}

ª¤©�´� ����ª��¤«¢
I
§ ´ª���

tn 6= t0
�
tn → t0

�¤�·
z(tn) → z0

¡� � ¬� ��· ¶� ­¢©°¥³ ¤
z(t)

�¤ � �¢©°¥��
t0

´�¤©�¥®
z0
µÆ¢©°¥³ ¤

z(t)
³ � ¡ ¥�²´ «¤ � �¢©°¥��

t0
³ �±��

z0 = z(t0)
µ é ¬� ��·§ ¶� ­¢©°¥³ ¤ ³ � ¡ ¥�²´ «¤ § ³ �±�� ³ � ¡¥�²´ «¤ � °¤¶ª·� �¢©°¥��

I
µ ���¬� �¢©°¡¬� �°��±��©·¥¨ �¬�©¤©���

z = z(t)
§ ´ª���

z(t)
³ � ¡¥�²´ «² ­¢©°¥³ ² �� � ���©² § �¬¶©² �ª  ¡¤«�³ ©¤�·�¤�· ��© �² �¢� °��·�² µà�¥¨�ª©² ­¢©°¥³ �

z(t)
� �¢©°¥��

t0
�°��±�¤�· ������ �

z′(t0) = lim
t→t0

z(t) − z(t0)

t − t0
= lim

t→t0

[

x(t) − x(t0)

t − t0
+ i

y(t) − y(t0)

t − t0

]

= x′(t0) + iy′(t0)
�Ä µÅ�

ä��·�²
z(t)

�°��±��©² ©¤ ����ª��¤�� ª��°©�®¡·�
I
©¤�·�¤�· «¢°��� ���ª¤©¤ ³ �±�� © �� � ¤�¢©°¡¬� � ����°��¡©·¥¨ ¡�© µ ³ �¶���

z(t1) = z(t2)
¡�

t1 = t2
§ ��¤� ©¤ ¥¤«·� ����ª��¤��

I
� ¡© ��³ �¥�²´ «¤ � �¥¨�ª©¤

z′(t)
§ �  �®ª��� �¬¶©¤ �ª ���¤ µ

L�ñðÜM Ý ÖÝÐÓØÛØñÝ Ê��¥¨
E

� ®ª��� ª����©·� ������� � «¤ °�� § ��¶��� °¤¶ª��¢ �¢©°¡�� �
z ∈ E

���·� ���²ª°¢³ ��· � ��©² ��¥�� ® �� � ���©²
w = f(z)

�Ä µÄ�
¡� � ¬� ��·§ ¶� � �������

E
�� ¡¤«¤ �°��±��©¤ N OPQRS T U VWX YZYPT

f(z)
�� ��©©�³ �� � ���©�³

z
µ ���¬�

E′ � «�¶�©· �� �  �· ¡°�¥¨ �¤�¡�±¥�
w

©¤�·�¤�· U [\Y]V^ _T]`YaR\ ­¢©°¥³ �
f(z)

���©¤¥�¤�·
f(E)

µ é ¬� ��·§ ¶� ­¢©°¥³ ¤
f(z)

�ª������¢³ � �����° �¡¤«¥¤� ���¬�
E
�

E′ = f(E)
µÆ¢©°¥³ ® ­ �� � ©¤�·�¤�· S VbPYQ]Y`Pc ³ �±�� ª�¤

z1 6= z2
�¤�·

f(z1) 6= f(z2)
µ

Ãß
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Ê��¥¨

f(z)
� ®ª��� ­¢©°¥³ ² �°��±��©² � � ��©·� �¡�¥��©�¢ �¢©°¡¢

z0
µ é ¬� ��·§ ¶� � ¤ �©¤XYRfYbPc U VWX YZYPc � �¢©°¥��

z0
³ �±�� � ¡©��³ �  °�º¥��©¤ ´�¤©�¥¤

lim
∆z→0

f(z0 + ∆z) − f(z0)

∆z
= f ′(z0)

�Ä µå �
´ª��� ���·�� ¡

∆z
ª²¶· ª� ���¤ ����� ª����©� �¤�¡�±¥� �� � ���©�

∆z = ∆x + i∆y
§ �¬¶©� �ª���¤ µ Æ¢©°¥³ ¤

f(z)
³ � ¡ �¬¶©�¥�°��¤�©¤ � �� �¤��� § ´ª· � ¤ ��¥¨�ª©²

f ′(z)
� °¤¶ª·� �¢©°¥���� �¤�¢ µ Æ¢©°¥³ ® ¡¤°² ©¤�·�¤�· N OPQRS c TPTZ\`gRUPc �¢� N OPQRS c fYZY^ Y]h RUPc µ ��¤ª¤³�·¡��¤� § ³ ¤° �¤¥¨��¢³ �  �® ¥�®±¸ ���¥�·� � ¡¤ � ¢��³ �©¤ ­¢©°¥³ �

f(z) = u(x, y) + iv(x, y)
�Ä µÔ�

� �¢©°¥��
z = x+ iy

§ � °¡¬�·� � ¡©��³ � � �¥¨�ª©¤
f ′(z)

µ Ê ��¥¨ ���·�� ¡
∆z = ∆x+ i∆y

ª²¶·ª� ���¤ ����� �¤�¡�±¥� ���¥�·� � ¡� µ � ¬�¥�¤ 
∆y = 0

§ ¤ � �®¥
f(z + ∆z) − f(z)

∆z
=

u(x + ∆x, y) − u(x, y)

∆x
+ i

v(x + ∆x, y) − v(x, y)

∆x

�Ä µè�
0ª·

∆z = ∆x → 0
§ �¬�¥�¤  ��©¤¥�¤³ ²¥ �����

ux
�
vx

��¥¨�ª©� ¥�² ¡°��� ­¢©°¥³ �
u
�
v
��

x�¡��·�¢³ ��·
f ′(z) = ux + ivx.

�Ä µê�
Ê��¥¨ ¡��¤� ���·�� ¡

∆z
ª²¶· ª� ���¤ ����� �¤�¡�±¥� ¢��³ �©� µ � ¬�¥�¤ 

∆x = 0
§ ¤ � �®¥

f(z + ∆z) − f(z)

∆z
=

u(x, y + ∆y) − u(x, y)

i∆y
+ i

v(x, y + ∆y) − v(x, y)

i∆y
,

�Ä µ��
 °²ª § ´ª·

∆z = i∆y → 0
�¡��·�¢³ ��·

f ′(z) = (uy + ivy)/i = vy − iuy.
�Ä µß�

à�¤��  ¡��©· �¬�©�±¥� �Ä µê� � �Ä µß� � �¤«�¶�©�¤  ² �¬�©� § ¤ � �®¥
∂u

∂x
=

∂v

∂y
,

∂u

∂y
= −∂v

∂x

�Ä µÃ÷�
���²�°� �Ä µÃ÷� ©¤�·�¤�· ]i_PTP\T^ \ jTORfgkl \V^ TPPT µ �¤¢�¤¶�·§ ¶� ´ª·

∆z
� ®ª��� ª²¯¶·¸ ª� ���¤ �©©² § ©�¶ ª� �� ��¤ª¤©� § ª��´² �¡��·� ¤�· � �·©�°¢ °����©¤¥³ ® ��© ���² �¬�©¤ºö¤¢¥¨·¯ç ��� ¤©©¤ § ����� ¥� �¥¨  � �«©��©�� �¤� ��©�¤ ¡²  ¤� ² �¤�¡�±¸ ´�¤©�¥· �Ä µå � ª�¤ ª����¯©�³ ª��´� µ

3 "! " vyx��|�x�z� {�z m�| �z d �x � |y� z� < � ��zz�
Ê��¥¨ ­¢©°¥³ ¤

w = f(z)
�Ä µÃÃ�

� ®ª��� �¬¶©�¥�°��¤�©¤ �¤©¤��¡·¥�©¤� � ���©·� �¡�¥��©�¢ �¢©°¡¢
z0

� © ��¥¨ ����° �¡¤«¥¤ ³ �©¤ �¡�¥��©�� �¢©°¡¢
w0 = f(z0)

µ �¤«¬¶�· ��©¤ª¡� § ¶�
f ′(z0) 6= 0

µ A¢° ���ª¤©¤
C

� �¬�©¤©�¢
z = z(t)

§ ´ª���
t0 ≤ t ≤ t1

§ �·¥¨�ª�²¥· � �¢©°¡¢
z0 = z(t0)

§ ����¥¨�ª�� � � �¤ª��¤«¤©�¢
Å÷



����° �¡¤«¥�©��� �Ä µÃÃ� � °��·�²
Γ
� �¬�©¤©�¢

w(t) = f(z(t))
§ �·¥¨�ª�²¥² � �¢©°¡¢

w0
µâ¡·¥�©¤ ª�

C
� �¢©°¥��

z0
¡����· � � �² n °²¡

φ = arg z′(t)
µ � ¡�¶ ¤� �±¥�

w(t) − w(t0)

t − t0
=

f(z(t)) − f(z(t0))

z(t) − z(t0)

z(t) − z(t0)

t − t0

�Ä µÃÅ�
����¥¨�ª�²¥ �

t → t0
�¡��·�¢³ ��·

w′(t0) = f ′(z0)z
′(t0)

�Ä µÃÄ�
�¤¡��  ¡·¥�©¤ ª� °��·��³

Γ
� �¢©°¥��

w0
¡����· � � �² n °²¡

Φ = arg w′(t0) = arg f ′(z0)z
′(t0) = arg f ′(z0) + arg z′(t0) = arg f ′(z0) + φ

�Ä µÃå �
Ê¤¥¨·��©�� ª� � � n °¤¶ª�´� «¢°¢ ���ª¤©¤ �·¥¨�ª�²¥�´� �

z0
�� ��©�¤  �® ���· �ª������¤©�¢�Ä µÃÃ� �  ¡¤«· °²¡ �¬�©· ¤�´¢� �©¡�� � � �¥¨�ª©�³

f ′(z0)
µ

Ê ��¥¨ ­¢©°¥³ ¤
w = f(z)

� ®ª��� ¥�²´ «¤ � � ��©·� �� �¤���
D

� © ��¥¨ ����° �¡¤«¥¤ ¡�©�� �¤� �
D′ µ é ¬� ��·§ ¶� �ª������¤©�� ³ � ¡ � �¢©°¥��

z0 ∈ D
QYPN Y]V^PV§ ³ �¶��� °¤¶ª·�ª�¬� «¢°�� ���ª¤©¤

C
�

C ′ �·¥¨�ª�²¥·� � �¢©°¡¢
z0

�ª��� �¤ª¤³ ² � �� �¤���
D′ ª� ��°��·��

Γ
�
Γ′ �¤³ ²¥� � �¢©°¥��

w0 = f(z0)
 ¡·¥�©� � ³ �¶��� �¤¥¨�ª��

6 (Γ, Γ′) = 6 (C, C ′)
�Ä µÃÔ�

´ª��� 6 (C, C ′)
³ � ¡ °²¡�� � � ����¥¨�«°¢ �

z0
§°¡¬��´� �����  �·� �¤� ��©��� ³ � ¡  ¡·¥�©¤ ª�

C�
z0
§ ª�¢´��  ¡·¥�©¤ ª�

C ′ � z0
µ

�¤«¬¶�· ¡��¤� ¶�
f(z)

³ � ¡ ­¢©°¥³ ² ¤©¤��¡·¥�©² � �� �¤���
D

� ¶�
f ′(z0) 6= 0

µ Ê ��¥¨ °��·��
C

�
C ′ ¡����² � � �² n � �¢©°¥��

z0
°²¡·

φ
�
φ′ § ¤ °��·�� Γ

�
Γ′ � �¢©°¥��

w0
°²¡·

Φ
�
Φ′ µ ��¬�©�±¥� �Ä µÃå � �¤�·

Φ = arg f ′(z0) + φ, Φ′ = arg f ′(z0) + φ′.
�Ä µÃè�

ãª�³�¢³ ²¥ �¬�©�±¥� ª� ¡¤³ ��·
Φ − Φ′ = φ − φ′ ¥� ³ � ¡ ª�° «¤ª©�� �¬�©�±¥�² �Ä µÃÔ� µ �¤¡�� _QTobg^ X OPQR\V

z0 p _ Q`i]g^
f ′(z0) 6= 0

N OPQRS T TPTZ\`gRUPTp f(z)
S VW` Yb_UY]Y_TP\V^ QYPN Yk]V^Pg^ µ ç¬�©�±¸ ©�� �¤¥¨�ª��«¤�·§ ´ª·�·

f ′(z0)
©�� � �¤«� �¤�¡�±¥� © ���¤��¶©�³ �ª ª��´� � �³ ¤°��³ ª²¶·�· �

∆z
ª� ���¤ µ �·©�°¤  ¡²ª ¶�  � �«©��©�� �¬�©¤º ö¤¢¥¨·¯ç ��� ¤©©¤ �

f ′(z0) 6= 0�¤� ��©�¤ °�©­����©�±¸ �ª������¤©�¤ µ
��¶��� ­¢©°¥³ ¤ ¤©¤��¡·¥�©¤

f(z)
����° �¡¤«¥¤

D
©¤

D′ = f(D)
��¤³ ��©�� ³ �ª©��©¤¥�©��¥� � �¥�²´¤ �¤  ��²

f ′(z) 6= 0
§ � � � �¡�¥��©�¢ �¢©°¡¢ ´ª���

f ′(z) = 0
­¢©°¥³ ¤ ©�� ³ � ¡

Å Ã



³ �ª©�°��¡©¤� § � ¬� ��·§ ¶� ³ � ¡ Yb_UY]Y_TP\V^ QYPN Y]V^Pg^
D

©¤
D′ µ ��¶��� �� �¤� D

�¤� ���¤�¢©°¡ ∞ ¡� �ª������¤©��
f(z)

��¶� ©�� �·¸ ¤©¤��¡·¥�©� � ¡·� �¢©°¥�� µ ãª������¤©���ª���¡©� ª� °�©­����©�´� � ¡©��³ � � �¬�©��¶ ³ � ¡ °�©­����©� µ � «�¶�© �� ª�¬¥¨ �ª������¤º°�©­����©·¥¨ ³ � ¡ ¡¤°¶� °�©­����©� µà�ª ¡¤���·� �·¡¤©��� ³ � ¡ � °��ª· ª�¤ �� �¤�· ³ �ª©� � ¬³ ©�
D1

�
D2

 ² ����° �¡¤«¥¤�©�°�©­����©�� ³ �ª�© � ª�¢´�. ãª��� ��ª� ©¤ ¡� �·¡¤©�� ª¤³ � ¡� ���ª��©�� ç ��� ¤©©¤ § °¡¬�� ���·¯¡�¥�·�· ¡¢¡¤³ � �� ª���ª¢ µ æ���ª· ä�� � � ö¤�¤¡¨��ª��· ¦�´� �©¤��*¸ � �¶©¤ � ���·¥³ � �ÅÅ� µqî úÝ×íÖÝñúÝ þ úÝóÚññÚ rÓØíÐÑÚîØîÝ s µ t Tobg S VbPYWX iS Pg Y[WUT] X uTWQ\
D p Q `i]Vv Y []U VvUT_ \V]T _ \wRVS P\o S VbVP X OPQ`p bTS V W\w X ]U VQWU `TuR\x QYPN Y]V^P\V _ QYuY |w| < 1

`TQp T[gbY_YZP\V Y[]TPg X OPQ`
z0 ∈ D

X ]U VWU Vbu _ a]YbVQ QYuTy��¶��� � ¤�· ª�¤ �� �¤�·
D1

�
D2

 � �«©�¤³ ²¥� �¤«�¶�©�¤ � ��·¶ ��´� ¡� ���ª��©�¤ § ¡� � ���·¶� � ¡©��³ ² ­¢©°¥³ �
f1

�
f2

����° �¡¤«¥¤³ ²¥� ¡� �� �¤�· � °�«� ³ �ª©� ¡°��� µ � ¬�¥�¤ 
f−1
2 ◦ f1³ � ¡ �ª������¤©��� °�©­����©·� � ����° �¡¤«¥¤

D1
�

D2
µ à��� ¡¤³ � �·¡¤©�� � ³ �ª©��©¤¥�¯©�±¸ ¡¤°��´� �ª������¤©�¤ µ �¤«¬¶�· ¶� ª� �� ­¢©°¥³ �

f
�
f̃
�ª������¢³ ²

D1
�

D2
µ � ¬�¥�¤ 

f−1 ◦ f̃
³ � ¡ ¤¢¡�� ����� �� °�©­����©·� �� �¤�¢

D1
§ ©¤¡�� �¤ ¡

f ◦ f̃−1 ³ � ¡ ¤¢¡�� ����� ��°�©­����©·� �� �¤�¢
D2

µ zb_UY]Y_TP\V QYPN Y]V^PV b_iRf Y[WUT]i_ _gUPTRUYP V S VW` U T`V^S VbPYUPTRUP\Vp U bYQuTbPYaR\c bY TO`Y^ Y]h U^O QYPN Y]V^PVv Y S VbPVv Y U P\Rf y
3 "3 " {�z{!}  )�|��z�!�z d � m�z{!}  �z� %���!�z 
Æ¢©°¥³ ® ���¥�·� � ¡²

u(x, y)
ª�¬¥¨ �� ��©©·¥¨ ���¥�·� � ¡·¥¨

x, y
©¤�·�¤�· N OPQRS c fT]^ YkP\RUPc § ´ª·  � �«©�¤ �¬�©¤©�� �¬¶©�¥�°��� £¤��¤¥� ¦¤

∆u =
∂2u

∂x2
+

∂2u

∂y2
= 0.

�Ä µÃê�
ä¤¶ª¤ ­¢©°¥³ ¤  ¡¤«¤ ³ � ¡ ¨¤�� �©�¥�©¤ µ ç¬�©¤©�� £¤��¤¥� ¦¤ ³ � ¡ ��© ���� § �¤¡�� °¤¶ª¤ °����¯©¤¥³ ¤ ��© ���¤ ­¢©°¥³ � ¨¤�� �©�¥�©·¥¨ ³ � ¡ ­¢©°¥³ ² ¨¤�� �©�¥�©² µÙÝóÚÑ | jU wax ]U VRUg_ \W`T

u(x, y)
QTobVS N OPQRS \ TPTZ\`gRUP VS

f(z) = u+iv
_ X V_Pg^ Y[WUT]U V

D
S VW` N OPQRS c fT]^ YP\RUPc} Øîÿí | � �¬�©¤º ö¤¢¥¨·¯ç ��� ¤©©¤ �Ä µÃ÷� �·©�°¤ �

∆u =
∂2u

∂x2
+

∂2u

∂y2
=

∂

∂x

(

∂v

∂y

)

+
∂

∂y

(

−∂v

∂x

)

= 0.
�Ä µÃ��

ö�®±¸ ¢��³ �©¤ °¤¶ª�³ ­¢©°¥³ � ¤©¤��¡·¥�©�³ ³ � ¡ �¬�©��¶ ­¢©°¥³ ² ¨¤�� �©�¥�©² § ´ª·¶  ¡¤³ �  �®¥�®±¥�² ���¥�·� � ¡² � � � ��©�¶�©�¢ ­¢©°¥³ � ����� ³ �ª©� ¡°® ¢��³ �©²
i
µ

¹ª���ª©��· ¡��¤� � �ª ¡¤���· ��� ¤¡ § � ®ª²¥· °�¢¥���·� ���� �©¡�� ª¤� ��³ ¥�®±¥� ��¤¥·µÙÝóÚÑ ~ \VRf
F (u, v)

[wbU\V N OPQRS c fT]^ YP\RUPc PT Y[WUT]U V
D′ WX VuP\TS cRc _T]OPVQ []U Vkv Y_g F (u, v) = g(u, v)p b ZT (u, v) ∈ ∂D′ y ~ \VRf N OPQRS T f(z) = u + iv p v bU \V z = x + iy p

u = u(x, y)p v = v(x, y)
[wbU\V Yb_UY]Y_TP\V^ QYPN Y]V^Pg^ U Y[WUT]O

D
PT

D′ y � Tuio^gXYPTb`Y o V
f(z)

S VW ` S VW ` R\cvuT _]TU U XYRfYbPg^ \ RU cW`QY_g^ \ b_iRf X \V]_WUgRf ]U wbi_ y�i_RUTW N OPQRS T
Φ(x, y) = F [u(x, y), v(x, y)]

�Ä µÃß�
� �� � ���� ������� � ������� �

D
� �� ����� ��� �� �� ��� �� ���

Φ(x, y) = g[u(x, y), v(x, y)] ���
(x, y) ∈ ∂D} Øîÿí µ â� �«©�¤©�� �¤�¢©°¢ ����´���´� �·©�°¤ � ��� �±��ª© �� � � �ª ¡¤� ��©�¤ �¤�¢©°¢ ©¤

Fª� �Ä µÃß� µ � �¥��±©��³  ��´� ��� ¤¡¢ ��¤� �¬�©¤º ö¤¢¥¨·¯ç ��� ¤©©¤ �Ä µÃ÷� ����·§ ¶�
ÅÅ



∆u = 0

∆v = 0

uxvx + uyvy = 0.
�Ä µÅ÷�

ç¬¶©�¥�°¢³ ²¥ �Ä µÃß� ��
x
�
y
�¡��·�¢³ ��·

Φx = Fuux + Fvvx, Φy = Fuuy + Fvvy.
�Ä µÅ Ã�

ç¬¶©�¥�°¢³ ²¥ ª�¢´� �¤�
Φxx = Fuuu2

x + 2Fuvvxux + Fvvv
2
x + Fuuxx + Fvvxx

�Ä µÅÅ�
Φyy = Fuuu2

y + 2Fuvvyuy + Fvvv
2
y + Fuuyy + Fvvyy.

æ�ª¤³�·  ¡��©¤� � § ¢��´�®ª©�¤³ ²¥ �¬�©�±¥� �Ä µÅ÷�
Φxx + Φyy = Fuuu2

x + Fuuu2
y + Fvvv

2
x + Fvvv

2
y = (Fuu + Fvv)(u

2
x + v2

y).
�Ä µÅÄ�

à�¤�¤  ¡��©¤ ³ � ¡ �¬�©¤ ���¢ § ´ª·¶ ­¢©°¥³ ¤
F (u, v)

³ � ¡ ¨¤�� �©�¥�©¤ � �� �¤���
D′ § �¤¡��­¢©°¥³ ¤ �Ä µÃß� ³ � ¡ ¨¤�� �©�¥�©¤ � �� �¤���

D
§ ¥ µ� µª µ� µà��·¶ �· ��� ¤¡ ª¤  �® �¬�©��¶ ¢�´¬�©�¸ ©¤ �¤�¢©�° ����´��· Ê�¢� ¤©¤ ª�¤ �¬�©¤©�¤ £¤¯��¤¥� ¦¤ § ¥�·�� �¤ª¤© �� ©¤ ����´¢ � �¥¨�ª©�³ ¥�² ¡°���³ ��� ¡��¤ª «�³ ª� ����´¢ µ à��·¶ �· ��¯� ¤¡ ª¤³ � �¤�ª�� ¢¶·¡�¥�©� ©¤��®ª��� ª� ���� �²�·�¤©�¤ �������¢ æ ���¥¨��¡¤ � Ê�¢� ¤©¤ ��¤´¤ª©��©�¤¥¨ ª�¢�·� �¤���·¥¨ ��©¤³ ª��¤©�¤ ­¢©°¥³ � ¨¤�� �©�¥�©�³  � �«©�¤³ ²¥�³ ª¤©· �¤�¢¯©�° ����´��· � § ´ª·¶  ����¤ª�¤ ³ � ª� �©¤�����© �¤ �ª������¤©�¤ °�©­����©�´� ©¤ �� �¤� § �°¡¬�·� ���� �²�¤©�� �¬�©¤©�¤ £¤��¤¥� ¦¤ ³ � ¡ �©¤©� µ

3 "6 " $ |5y{�w� x�|���� x ��y %� �� ?�x��
Ê¤ ��¥�²¡°¢ �� ¬��· ³ �ª�© ���·° «¤ª �¤ ¡� ��¤©�¤ � �¡�ª· �ª������¤º °�©­����©·¥¨ § °¡¬�·³ ¤°  �® �°¤¶� § ³ � ¡ °�¢¥���· ª�¤ ª¤� ��³ ¥�®±¥� ��¤¥·µ ç���¤¡���· ��� ¡² �´ «® � �· �°�±¥�

h�·�¤ ¡¤³ ²¥² � �¢©°¡¢
a
©¤ � � ���¥�·� � ¡�³ µ ö¨¥��· �©¤��*¸ ���� �²�¤©�� �¬�©¤©�¤ £¤��¤¥� ¦¤� �� �¤��� ´¬�©�³ � ¬«� «¤ �¥�·�©·§ � �� �´ «·µ ãª������¤©��� ��¥�²´¤³ ²¥·� � �´ «® � �± ���¥�·¯� � ¡² § ¥�·�� �ª������¢³ ²¥·� �©¡��� ¢³ ²¥· ©¤  �� �¤� ©¤ � ¬«� «¤ �¥�·�©® � �� �´ «· ³ � ¡ �ª���¯���¤©�� µ

w(z) =
√

(z − a)2 + h2
�Ä µÅå �

ãª������¤©�� �ª���¡©� � ¤ �� ¡¤¸
z(w) =

√
w2 − h2 + a

� ª¤³ �  �® ��� ����·¸ ©¤ ¥�²´ «²­¢©°¥³ ® ����´¢ �� �¤�¢ µ �¤¥¨��¤©�� �¢©°¡¬� ©¤ ����´¢ �� �¤�¢ ����ª ¡¤� �¤ �· ¢©�° Ä µÃµ� ¡©��³ � ¡¢¡¤³ � ��©¤  ¢�¡��©�±¸ � ¤¡�� ¤¡·¥�©¤ �� �²�¤©¤ � ����� �¤ ¡°��� µ Æ¢©°¥³ ¤ ¡¤ ³ � ¡³ �ª©��©¤¥�©¤ ©¤ ´¬�©�³ � ¬«� «¤ �¥�·*©�� § ´ª·¶ �¤�  �� ¡·�°� ³ �ª�© � ����� �¤ ¡°¬� � ¤ ¥�®±¸¢��³ �©² � �®° �² �ª ���¤ § ��¥� � ��  ��¥¨©�� ���·³�¢³ �  �® �¤ ª��·±�©· ����� �¤ ¡�° ¡�© § ª�¤°¡¬��´� ¥�®±¸ ���¥�·� � ¡¤ ³ � ¡ � �®° �¤ �ª ���¤ µ � ¬�¥�¤  ¡����¤ ¢¶·¸ ª��©�¥³ �
w(z) =

ç�
(z − a)

|ç�(z − a)|
√

(z − a)2 + h2.
�Ä µÅÔ�

ç���¤¶�· ¡��¤� �´¬�©��³  �· ���·�¤ª�° § ©��¥¨
z ∈ C+

§
C+ = {z ∈ C :

��
(z) > 0} ³ � ¡ ´¬�©²� ¬«� «¤ �¥�·�©² �� � ���©² µ

Γk, k ∈ N
��©¤¥�¤ ������¥�¤�©² ��¥�� ® ��� «²¥�©·¥¨ «¢°¬� ���ª¤©¤

ÅÄ



ç· ¢©�° Ä µÃ � ãª������¤©�� ��¥�²´¤³ ²¥�� �´ «® � �± ���¥�·� � ¡² µ
�¤�¤�¡·¥¨ �

C+
� ³ �ª©·� °�º¥�� ©¤ � � ���¥�·� � ¡�³ µ æ�¢´� � � ����¥¨�«°¬�

Γk
��©¤¥�¤�·

γk
µ ç� ©²¥· �� �¤� ¡�

S(t) = C+\ {Γ1(t) ∪ Γ2(t) ∪ . . .} �Ä µÅè�
´ª��� �¤° «¤ª¤�·§ ¶� «¢°�

Γk
�� ��© �¤³ ²  �® � ¥�¤ �� § � ¡�©  � � ¬� § ¶�

Γk(t) ⊂ Γk(t
′)
ª�¤

t′ > t¤ °�©��¥ ©¤ � � ���¥�·� � ¡�³ ³ � ¡  ¡¤«·µ Ê ��¥¨
w ∈ S(t)

µ à����
f
��©¤¥��· �ª������¤©��°�©­����©�

f : C+ → S(t)
�Ä µÅê�

ç�� �����·
f
©¤ �± ���¥�·� � ¡² § � © ��¥¨

a
��©¤¥�¤ ����¥�����¤� �

C+
� ��©�´� � ����¥¨�«°¤

γ
� �� �¤���

S(t)
µ

lim
ε→0

f(a + iε) = γ.
�Ä µÅ��

�©¤�· ���� �²�¤©�� �¬�©¤©�¤ £¤��¤¥� ¦¤ � �� �¤���
C+

� �¤�¢©°��� ����´��·� � �� ¡¤¥������¤©�¤  �® ­¢©°¥³ � ©¤ � � ���¥�·� � ¡�³ �  ¡¤«�´� ´�¤ª��©¡¢ � ©�� °�º¥��©�±¥�
Φ(x, y) = Cy

�Ä µÅß�
/��  ¡�¤¡· �´¬�©�±¥� � �¶��· ��«�¶·¸

C = 1
µ� ������ª©�� ���ª��¤�� ª��©�¢³ ²¥ � �ª�� �´ «��· ���� ¡¢ £¤��¤¥� ¦¤ �¤«�¶·��±�· � �� ��©�� �²��° ��®ª°�±¥� ���� ¡¢ �´ «· � � ���� £¤��¤¥� ¦¤ �­¢©°¥³ ² ¨¤�� �©�¥�©²� � �¡�¥��©�¢ ¥�¢�°¤�´ «·µ ø��¤� � � ¡¤�¤�·  �® �©¤��*¸ �� �²��° � �®ª�· ¡¤° �ª��©���¤©² ��®ª°�±¥�² ¤ �ª������¤¯©��� °�©­����©·� § °¡¬��´� ¢¶·�¤�· ª� �©¤�����©�¤ � ��¤ ��°¬« © ��³ µ

ç���¤¶�· �¢©°¡· � �� �¤���
C+

� ®ª²¥� ��� °�
a
§ °¡¬�·¥¨ � �«�¶�©�� � �¶��· ��� ¤¸ ���¯���

z = a
(

1 + ρeiθ
) �Ä µÄ÷�

Åå



´ª���
ρ << 1

µ �¤�¡�±¸ � ��¤ ¡¤°�� ��� ° �� �¢©°¥�� ¡�
Φ(z) = Im(z) = aρ sin(θ)

�Ä µÄ Ã�
à�©���¤¶ �ª������¤©��

f
³ � ¡ °�©­����©� ³ � ¡ ¡� �¬�©��¶ �¤�¡�±¸ � ��¤ £¤��¤¥� ¦¤ � �¢©°¥��

ω
� ®ª²¥·� ���¤���

z
� �� �¤���

S(t)
µ �©¤³ ª*�· ¡��¤� �¤�¡�±¸ ­¢©°¥³ �

f(z)
���� �³ ¤³ ²¥ � ����´ ø¤·���¤ ��°¬«

a
ª� ¥� «�©¢ °�¤ª�¤¡���´� µ

ω ≡ f(z) ≈ f(a) +
1

2
f ′′(a) (z − a)2

�Ä µÄÅ�
ω − f(a) =

1

2
f ′′(a)(aρeiθ)2

à����  �¤ � �¥¨�ª©¤ �©�°¤ �
a
§ ´ª·¶ ���¤� � ¤ ¡¤� � ¤° ��¢� ��°¤�©� µ �����¤ª*�· ����°�±¸

ϑ
�ª��©���¤©² �¬�©¤©���

f ′′(a) =
∣

∣f ′′(a)
∣

∣ eiϑ �Ä µÄÄ�
à���° �¡¤«¥¤³ ²¥ � ��·¶ �� �¬�©¤©��

(

2

|f ′′(a)|

)1/2

e−iϑ/2 (ω − f(a))1/2 = aρeiθ �Ä µÄå �
�¤¢�¤¶�· ¶� ¥�®±¸ ¢��³ �©¤ � ��·¶ ��´� �¬�©¤©�¤ ³ � ¡ �¬�©¤ ���¢ £¤��¤¥� ¦¤ � �¢©°¥��

ω
µ

(

2

|f ′′(a)|

)1/2 �� (
e−iϑ/2 (ω − f(a))1/2

)

= aρ sin(θ) = Φ(ω)
�Ä µÄÔ�

� ¡�©  � � ¬� �¡��·� ¤��±�· �¤�¡�±¸ � ��¤ ��°¬« � ����¥¨�«°¤ � �� �¤���
S(t)

µ �����¤ª*�·�� ��©©�
r
�
ϕ
�¬�©¤©���

ω − f(a) = reiϕ �Ä µÄè�
é�¶��· �¤�� ¤¸ �¬�¥�¤  � ��� £¤��¤¥� ¦¤ ��°¬« � ����¥¨�«°¤ ³ ¤°� ­¢©°¥³ ®

r
�
ϕ
µ

Φ(r, ϕ) =

(

2

|f ′′(a)|

)1/2

r1/2 sin

(

ϕ − ϑ

2

) �Ä µÄê�
à���¥��· ´�¤ª��©¡ ­¢©°¥³ �

Φ

∇Φ =
∂Φ

∂r
êr +

1

r

∂Φ

∂ϕ
êϕ =

√
2

2

∣

∣f ′′(a)
∣

∣

−1/2
r−1/2

(

sin

(

ϕ − ϑ

2

)

êr + cos

(

ϕ − ϑ

2

)

êϕ

) �Ä µÄ��
�¤¡�� ��ª ¡¤� �¤³ ² ª� �Å µÅè� �¤�· �¤�¡�±¸ ¥�·©©�°¤ ���� ¡¢

E = lim
r→0

(√
r |∇Φ|

)

=

√
2

2

∣

∣f ′′(a)
∣

∣

−1/2 �Ä µÄß�
à�����¥³ �©¤�©�±¸ ��®ª°�±¥� ���� ¡¢ ª� |f ′′(a)|−1/2 ³ � ¡ ¢©���� ¤�©¤ ¡�© µ ª�¤ �ª������¤º��¥�²´¤³ ²¥·¥¨ �´ «·� � ����´� � �©©·� ° �¡¤«¥�� �¬�©��¶ ³ � ¡ ��¤�ª���¤ µ æ��¬ª ª�¤ ����´¢� ®ª²¥�´� �°�®´��� ³ �ª©� ¡°��·� ��¶©¤ �©¤��*¸ � �Ãß� µ
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6 "#" 7 ���!)!����x x�z�{ �
� ��¤¥· �Ãß� ¤¢¡���· ���� �²�¤�� ���· ¢¶·¥�¢ � �¡�ª· �ª������¤º °�©­����©·¥¨ ª·©¤� �°®¢° «¤ª¢

n
��� ¡·¥¨ �´�� « �·�¤ ¡¤³ ²¥·¥¨ ���� ��©�±¥�� � �¢©°¡¢ ©¤ � «¤ �¥�·*©�� µ �  �¥��´¬�©�¯±¥� �·°¤�¤�� © �� ¡¤���©�±¸ �¤ª�¤�©�´� ¢° «¤ª¢ � �®¥�³ ©�¶  ��±¥�¢ �´�� « µ � ¡¤°�� ���·�¤ª°¢ � ¤«��¤�¢���©�� � ���ª��¤¸ � ®ª��� �·´�¤©�� �·�¤���¤¥³ � ����� ¡·�°�  ��±¸ �´�� « § ¤ � ��� ¡¤«� � ®ª²¨¤� ��¤©� µ à�ª��©· ¢° «¤ª  ° «¤ª¤³ ²¥·  �® � �¬�©���´ «·¥¨ §  °�º¥��©·¥¨ �´�� « �·�¤ ¡¤³ ²¥·¥¨� ��� ¡�³
y = 0

� � ¥� ª�¢´² �´ «² ¡�³  ¤� �³ ª «¢´�±¥� ���� �²�¤©� ±¥�±�� � ��¤¥· �Å÷� µ ç���¤¯¶¤©� � ¬«���� ¡���º
C+

� �´ «¤� � § � ®ª²¥·� � �ª¥�©°¤� � «²¥�²¥·� � �¢©°¡·
(2n, 0)

�
(2n, L0)

��¤�
(2n + 1, 0)

�
(2n + 1, L1)

§ ´ª���
n ∈ N

µ ¹ �· °¤©� ���±¥���· ���  ���¥� ¢ �·�¤���¤¥³ � � �¤ª¤¯©·� ¢° «¤ª��� µ ã¡��·� ¤©� ¡¤� �·©�°� ª�¤ ¤ ·��¡�¡·¥�©�� ª «¢´�¥¨ �´�� «  ¡¤�¤©�  �® �ª¡����·¸��� ¡ �² � �¡�ª² � ��¤¥· �Å Ã� § ¤�� ©�� ¢©�°©�®¡� ª���©·¥¨ � «®ª¬� § °¡¬�� ¡¢¡¤³ � � ¡¤�¤�·  �®� ���¤� �¸ � � ��¬�©¤¸ � ª�° «¤ª©·� � �·©�°¤� � � �Å÷� µ
6 "! " <�xz� % � ? �� ?� x � |��y�!�z�!) x�|�z{�!) �|� ��x�!)
�¤ ¡� ¢³ ��· ¡��¤� ¤�¤�¤¡ � ¤¡�� ¤¡·¥�©· � � �����ª©��´� ���ª��¤«¢ § ª��®°� ¥���¢ � ®ª����· � ¡¤©�� ¢�· °¤¸ ±¥� «� § ¤©¤��¡·¥�©� �·©�°� ª�¤ ¤ ·��¡�¡·°� ¢° «¤ª¢ �¤ª¤©�´� � �Å÷� µ ç ���¤¶�·���¬�

Cδ := {z ∈ C :
��

(z) > δ} �
δ < 0

� �´ «¤� � �·�¤ ¡¤³ ²¥·� � � ��� ¡�³
y = δ

§ � ®ª²¥·� ��ª¥�©°¤� � «²¥�²¥·� � �¢©°¡·
(2n, δ)

�
(2n, L0)

��¤�
(2n + 1, δ)

�
(2n + 1, L1)

§ ´ª���
n ∈ N

µà ���¥¨�ª�²¥ ¤ ·��¡�¡·¥�©�� �
δ → −∞ �¡��·�¢³ ��· ¢° «¤ª ©�� °�º¥��©·¥¨ �´��« �� ©²¥·¥¨©¤ � «¤ �¥�·*©�� �� � ���©�³ � ¥� ª�¢´² �´ «² �¡�³  ¤� �³ ª «¢´�±¥�� § �  �© �� ª «¢´�±¥� �ª

y = 0
µé �ª��¢³ � ¡�  ·¡¢¤¥³ ® § � °¡¬��³ �´ «·  ² ³¢¶ ©¤ ¡·�� ª «¢´�� § ¶� �� «·� �¤�¢©°¢ ����´���´�©¤ ��� ¡�³ § � °¡¬��³ �·�¤ ¡¤³ ² §  ¡¤³ �  �® �¤©��ª�·�¤�©·µ ¹° «¤ª ¡¤°� ³ � ¡ � ����ª·¥�©·§ �¤¡����¶��· �´�¤©�¥�·¸  �® ª� ����¤¶¤©�¤

N ∈ N
�´�� « � �¤�°©²¸ ³ � � � ����ª·¥�©·¥¨ �¤�¢©°¤¥¨����´��·¥¨ µ ç���¤¶�· ¡��· ���� ¡���©�� �� � ���©� �

z
§
w
§ �

ζ
����ª ¡¤� ��©� ©¤ �· ¢©°¢ å µÃç¬�©���´ «� �´ «· �©¤³ ª¢³ ²  �® � ���� ¡���©�

z
µ à� �¤ª��¤«¤©�¢ ©¤ ©�� �ª������¤©��� �

w = exp

(

−2πi

N
z

) �å µÃ�
����¥¨�ª�² ©¤ �´� �¤�ª°®� ���ª�¥�©² ©¤ �· ¢©°¢ å µÃ� �

N
�¤� ��©¤¥¨ µ ãª������¤©�� �ª���¡©�ª¤©� ³ � ¡ �����

z =
iN

2π
log(w).

�å µÅ�
Åê



w

ζ

��
��
��
��

F

f

z

ç· ¢©�° å µÃ � â¥¨�� ¤¡ ¢¶·�¤©·¥¨ � ¤� °�©­����©·¥¨ µ
�©¤�· ¡�¶ ­¢©°¥³ ® ����° �¡¤«¥¤³ ²¥² °�©­����©�� ���©®¡��� ¡¤°��³ �´� �¤�ª°�� ©¤ ���©®¡����°�®´¢ ³ �ª©� ¡°���´� µ �� ¡ ¡� ­¢©°¥³ ¤ ����³ ±¥�¤ � �®ª�·

ζ
¤

w
§ °¡¬��³ � � ¡¤¸ �¤ �Å Ã� ¡� �

f(ζ) = C

(

ζN/2 + ζ−N/2

2
+ a

)2/N

,
�å µÄ�

´ª���
C

�
a
¡�  ¡¤«� ���¥�·� � ¡� �·�©¤¥��©� �����

L0
�

L1
µ â¡²ª �·©�°¤ � � ¡¤¸ ­¢©°¥³ �

F���¤�¢³ ²¥�³ ���©®¡��� �´�� « � ���� ¡���© �
z
©¤ ���©®¡��� �°�®´¢ ³ �ª©� ¡°���´�

F (ζ) =
iN

2π
log



C

(

ζN/2 + ζ−N/2

2
+ a

)2/N


 .
�å µå �

à����
eiϕk

��©¤¥��· �¢©°¡· � ���� ¡���©�
ζ
§ °¡¬�� ����¥¨�ª�² ©¤ � ����¥¨�«°� �´�� « � ����¯ ¡���©�¤¥¨

w
�
z
µ é ¢ �² ¡� �·¸ �° ¡��� ¤ ­¢©°¥³ �

f
©¤ �°�®´¢ ³ �ª©� ¡°��·� § �¤¡��

∂f
(

eiϕk
)

∂ϕ
= 0 ⇒ ϕk =

2πk

N
.

�å µÔ�
à¤�¤� �¡�·

L0
�
L1

�©¤³ ª¢³ ��· ³ ¤°� ¥�®±¸ ¢��³ �©² ���¤�¬� � ����¥¨�«°¬� � ���� ¡���©�
z

F
(

eiϕk

)

= k +
i

π
log

(

1 + (−1)ka
)

+
iN

2π
log(C).

�å µè�
â¡²ª � �¶©¤ �ª¥�·¡¤¸ § ¶�

Lk =
1

π
log

(

1 + (−1)ka
)

+
N

2π
log(C).

�å µê�
L0

�
L1

ª� ¡¤�¥�¤³ ² � �«©�³ �©­��� ¤¥³ � � ¢° «¤ª��� � ª�¤ °¤¶ª·¥¨ �¤ª¤©·¥¨
L0

�
L1

��¶��·�©¤��*¸
C

�
a
�� �ª��� �¤ª¤³ ²¥� µ ãª�³�¢³ ²¥  ¡��©¤� � � ��·¶ �� �¬�©¤©�� ª�¤

k = 0
�
k = 1

L0 − L1 =
1

π
log

(

1 − a

1 + a

)

⇒ eπ(L0−L1) =
1 − a

1 + a
.

�å µ��
à�®ª°�±¥� ���� ¡¢ �´�� « § ©¤ � �ª ¡¤� �� �Å µÅè� § ���� ��¥³ �©¤�©�  ² ª� �

vk =
∂Lk

∂t
∝
(

∂2F (z)

∂z2

)−1/2

z=eiϕk

=

[

iN2

4π

1

1 + (−1)ka

]−1/2

.
�å µß�

Å�



�¤¢�¤¶�· �¤¡�� § ¶�  ¡� ¢©�° ��®ª°�±¥� ���� ¡¢ ª�¬¥¨ °���³ ©·¥¨ �´�� « ª¤©· ³ � ¡ �����
v0

v1
=

√

1 − a

1 + a
= e

π
2
(L0−L1) �å µÃ÷�

ø�© �·©�° ¢°¤�¢³ � ©¤� ª�¤ ¥¨¤�¤°¡��· ¡·¥�©� ª�¤ ���� ¡¢ £¤��¤¥� ¦¤ �³ ¤� � °¤ � ©�� ¡¤���©�±¸ ¯³ �±�� ���· � �¥�²¡°��� �¬�©·¥¨ �´ «¤¥¨ § ³ �ª©¤ � ©�¥¨ � �ª �� «·��� ª����©�� � ¤«�´� �¤�¢���©�¤�· ¢©��  �® ª� ����ª¢ § �¤¥�·©¤ �� ©²¸  �·� ¥��³ � �·�¤���¤¥³ ® ¯ �� ©²¥¤  �·� ¥��³ �´ «¤ § ´ª·�©¤³ ª¢³ ®  �® �©¤ª� ª�¢´² ¨¤�¢³ � ³ �³ ���� ¡ µ ç��¢�¡¤¡ ¡�© �ª¡�¤��¤ ¤ ·��¡�¡·¥�©� �¤¥¨��¤©���·©�°¢ ª�¤  °�º¥��©·¥¨ �´�� « � ª «¢´�±¥�¤¥¨ ©¤ ����� �¤©
L0

�
L1

�·�¤ ¡¤³ ²¥·¥¨ � ��� ¡�³
y = 0

� �����ª·¥�©·¥¨ �¤�¢©°¤¥¨ ����´��·¥¨ § � ��¤¥· �Å÷� µ ¹ ¶·¡� ¡¤� � ¤���¤©�¤ ¢° «¤ª¢ °�º¥��©·¥¨ �´�� « ©¤ �ª¥�©�°
[−1, 1]

�
ζ(z) =

2 cos(πz) + cos(πL0) − cos(πL1)

cos(πL0) + cos(πL1)
.

�å µÃÃ�
Ê¤¡�� �¤ ¡ ���� �²�¤©��� �¬�©¤©�¤ £¤��¤¥� ¦¤ ��°¬« ¡¤°��´� �ª¥�©°¤ § � �¤�¢©°���

Φ = 0
©¤����´¢ § ³ � ¡

Φ(ζ) = log

[

ζ +

ç�
(ζ)

|ç�(ζ)|
√

ζ2 − 1

]

.
�å µÃÅ�

à���¤ª�� ¡� § ª� ©¤ ¡®�¢³ ²¥�´� �·©�°¢ ©¤  ¡� ¢©�° ��®ª°�±¥� �´�� « �
v0

v1
=

√

sinh(πL0)

sinh(πL1)
.

�å µÃÄ�
ç¬�©¤©�� ¡� � �� ©²¥·� �

L0
�
L1

� ª�¤ ¢ ¡¤��©�´�
L0−L1

����¥¨�ª�� � �·©�° ¤ ·��¡�¡·¥�©·�å µÃ÷� �¡��·� ¤©· ��� ¡ �² � �¡�ª² µ
6 "3 " � � ���� �%z�w� d ��m�|{�!}  
à��·¶ �·  ¥¨�� ¤¡ �·�¤���¤¥³ � ¥� ª�¢´��³ �´ «· � �� �� � �����©�³ ��� ¡�¡· ¡«¢� ¤¥�·¸ � �¶� �¤�¯ª�� ¥��°¤�� �³ ¤� � °¤ µ �¤¢�¤¶�·§ ¶� ¥� ª�¢´�� ��·´�¤©�� �´ «· � � �ªª¤��©�¢  �® �ª ����´�¤©·¥¨�©¬� ¡����·¸ � ®ª² § �ª� �� ��ª©�� ���� °¤���¤©· ¢° «¤ª �·³ ±¥���·µ � ¬�¥�¤  �©¬� ©�� ¡¤���¯©�±¸  � ���ª¢³ � �·�¤���¤¥³ ® � � ��� ¡¤©�� � ©�¥¨ ¥� ª�¢´¤ § �¡ª µ ��· ¢©�° å µÅ� µ ø¤°� � �¥¨¤©�����­¢�°¤¥³ � § � � ª «¢´�¥¨ ¥�¤ ¤¥¨ ����¤ª�� ª�  ¡�¢°¡¢�· ­�¤°¡¤�©�³ � � �¡®´���´� ���° «¤ª¢ ª «¢´�±¥��´�� « § � �� �·�¬¶©��©�³  °¤�� ª «¢´�±¥� �

N(l) ∝ l−γ ,
�å µÃå �

´ª���
N(l) ·∆l

¡� ��¥��¤ �´�� « � ª «¢´�±¥�¤¥¨ � �� �®ª�·
l
¤

l +∆l
§ ¤

γ
¡� �·° «¤ª©�° ¥¨¤�¤°¡��·¯ ¡·¥�©· ª�¤ ¢° «¤ª¢ µ ø¤°��  ¡�¢°¡¢�· � �ª¤¸ ©� µ �� ����±¥�� � ®°©�®¸ �  °¤«¤¥¨ �Å Ã� µ ø «¢� ¤¥�·¸¡� � �¶� � � ¥�®±¥� �¬�©��¶ ­�¤°¡¤�©�  ¡�¢°¡¢�· ¡����²¥�  �® � �° � ��·� �©¡¤¥¨ �� �²�¤©·¥¨ ������ ¡�� £¤��¤¥� ¦¤ µ

Åß



ç· ¢©�° å µÅ � é�¥¨¤©��� ��­¢�°¤¥³ � µ ��¢ ¡�¤¥³ ¤ �¤ �Å Ã� µ ¤� ��¥�²¡°��� �¬�©� �´ «· � �ª��´¤³ ²�¤�¢���©�¢ � ¥� ª�¢´¤  ¡¤³ �  �® �ª����©® ª «¢¶ �¤ � � �¬¶©�¥� � �� �®° �¤³ ²  �® § � ±�¬ª ª «¢¶ �·¥¨�´�� « �¤�¢���©�� �©¬� ����ª¢³ � ����ª «¢¶�©�� ¥� ª�¢´��³ ¥� � ª � ¤©¤��´�¥�©�� µ

Ä÷




��
��� � �

� 5 E<E 20 ;.05 E07< /1<
=  4= 4<86>6H6EH

� ¡·� ���ª��¤�� � � ¡¤�¤�·  �® ����ª ¡¤� �¸ �©©·  � � ¬� ��� ¢ ���� ¡¢ �´�� « µ æ�¡·¥¨¥�¤  ª�¤ª¤©�´� ° �¡¤«¡¢ �´�� « § �� ��©©�´� � ¥�¤ �� §  �¢°¤��±�· �ª������¤©�¤ °�©­����©�´� ©¤ �� �¤��� �©¤©·� ���� �²�¤©��� �¬�©¤©�¤ £¤��¤¥� ¦¤ µ �©¤�����©� ��®ª°�±¥� ���� ¡¢ �� ��©�¤«· ° �¡¤«¡�´�� « � ª�¤ �� ��©��©�´� ° �¡¤«¡¢ �©¬�  �¢°¤��±�· �ª������¤©�¤ °�©­����©�´� µ ç¬�©¤©�� £�¯��©��¤ ¡� �¬�©¤©�� �¬¶©�¥�°��� ��� ¢³ ²¥� �� �¤©® � ¥�¤ �� § ¤�� ©�� ° �¡¤«¡¢ �� �¤�¢ § ��¥� ¤� �´� �ª������¤©�¤ µ � ©��´� ©¤¡�� �¤ ¡ � �¶��· �ª¡����·¸ ° �¡¤«¡ �´�� « µ à ����  �� �¬�©¤¯©�� ¡�´� ¡·�¢ �·����¤ª��« � ÃßÅÄ ��°¢ ö¨¤���  £���©�� �ÅÄ� ��¥��±© ��³ ä ¤�� £¡�©��� ª�¤��� ¤©�´� � ¡·� ���ª��¤�� ���·�¤ª°¢ µ ø¢¡¤³ ���·¡�¥�·�· �·����¤ª��©�� � �¡�ª² � ��¤¥·�Åå � µ�����¤ª*�· ¡��¤� ¢¶·�¤©� ��©¤¥��©�¤ µ Ê ��¥¨ § ³ ¤° � �����ª©��
C+ = {z ∈ C :

��
(z) > 0}� ®ª��� ´¬�©² � ¬«� «¤ �¥�·�©² �� � ���©² §

Γk, k = 1, . . . n, n ≥ 1
�Ô µÃ�

��©¤¥�¤  °�º¥��©² ��¥�� ® ��� «²¥�©·¥¨ «¢°¬� ���ª¤©¤ �¤�¤�¡·¥¨ �
C+

� ³ �ª©·� °�º¥�� ©¤� � ���¥�·� � ¡�³ µ æ �¢´� � � ����¥¨�«°¬�
Γk

��©¤¥�¤�·
γk
µ ç� ©²¥· �� �¤� ¡�

S(t) = {z ∈ C :
��

(z) ≤ 0} ∪ Γ1(t) ∪ . . . ∪ Γn(t),
�Ô µÅ�

´ª��� �¤° «¤ª¤�· ¶� «¢°�
Γk

�� ��©�¤³ ²  �® � ¥�¤ �� § � ¡�©  � � ¬� § ¶�
Γk(t) ⊂ Γk(t

′)
ª�¤

t′ > t¤ °�©��¥ ©¤ � � ���¥�·� � ¡�³ ³ � ¡ ¢ ¡¤��©·µ
; "#" <�xz�z� 8� xz |� y %� }  yz } �� ?�
Ê¤³��� ¡ �·� ���·�¤ª°��� �¬�©¤©�¤ £���©��¤ ³ � ¡ ���� ¡ ¡·�°� ³ �ª©�³ �´ «·§ ¥�·�� ³ �ª©�´�«¢°¢ ���ª¤©¤

Γ1(t)
µ â�¢°¤¸ � ®ª����· �¬�©¤©�¤ ©¤ ­¢©°¥³ ®

gt
ª�¤

t ≥ 0
§ � ®ª²¥² �ª������¤©���°�©­����©·�

gt : C+\Γ1 → C+.
�Ô µÄ�

à��·ª¤¡©¤ � ��� �� � ®ª��� �¬�©��¶ ­¢©°¥³ ¤ �ª���¡©¤
ft(z)

ft : C+ → C+\Γ1

ft ◦ gt = gt ◦ ft = id , t ≥ 0.
�Ô µå �

Ä Ã



ç· ¢©�° Ô µÃ � ã�©¤¥��©�� �ª������¤º ����¤¡�·�¤©·¥¨ � �¬�©¤©�¢ £���©��¤ µ
â¥¨�� ¤¡ ����¤¡�·�¤©·¥¨ �ª������¤º ����ª ¡¤� �¤ �· ¢©�° Ô µÃµ �¤°� �¤�¢©�° ©��� ¤���¤¥³ ����·³� ���·

lim
z→∞

gt(z) − z = 0,
�Ô µÔ�

¥�·�� ¡�� µ ©��� ¤���¤¥³ ® ¨·ª��ª·©¤� �¥�©² µ Æ ��·¥�©�� �ª� �� �¤ª¤ ¡�  ·¡¢¤¥³ � § � °¡¬��³ �¤�¢���¯©�� ����� «·�¢ ¥��¥�· � � ��©·� �¤«·� �� �¤��� ©�� � �� �©©� � ��¸ �� «·�¢ ©¤ ����� «·� �©�� °�º¥��©�±¥� § ¤ �ª� �� �¤ª¤ ¡� �¤�¢©°�� � § ¶� ª¤��°� �ª �´ «· �ª������¤©�� � ¤ �·¸ �ª�©¯¡·¥�©�±¥�² µ ãª������¤©�¤
gt

�
ft

 ² ³ �ª©��©¤¥�©� ª�¤ ª¤©�´�
Γ1(t)

� ª�° «¤ª©�±¥�² ª� ¤¢¯¡�� �����¢
C+

µ �¤�¢©�° ©��� ¤���¤¥³ � �Ô µÔ� � ¡·� ���·�¤ª°¢ ¢ ¡¤�� ³ �ª©��©¤¥�©�� ¡¤°���ª������¤©�� µ ã�©¤¥��· �����
a1(t) = limε→0 gt(γ1(t) + iε)

���¤� ¥�¢�°¤ �´ «·µ¹  ¡¤��· ¡��¤�
t ≥ 0

� ����¤¶�· � ¤���¤©��
gt

� ¥¨� ���
t
��¤�

t+h
� ´�¤©�¥·

h → 0
µ A¢°�

Γ1(t)
�
Γ1(t+h)

�¬¶©�²  �® � � �� ��© � ¤«· �ª¥�©�° µ é ¤���¤©��
gt
��¥�²´¤� ¥¤«· «¢°

Γ1(t)
� �±���¥�·� � ¡² § ©¤¡�� �¤ ¡

gt+h
��¥�²´¤� «¢°

Γ1(t + h)
�¬¶©�²¥·  �® � °�¬¡°� �ª¥�©�° µ �©¤³ ª¢³ ��·�¬�©¤©�� �¬¶©�¥�°���  �¢°¤³ ²¥

gt+h
 � �«©�¤³ ²¥�´�

gt+h = φ1 ◦ gt + O(h2).
�Ô µè�

�ª�® ¡�´� � «�¶�©�¤ ����ª ¡¤� �¤ �· ¢©�° Ô µÅ µ �¤°� ­¢©°¥³ �
φ
¢¶·�¤¸ � ®ª����· ��� ¤©�´� �

ç· ¢©�° Ô µÅ � �ª�¤ °�© ¡�¢°¥³ � �¬�©¤©�¤ £���©��¤ ª�¤ ³ �ª©�³ �´ «·µ
� �����ª©�� ���ª��¤�� �ª������¤©�¤ �

φ1(z) =
√

(z − a1(t))2 + 2hd1(t) + ã1(t),
�Ô µê�

´ª���
d1(t)

³ � ¡ ­¢©°¥³ ²  ¡��¢³ ²¥² ��®ª°�±¥�² ���� ¡¢ � ¥�¤ �� ©¤��¤©² ¥�·©©�°��� ���� ¡¢ µ� �¤�¢©°¢ ©��� ¤���¤¥³ � � �¤ª�� � § ¶� � ¤¢¡�� ����� ¬� �¬«� «¤ �¥�·�©·§ � ª�° «¤ª©�±¥�² ª�°¡¬�·¥¨ �ª��©���¤©¤ ³ � ¡ ­¢©°¥³ ¤
gt
§ © ��  ² �·���� �©��¤©� ³ �ª·©�� ¡�¤© �¤¥³ � � ��¥�� ® ���¯¥�·� � ¡² � � ¡¤¥�

ã1(t)
§ °¡¬��³ �¤�¡�±¸ �·�©¤¥�·�· �¤ ¥¨� ��® µ ãª������¤©��

φ1
��¥�²´¤� �

ÄÅ



�± ���¥�·� � ¡² � ¤«² § ��� ¡² ��� ©²¥² � °���¢©°¢ � � ¢��³ �©�³ � �´ «® � ª «¢´�±¥� √
2hd1(t)

µ A¤¯¡�� �¤¢�¤¶·¸ § ¶� ª�¤ �©�©�¡��·� ¤�©�´�
h
�ª��� �¤ª¤ ¡� ���·�� ¡�� � ª «¢´�±¥� �´ «· �¬�©��¢

h d1(t) |f ′′
t (a1(t))|

µ à ����  �¤ � �¥¨�ª©¤
ft

� �¢©°¥��
a1(t)

�©�°¤ ´ª·¶
f
�¤ ¡¤� � ¤° ��¢���°¤�©� § � �®¥ ���� �³ ¤³ ²¥ ���·�� ¡ ª «¢´�±¥� �´ «· �  ����´ ø¤·���¤ § ©¤³©�¶ �·� ©�������·� �·¯�¤��� ³ � ¡

1/2f ′′
t (a1(t))

√

2hd1(t)
2 ¥� ª¤³ � � ��·¶ �· �·©�° µ ��±�� � �ª������· ¡�© �·©�° �����

h
§ �¡��·� ¤�· ��®ª°�±¸ ���� ¡¢ �´ «·

v1(t) = d1(t)
∣

∣f ′′
t (a1(t))

∣

∣ .
�Ô µ��

�¤° ��°¤�¤��±�· �¥��±©��³ �Ä µÄß� ª�¤ ���� ¡¢ £¤��¤¥� ¦¤ ��®ª°�±¸ ���� ¡¢ �´ «· �¢ �  � �«©�¤¸���¤¥³ ®
v1(t) ∝

∣

∣f ′′
t (a1(t))

∣

∣

−1/2
.

�Ô µß�
/ ��  ¡�¤¡· �´¬�©�±¥� � �¶��· ���·³ ²¥  ¡¤«² ���� ��¥³ �©¤�©�±¥� �¬�©² Ãµ �¤¡�� ���·³ ®¥�� ¥�·©¯©�°¤ ���� ¡¢ ª¤©�´� �¬�©¤©���

d1(t) =
∣

∣f ′′
t (a1(t))

∣

∣

−3/2 �Ô µÃ÷�
�ª��� �¤ª¤ ���� ¡�� � £¤��¤¥� ¦¤ µ ¹©���� ¤�©¤ ³ � ¡ ¡¤°¶� �¤��¶©�±¸

d(t) = v(t)3
µ à ����� ���·¡��¤� �¬�©¤©�� ©¤

φ1(z)
���� �³ ¤³ ²¥ �  ����´ � �¡®´��· �

h
µ

φ1(z) =
√

(z − a1(t))2 + 2hd1(t) + ã1(t) =

= (z − a1(t))

√

1 +
2hd1(t)

(z − a1(t))2
+ ã1(t) =

= (z − a1(t))

(

1 +
hd1(t)

(z − a1(t))2
+ O(h2)

)

+ ã1(t) =

= z + ã1(t) − a1(t) +
hd1(t)

z − a1(t)
+ O(h2).

�Ô µÃÃ�
à�ª ¡¤��· ¡��¤� � ��·¶ �� ���� �©�®¥�� ª� �Ô µè�

gt+h = φ1 ◦ gt = gt + ã1(t) − a1(t) +
hd1(t)

gt − a1(t)
+ O(h2),

�Ô µÃÅ�
gt+h − gt

h
=

ã1(t) − a1(t)

h
+

d1(t)

gt − a1(t)
+ O(h).

�Ô µÃÄ�
à���¥¨�ª�²¥ ª� ´�¤©�¥·

h → 0
�¡��·�¢³ ��·

ġt = lim
h→0

ã1(t) − a1(t)

h
+

d1(t)

gt − a1(t)
.

�Ô µÃå �
à���� ���·³ ®¥�� �¤�¢©°¢ �Ô µÔ� �¥��°¢³ ��·§ ¶�

0 = lim
z→∞

ġt = lim
h→0

ã1(t) − a1(t)

h
+

d1(t)

gt − a1(t)
.

�Ô µÃÔ�
æ�¢´� ¥� «�© ��¤��³  ¡��©· �¬�©¤©�¤ ���·

z → ∞ ª²¶· ª� ���¤ �¤¡��
lim
h→0

ã1(t) − a1(t)

h
= 0 ⇒ a1(t) = ã1(t).

�Ô µÃè�
ÄÄ



æ¤³ � ¡� � ¡¤¡�¥�©² � � ¡¤¸ �¬�©¤©�¤ £���©��¤ ª�¤ ³ �ª©�³ �´ «· ©¤ � ¬«� «¤ �¥�·*©��
ġt =

d1(t)

gt − a1(t)
.

�Ô µÃê�
�¤¢�¤¶�· � ��©² � «¤ ©�±¸ �¬�©¤©�¤ �Ô µÃê� µ ��±�� �©¡��� ¢³ � ©¤  ¡·�°� ° �¡¤«¡

Γ1
§ ¤ ©�� ³ �´��¤��¶©�±¸ �ª ¥�¤ ¢ ¡� ���·  � �«©��©·� �¤�¢©°¢

d1(t) > 0
ª�¤

t > 0
� ��  ¡�¤¡· �´¬�©�±¥�� �¶©¤ ���·³ ²¸

d1(t) ≡ 1
µ ��±�� ���� °¤�¢³ ��· ¥�¤  § �����¤ª�¤³ ²¥ ©��· ª¤©· ������

t′ =

∫ t

0
d1(τ)dτ,

�Ô µÃ��
¡� �¤�� ¢³ ²¥ �¬�©¤©�� �Ô µÃê� � ©��·� ¥�¤ �� �¡��·� ¤�·

d1(t)

gt′(z) − a
=

∂

∂t
gt(z) =

dt′

dt
ġt′(z) = d1(t)ġt′(z),

ġt′ =
1

gt′ − a
.

�Ô µÃß�
� ��¡��¤¡¢��� � ¤¡�� ¤¡·¥�©�³ ¢¶·�¤©� ³ � ¡

d1(t) ≡ 2
µ æ �¤ �¬¶©·¥¨ �¤��¶©�±¥�

a(t)
�¡��·�¢³ � �® �¬¶©� ° �¡¤«¡· � ��  ¡¤³ ²¥·¥¨ �´�� « µ ¢¥� «·¥¨ ���� �²�¤º ª�¤ �¬¶©·¥¨

a(t)
³ � ¡ ©��� ���� § ° ��°¤� ©�¥¨ � �¶©¤ �©¤��*¸ � ��¤¥· �ÅÔ� µ æ �¤ ���·° «¤ª¢ �· ¢©�° Ô µÄ ����ª ¡¤� �¤ ° �¡¤«¡· �´�� « ´ª·

a(t) = sin(πt)
��¤�

a(t) = t sin(πt)
µ â����°� ���� �³ ¤³ ²  �® �� �¥©�� �¤ª¤©�¤ ©¤ª  ¡�¥¨¤ ¡·¥�¯

ç· ¢©�° Ô µÄ � à��·° «¤ª��� ° �¡¤«¡· �´�� « § ª�¤ �¬¶©·¥¨ �� ¡¤¥� ­¢©¥°³ �
a(t)

µ ��¢ ¡�¤¥³ ¤ �¤ �ÅÔ� µ
©·� �¬�©¤©��� £���©��¤ �â£1� § ´ª��� ­¢©°¥³ ¤

a(t)
³ � ¡ ��¤«·�  �¢� �� ´¤¢  ��  °�� � �¥¨�� �²�°��� � � �ª��¤� � �³ ¤� � ° °�·¡·¥�©·¥¨ � ��·¥�  ¡¤¡· ¡·¥�©�³ µÊ¤  ³ �ª©¤° �©¡��� ¢³ ² ¡�¤³ �°¡���� �ª� �� �¤ª¤³ ²¥� �´�� �� ©²¥�³ � °¤¶ª�³ ¥¨� ��� ¥�¤ ¢ � °��¯�¢©°¢ ´�¤ª��©¡¢ ©¤ ¥�¢�°¢ µ ø¤°�� �´ «· ©¤�·�¤¸ � ®ª����· ´��ª��·³©·� � µ �¤°� �¤�¢©�° ©¤

Äå



­¢©°¥³ ®
a1(t)

�ª��� �¤ª¤ ¡�¤³ �°¡���� ´��ª��·³ ©�³ . ç���¤¡���· ° �¡¤«¡ �´ «· � ¥¨� ��¤¥¨ ¥�¤ ¢
t�

t + h
µ �¤¢�¤¶�·§ ¶� °���¢©�° ´�¤ª��©¡¢ � ��¤ � �¢©°¥��

γ(t)
�ª��� �¤ª¤ °���¢©°�� � ��ª «¢¶� �

y
� �¢©°¥�� ©¤ °¡¬�· ����¥¨�ª��

γ(t)
��ª ª��¤«¤©��� �ª������¤©�¤

gt
§ ¥�·��

ã1(t)
µ ��±���¤¡�� �´ «¤ � �®ª�· ¥�¤ ��

t
¤

t+h
�� «¤ ��ª «¢¶ ´�¤ª��©¡¢ � ��¤ § ¡� � ����¥¨�«�°

γ(t+h)
�� �¤¯ª��¤«¤©�¢ �ª������¤©���

gt
��� �©��© � ��¸  �¬³ ���¤� ©¤ª �¢©°¡��

ã1(t)
µ »�· �ª������¤©��

gt+h
�¥�²´©®«� � ����¥¨�«�°

γ(t + h)
� �± ���¥�·� � ¡² �¢ ��· ���·³ ²¸ �¤�¢©�° � � ¡¤¥� �
a1(t + h) = ã1(t),

�Ô µÅ÷�
¥� � ����¤¡�·�¤©·� ���·�¤ª°¢ ��©¤¥�¤

a1(t) = const.
§ ´ª·¶

ã1(t) = a1(t)
µ â·¡¢¤¥³ ¤ ©��� ®ª��� ³ �ª©¤° ¡¤° ¡�·� �¤�©¤ � ©¤ ¡®�©·¥¨ ���ª��¤«¤¥¨ µ � ª¤� ��³ ¥�®±¥� ��¤¥· �©¡��� ��¤¸ ©¤ � ®ª��� �· «²¥�©�� �¢¥¨ ´��ª��·³ ©· � �¬�©¤©�¤ ��� ¢³ ²¥� �¢¥¨ ���´¢©¬� ª�¤ ¡�´� ���·�¤ª°¢ µ

þØÖî ú£ÖÚñúÚ ��¤ª¤³�· ©¤³����� ���·�¤ª�°
d1(t) = 1

�
ġt =

1

gt − a
.

�Ô µÅ Ã�
ç¬�©¤©�� ¡�³ � � ¡¤¥� � ¤ ���ª�����©� �� ��©©� � ³ � ¡ ¥¤«°��¤�©� à��·³�¢³ ��· �¤�¢©°� � �¥�²¡¯°���

g0(z) = z
§
gt(z) = a

§ ����� ¥� �¡��·� ¤©�
z(t)

� ®ª��� �ª� �� �¤ª¤¸ � �«�¶�©�¢ ¥�¢�°¤ �´ «·
γ1(t)

µ à���° �¡¤«¥¤³ ²¥ § �¡��·�¢³ ��·
(gt − a)dgt = dt,

∫ a

z
(gt − a)dgt =

∫ t

0
dt′,

−1

2
(z − a)2 = t.

�Ô µÅÅ�
�¤¡�� ��«�¶�©�� � ����¥¨�«°¤ �´ «· � ¥�¤ �� �·�¤¶¤  �® ������

γ(t) = a + i
√

2t
�Ô µÅÄ�

�¤° � �ª¤¸ � �³ �ª·©¥�¤ �´ «¤ ��±©�� ����©���� � °���¢©°¢ � � ¢��³ �©�³ § ¤ ³ �³ �· �°�±¸ ª¤©¤ ³ � ¡�����
l(t) =

√
2t

�Ô µÅå �
â°��� �©¤�· ° �¡¤«¡ �´ «·§ ����³ ª*�· ª� �¤´¤ª©��©�¤ � ¥�·©©�°��� ���� ¡¢ �ª��� �¤ª¤³ ²¥·����� ¡�� � �¤��¤¥� ¦��  °���¢ µ æ �¤ ��� ¡�³ �´ «· � �¤ª¤©�³ ª «¢´�±¥� �©¤�· �n���¥�¡� � � ¡¤¸ ­¢©°¥³ �
gt

�
ft

gt(z) =
√

(z − a)2 + l2(t) + a,

ft(z) =
√

(z − a)2 − l2(t) + a.
�Ô µÅÔ�

ø¤°² �� ¡¤¸
gt(z)

��¶��· ��ª ¡¤� �¸ ª� �¬�©¤©�¤ £���©��¤ �Ô µÃê� �¡��·�¢³ ²¥
l(t) · l̇(t)

√

(z − a)2 − l2(t)
=

d1(t)
√

(z − a)2 − l2(t)
,

�Ô µÅè�
¥�·��

l̇(t) =
d1(t)

l(t)
.

�Ô µÅê�
ÄÔ



A¤¡��  ��¤�ª��¸ ¶� |f ′′
t (a)| = 1

l(t)

µ é �¶��· �¤¡�� ����¥�·¸ ¥�·©©�° ���� ¡¢ �ª��� �¤ª¤³ ²¥·���·�¤ª°�� � �¤��¤¥� ¦��  °���¢
d1(t) =

∣

∣f ′′
t (a1(t))

∣

∣

−3/2
= l3/2(t).

�Ô µÅ��
à�ª ¡¤� �¤³ ²¥ ª� ���ª¢°��¤©�³ � � ¡¤¥� �¬�©¤©�¤ £���©��¤ �Ô µÅê� �¡��·�¢³ ��·

l̇(t) =
√

l(t).
�Ô µÅß�

� �¤�¢©°��� ��¥�²¡°��·�
l(0) = 0

�¬�©¤©�� ¡� � ¤ ���� �²�¤©�� � � ¡¤¥�
l(t) =

1

4
t2.

�Ô µÄ÷�
; "! " < �xz�z� 8� xz |� y %� yx�!) ��� ?
â·¡¢¤¥³ ¤ ª�¤ ª�¬¥¨ �´�� « ³ � ¡ �¤�ª���³  °�����°��¤©¤ � �·� ¤´¤  ¢�¡��© ��³  �·¥¨ ����¤¶¤º µà���ª ¡¤� ��· ©¤ �  ¡®��� �·����¤ª��©�� �¤¥����©�®¡� � � ��·¥³ � �Åå � § ©¤ ¡®�© �� � � ¡¤�¤�· �® �©¤��*¸ ��� ¡ �² � �¡�ª® �·����¤ª��©�¤ ¡�´� �¬�©¤©�¤ § °¡¬�¤ �°¤¶�  �® �¬�©��¶ �¤�ª���³¢¶·¡�¥�©¤ � ©¢� ��·¥�©·� ¥¤«°��¤©�¢ �¬�©¤º £���©��¤ µ/®ª����·  �¢°¤¸ ¡��¤� �¬�©¤©�¤ ©¤ ­¢©°¥³ ®

gt
ª�¤

t ≥ 0
§ � ®ª²¥² �ª������¤©��� °�©­����©·�

gt : C+\ (Γ1 ∪ Γ2) → C+.
�Ô µÄ Ã�

â¥¨�� ¤¡ �ª������¤º ����ª ¡¤� �¤ �· ¢©�° Ô µå µ ãª������¤©�� ¡� ³ � ¡ ³ �ª©��©¤¥�©� ª�¤ ª¤©�´�

ç· ¢©�° Ô µå � â¥¨�� ¤¡ ¢¶·�¤©·¥¨ �ª������¤º ª�¤ ª�¬¥¨ �´�� «
�� �¤�¢ � ª�° «¤ª©�±¥�² ª� ¤¢¡�� �����¢

C+
µ ��ª©��©¤¥�©�±¸ ¢�· °¤�· � �¤�¢©°¢ �Ô µÔ� µ�����¤ª*�· ��©¤¥��©�¤ ¤©¤��´�¥�©� ª� ���·³ ®¡·¥¨ � ������ª©�� �¤�¤´�¤��

ft : C+ → C+\ (Γ1 ∪ Γ2) ,

ft ◦ gt = gt ◦ ft = id , t ≥ 0,

ak(t) = lim
ε→0

gt(γk(t) + iε), k = 1, 2.
�Ô µÄÅ�

»©¤���¢³ ²¥ �ª������¤©��
gt

ª�¤ ¥�¤ ¬�
t
�
t + h

����¤¶�· ©¤ ¡®�¢³ ²¥� � «�¶�©�� ���¢ ¡���¤©�©¤ �· ¢©°¢ Ô µÔ
gt+h = φ2 ◦ φ1 ◦ gt + O(h2),

�Ô µÄÄ�
´ª��� ¢¶·¡� ­¢©°¥³ � ¡�

φ1(z) =
√

(z − a1(t))2 + 2hd1(t) + ã1(t, h),

φ2(z) =
√

(z − ã2(t, h))2 + 2hd2(t) + a2(t + h),
�Ô µÄå �

Äè



ç· ¢©�° Ô µÔ � �ª�¤ °�© ¡�¢°¥³ � � «�¶�º ´�©��¢³ ²¥·¥¨ �¬�©¤©�� £���©��¤ ª�¤ ª�¬¥¨ �´�� «
©¤¡�� �¤ ¡

d1(t)
�
d2(t)

¡� ¥�·©©�°� ���� ¡¢ �ª��� ��ª©�� �����  ��³ � ª�¢´��³ �´ «· ��¤�
ã2(t, h) = φ1(a2(t)),

�Ô µÄÔ�
a1(t + h) = φ2(ã1(t, h)).

�Ô µÄè�
à����� ¢³ ��· ¡��¤�

φ1(z)
�
φ2(z)

���� �³ ¤³ ²¥ �  ����´ � �¡®´��· �
h
¤©¤��´�¥�©�� ³ ¤° � �Ô µÃÃ�

φ1(z) = z + ã1(t, h) − a1(t) +
hd1(t)

z − a1(t)
+ O(h2),

φ2(z) = z + a2(t + h) − ã2(t, h) +
hd2(t)

z − ã2(t, h)
+ O(h2).

�Ô µÄê�
à�ª ¡¤� �¤³ ²¥ � ��·¶ �� ���¤¥³ � ª� �Ô µÄè� § �Ô µÄÔ� § �¡��·�¢³ ��·

ã2(t, h) − a2(t) = ã1(t, h) − a1(t) +
hd1(t)

a2(t) − a1(t)
+ O(h2),

a1(t + h) − ã1(t, h) = a2(t + h) − ã2(t, h) +
hd2(t)

ã1(t, h) − ã2(t, h)
+ O(h2).

�Ô µÄ��
æ��©�¢³ ��· ��� �¥©�¥�² �� ��©©²

ξ(t, h) = a2(t + h) − ã2(t, h) + ã1(t, h) − a1(t) + O(h2).
�Ô µÄß�

à����� ¢³ ²¥ � ��·¶ �� �¬�©¤©�¤ � �  ¡¤� �¤³ ²¥ ­¢©°¥³ ®
ξ(t, h)

¢�· °¢³ ��·
a2(t + h) − a2(t) = ξ(t, h) +

hd1(t)

a2(t) − a1(t)
+ O(h2),

�Ô µå÷�
a1(t + h) − a1(t) = ξ(t, h) +

hd2(t)

ã1(t, h) − ã2(t, h)
+ O(h2).

�Ô µå Ã�
ø��¤� ����¥�¤�· �«�¶�©�� ­¢©°¥³ �

φ1(z)
�
φ2(z)

φ2 ◦ φ1(z) = φ1(z) + a2(t + h) − ã2(t, h) +
hd2(t)

φ1(z) − ã2(t, h)
+ O(h2) =

= z +
hd1(t)

z − a1(t)
+

hd2(t)

z − ã2(t, h) + ã1(t, h) − a1(t)
+ ξ(t, h) + O(h2).

�Ô µåÅ�
Äê



à�ª ¡¤� �¤�· ª� �Ô µÄÄ� � �¡��·�¢³ ��·
gt+h(z) − gt(z) =

hd1(t)

gt(z) − a1(t)
+

hd2(t)

gt(z) − ã2(t, h) + ã1(t, h) − a1(t)
+ ξ(t, h) + O(h2).

�Ô µåÄ�
Ê¤ ¡®�©�� ª������· �����

h
� ����¥¨�ª���· �

h → 0
§ �¤� �®¡¤³ ²¥ ¶� � ¡�³ ´�¤©�¥·

ã1(t, h) →
a1(t)

��¤�
ã2(t, h) → a2(t)

µ â¡²ª �¡��·�¢³ ��· �¬�©¤©��

ġt(z) =
d1(t)

gt(z) − a1(t)
+

d2(t)

gt(z) − a2(t)
+ lim

h→0

ξ(t, h)

h

�Ô µåå �
�¤�¢©�° ©��� ¤���¤¥³ � �Ô µÔ� �·� ¤´¤ �· ���¤  ¡��©¤ ¡�´� �¬�©¤©�¤ ª²¶· «¤ ª� ÷ ���·

z → ∞ µæ�¤ �����  �� ¥� «�©· ��¤��³  ¡��©· �¬�©¤©�¤ ª²¶² � ¡�³ ´�¤©�¥· ª� ���¤ § �¢ ��· �¤¡�� ���·³ ²¸
lim
h→0

ξ(t, h)

h
= 0,

�Ô µåÔ�
��®¥ � ¡¤¡�¥�©�� �¬�©¤©�� ©¤

gt
�¤ �� ¡¤¸

ġt(z) =
d1(t)

gt(z) − a1(t)
+

d2(t)

gt(z) − a2(t)
.

�Ô µåè�
æ����²¥ �¬�©¤©�¤ �Ô µå÷� § �Ô µå Ã� �����

h
§ ����¥¨�ª�²¥ �

h → 0
� � �ª ¡¤� �¤³ ²¥ �Ô µåÔ� �¡��·�¢¯³ ��· �¬�©¤©�¤ ©¤

a1(t)
�
a2(t)

�� ¡¤¥�

ȧ1(t) =
d2(t)

a1(t) − a2(t)
,

�Ô µåê�
ȧ2(t) =

d1(t)

a2(t) − a1(t)
.

�Ô µå��
�¤�¤¶�· ¶� ©�� �· «� �¥�·� � ¡� ¥�· ����¢¥³ ¤ � � � ¡¤¸ �¬�©¤º ©�� � ®ª��� �¤��¶�¸ �ª ���·³ ®¡�³°���³ ©�±¥�  ° «¤ª¤©�¤ � �Ô µÄÄ� § ¤��  ·� �¡��¤ �¬�©¤º �Ô µåè� § �Ô µåê� § �Ô µå�� ��°¤�¢³ � �¶ ���·�ª���¡©�³ °���³©�±¥� ¢�· °¤���·±�· �ª�©¡·¥�©� �¬�©¤©�¤ µø�¢ª©�±¸ ¡�³ � �¡�ª· ����´¤ ©¤ ��¤°¢ �n���¥�¡� ­���· ­¢©°¥³ �

ã1(t, h)
�

ã1(t, h)
� �Ô µÄå � µà���ª ¡¤� ��· ¡��¤� ¤�¡��©¤¡·�©² � �¡�ª® �·����¤ª��©�¤ � ��·¶ �·¥¨ �¬�©¤º µ �¤¢�¤¶�· ¶�� ª�° «¤ª©�±¥�² ª� ¥� «�©¬�

O(h2)
��¶��· �¤�� ¤¸ ­¢©°¥³ �

φ1
§
φ2

� �� ¡¤¥�
φ1(z) =

√

(z − a1(t))2 + 2hd1(t) + a1(t),

φ2(z) =
√

(z − a2(t + h))2 + 2hd2(t) + a2(t + h),
�Ô µåß�

´ª���
a2(t + h) = φ1(a2(t)),

�Ô µÔ÷�
a1(t + h) = φ2(a1(t)).

�Ô µÔ Ã�
à�ª ¡¤� �¤�·

φ1
§
φ2

���� �©�®¡� �  ����´ ª� ¥� «�©¬� ��© ���·¥¨ �
h

φ1(z) = z +
hd1(t)

z − a1(t)
+ O(h2),

φ2(z) = z +
hd2(t)

z − a2(t + h)
+ O(h2),

�Ô µÔÅ�
Ä�



ª� �¬�©¤º �Ô µÔ Ã� § �Ô µÔ Ã�
a2(t + h) = φ1(a2(t)) = a2(t) +

hd1(t)

a2(t) − a1(t)
+ O(h2)

�Ô µÔÄ�
a1(t + h) = φ2(a1(t)) = a1(t) +

hd2(t)

a1(t) − a2(t + h)
+ O(h2),

 °²ª � �ª¤¸ ¶� � � ����³ ±¥�¢ �
h → 0

�¡��·� ¤�· �¬�©¤©�¤ �Ô µåê� § �Ô µå�� µ é �¡�ª¤ ³ � ¡ ��� ¡¯ �¤ § ¤ °�º¥��� �¬�©¤©�¤  ² ¡¤°��  ¤� � µ à��� ¡¤³ � �·����¤ª��¸ ¡² � �¡�ª² �¬�©¤©�� ��� ¢³ ²¥��¤� �¤©®
gt

� ¥�¤ �� µ / ¤�ª�� ¢¶·¡�¥�©· � ®ª��� � ¡·� ������� �� ©¤ ¡®�¢³ ²¥· ��� ¤¡ § ©¤ °¡¬�·� ®ª����·  �® �¬�©��¶ � ���«·�¤¸ � ª¤� ��³ ¥�®±¥� ��¤¥·µ
ÙÝóÚÑ Ê ��¥¨

z ∈ C, h ∈ R, a ∈ R
§ ¤

f(z, a, h)
� ®ª��� ¨���� ���¥�©² ­¢©°¥³ ² �� ��©©�³�� � ���©�³

z
µ à�©¤ª¡�

f
³ � ¡ ¥�²´ «¤ ��¤� � � �¥¨�ª©·� � ¥�² ¡°��·� � �����  ��´� ��®ª¢ � � � �¤ª¤©¤ ¡®�¢³ ²¥� � «¤ ©�±¥�

f(z, a, 0) = z,

∂f

∂z
(z, a, 0) = 1.

�Ô µÔå �
�����¤ª*�· ��©¤¥��©��

fh
k (z) ≡ f(z, ak, h),

�Ô µÔÔ�
´ª��� ª�¤ �¬¶©·¥¨

k
§
ak

�¤³ ² �¬¶©� �¤�¡�±¥� µ � ¬�¥�¤ 
d

dh
fh

n ◦ fh
n−1 ◦ . . . ◦ fh

2 ◦ fh
1 (z)

∣

∣

∣

∣

h=0
=

n
∑

i=1

∂fh
i (z)

∂h

∣

∣

∣

∣

∣

h=0

.
�Ô µÔè�

} Øîÿí â��¤�ª*�· ©¤³����� ¡��® ª�¤
n = 2

d

dh
fh
2 ◦ fh

1 (z)

∣

∣

∣

∣

h=0
=

∂fh
2

∂h

(

fh
1 (z)

)

∣

∣

∣

∣

∣

h=0

+
∂fh

2

∂fh
1

∂fh
1

∂h
(z)

∣

∣

∣

∣

∣

h=0

.
�Ô µÔê�

�
f0
1 (z) = z

� ∂fh
2

∂z

∣

∣

∣

∣

h=0
= 1

�¤�·

d

dh
fh
2 ◦ fh

1 (z)

∣

∣

∣

∣

h=0
=

∂fh
1 (z)

∂h

∣

∣

∣

∣

∣

h=0

+
∂fh

2 (z)

∂h

∣

∣

∣

∣

∣

h=0

.
�Ô µÔ��

æ¤� �· ª��¬ª ����� �©ª¢°¥³ ® µ �¤«¬¶�·§ ¶�
d

dh
fh

n−1 ◦ . . . ◦ fh
2 ◦ fh

1 (z)

∣

∣

∣

∣

h=0
=

n−1
∑

i=1

∂fh
i (z)

∂h

∣

∣

∣

∣

∣

h=0

.
�Ô µÔß�

ç���� ��· ¡��¤� ���²  ¡��©® ¡� ���ª��©�¤
d
dhfh

n ◦ fh
n−1 ◦ . . . ◦ fh

2 ◦ fh
1 (z)

∣

∣

∣

h=0
=

∂fh
n

∂h

(

fh
n−1 ◦ . . . ◦ fh

2 ◦ fh
1 (z)

)∣

∣

∣

h=0
+ ∂fh

n

∂fh
n−1

d
dhfh

n−1 ◦ . . . ◦ fh
2 ◦ fh

1 (z)
∣

∣

∣

h=0
.

�Ô µè÷�
Äß



»©¤��´�¥�©�� ª� ���·�¤ª°¢
n = 2

�¤�·
f0

n−1 ◦ . . . ◦ f0
2 ◦ f0

1 (z) = z
� ∂fh

n

∂z

∣

∣

∣

h=0
= 1

§  ¡²ª
d

dh
fh

n ◦ fh
n−1 ◦ . . . ◦ fh

2 ◦ fh
1 (z)

∣

∣

∣

∣

h=0
=

∂fh
n (z)

∂h

∣

∣

∣

∣

∣

h=0

+
n−1
∑

i=1

∂f0
i (z)

∂h

∣

∣

∣

∣

∣

h=0

.
�Ô µè Ã�

¥ µ� µª µ� µ��¬¸�· ¡��¤� ª� �·����¤ª��©�¤ �¬�©¤©�¤ ©¤
gt

� �·°���· ¡¤©��� ���·¶ ��´� ��� ¤¡¢ µ�¤¢�¤¶�·§ ¶� ­¢©°¥³ �
φ1

�
φ2

ª¤©� ����� Ô µåß §  � �«©�¤³ ² �¤«�¶�©�¤ ��� ¤¡¢ § �¤¡��
φ2 ◦ φ1(z) = z +

hd1(t)

z − a1(t)
+

hd2(t)

z − a2(t)
+ O(h2).

�Ô µèÅ�
� «�¶�©�� �Ô µÄÄ� ª¤³ �

gt+h = gt +
hd1(t)

gt − a1(t)
+

hd2(t)

gt − a2(t)
+ O(h2),

�Ô µèÄ�
¤  ¡²ª ³¢¶ �·©�°¤ �¬�©¤©�� £���©��¤ ª�¤ ª�¬¥¨ �´�� « µ
þØÖî ú£ÖÚñúÚ ãª ¡�´� �¤�¤´�¤­¢ ����ª ¡¤� �¤¸ � ®ª����· ���¤ �·©�°¤� � ¤©¤��¡·¥�©·� � § �¬�¯©��¶ �·©�°� ©¢� ��·¥�©� ¢�· °¤©� � �¡�ª² ��� ¤©² � �¤«²¥�©�°¢ » µ ä�ª ���´�¤�¢ �©¤³ª¢³ � �® � �¤«²¥�©�°¢ / µ �¤¥�©�³�· �ª ���·�¤ª°¢ ª�¬¥¨ �´��« ��  ¡¤«·� ¥�·©©�°��� ���� ¡¢

d = 1
µä  �¡¤«¡ �´�� « ¢�· °¤©· ©¢� ��·¥�©�� � �¤�¢©°��� ��¥�²¡°��·�

a1(0) = 0.1 = −a0(t)
����ª¯ ¡¤� �¤ �· ¢©�° �Ô µè� µ� ��¥�²¡°���³ ­¤��� ����¢¥³ � �´ «· �� ©² ��� ¡� § ©�� �ªª��¤«¢³ ²¥ ©¤  ����� µÊ¤ ¡®�©�� ���� �¥�·©¤  �® ­¤�¤ �ªª��¤«·�¤©�¤ ¯ �´ «· �ª´�©¤³ ²  �® �ª  ����� � �� ©² ª¤��³ ���¯ ¡� § ¡����²¥ � � �² ���¥�·� � ¡² �¬�©� �  ¡¤«� °²¡·µ �¤¥¨��¤©�� ¡� ³ � ¡ ©���¤��¶©� �ª �¤�¢©°¢��¥�²¡°���´� § �´ «· �¤�  �� ª²¶·¸ � ®ª² ª� ¡·¥¨  ¤�·¥¨ °²¡¬� ©¤¥¨·��©�¤ µ
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y

x

ç· ¢©�° Ô µè � ä �¡¤«¡· ª�¬¥¨ �´�� « �� ©²¥·¥¨ ©¤ �¬«� «¤ �¥�·*©�� ��  ¡¤«·� � ¥�·©©�°¤� � ����¯ ¡¢
d = 1

µ �¤�¢©�° � �¥�²¡°��· ¡�
a1(0) = 0.1 = −a2(0)

µ
Ê �� ª¤  �® �·�©¤¥�·¸ ¤©¤��¡·¥�©·¥¨ °��·�·¥¨ ��� ¢³ ²¥·¥¨ ° �¡¤«¡· ª�¬¥¨ �´�� « § ©¤¡�� �¤ ¡�¥¨ ¤ ·��¡�¡·¥�©� °²¡· ©¤¥¨·��©�¤ �©¤��*¸ � �¶©¤ � ���·¥³ � �Åå � � ª�¤ ���·�¤ª°¢ ª�¬¥¨ �´�� «³ � ¡ ¡� °²¡

α = 2/5 π ≈ 1, 256
¥� �´¤ª�¤  �® � �¡��·� ¤©·� �·©�°��� ©¢� ��·¥�©·�

1.261 ±
0.01

µ �� ¡�±�· ¡¤°¶� �  ¡¤©�� �·�©¤¥�·¸ �¤��¶©�±¸ �ª ¥�¤ ¢ ���¤�¬� ¥�¢�°¬� �´��« ¥�·��
a1(t)��¤�

a2(t)
µ ã´¬�©· ���·�¤ª�° �¢¥¨¢

n
���´¢©¬� ©¤ �¬«� «¤ �¥�·*©�� ��  ¡¤«·�

d
�� ¡¤« �¬�©��¶

å÷



���� �²�¤©· � ���·¥³ � �Åå � µ ø¢¡¤³ �©¡��� ¢³ � ©¤  �· «²¥�©�� ���·�¤ª�°
n = 2

µ ���¤©¤ � ¥�¤ ��
a1(t)

��¤�
a2(t)

��� ¤©¤ ³ � ¡ �¬�©¤©�¤� � �Ô µåê� � �Ô µå�� µ æ �ª¤³ ²¥ � �ª�³�¢³ ²¥ ³ �  ¡��©¤� � �
d1(t) = d2(t) = 1

ª� ¡¤©���· ¢° «¤ª �¬�©¤º �
ȧ1(t) + ȧ2(t) = 0

�Ô µèå �
ȧ1(t) − ȧ2(t) =

2

a1(t) − a2(t)� �ª�¥�©¤ � �¤´¤ª©��©�¢  ·� �¡��¤ ����³ ¤� �¤  �® �  ¡¤«�±¥� �±��ª°¤ ¥�®¶°�±¥�� ���´¢©¬� ¥�·��
(a1(t) + a2(t))/2

µ ¹° «¤ª ª¤³ �  �®  ����¤ª��¸ ª� ��� ¢ ����� ³ �ª©² �� ��©©²
a(t) = 1/2(a1(t)−

a2(t))
µ � ¬�¥�¤ 

a1(t) = a(t)
�
a2(t) = −a(t)

§ ¤ �¬�©¤©�� ©¤
a(t)

�¤ �� ¡¤¸
ȧ(t) =

1

2a(t)
.

�Ô µèÔ�
ç��� �²�¤©��� ���·¶ ��´� �¬�©¤©�¤ � �¤�¢©°��� ��¥�²¡°��·�

a(0) = a0
³ � ¡

a(t) =
√

a2
0 + t

µ/ ��´¢©· �¤¡�� �ªª¤�¤³ ²  �® �ª  ����� ©¤ � � ���¥�·� � ¡�³ § ¥�· �¤¡�� �´ «· � ®ª² �©� � �´ «·�·�¤�����¤¸. � ���·�¤ª°¢  ¡¤«·¥¨ ¥�·©©�°¬� ���� ¡¢ �­�°¡ �·�¤���¤¥³ � © �� ³ � ¡ � �¶���·§´ª·¶ ¥�·©©�° ���� ¡¢ � ��®ª°�±¸ �¤��³ ¤©�³ �´ «· � ¤³ ² ª²¶·¸ ª� ���¤ µ à��·  ¡¤«·¥¨ ¥�·©©�°¤¥¨���� ¡¢  ·¡¢¤¥³ ¤ ³ � ¡ � �®¥� �ª���¡©¤ § � �©���¤¶  ¡¤«· ¥�·©©�° ���� ¡¢  ¡¤�����¢³ � ¢° «¤ª µ à�¯°¤�¢³ � ¡� ©¤ ¡®�¢³ ²¥� ���¢� ��¤©�� µ 0ª· �´ «¤
1
�©¤³ ª¢³ �  �® � ���·¥³ � § °¡¬�¤ � ���·�¤ª°¢�¤��¤¥� ¦��  °�� ª¤�¤«¤ �· ³ �³ �©��³  �² ��®ª°�±¸ ©�¶ �´��

2
�©� µ ³ � ¡ °�¬¡ �¤�

v1 < v2,
�Ô µèè�

�¬�¥�¤  �� ����¢ �Ô µß� ª�¢´¤ � �¥¨�ª©¤ ­¢©°¥³ �
f
� �ª��� �¤ª¤³ ²¥·� ³ �³ ���´¢©�� ³ � ¡ ���¤¯¡·�©�� � �®° �¤

|f ′′(a1)| > |f ′′(a2)|
�Ô µèê�

â°��� ���·�� ¡ ©¤ ¡®�¢³ � � ��®ª°�±¥�²
f ′′

t (a(t)) · d(t)
§ ¤

d(t) = 1
¡� �´ «¤

1
� ®ª��� ª�´¤©�¤¸�´ «®

2
µ ¹° «¤ª�� § � °¡¬�·� ��´���·±�·  �®  � �ª����¤¸ �·�¤���¤¥³ � § ³ � ¡ ¢° «¤ª ª�¬¥¨ �´�� « ©¤� ¬«� «¤ �¥�·*©�� � �¤��¤¥� ¦��  °�� ¥�·©©�°��� ���� ¡¢ µ ç· ¢©�° �Ô µê� ����ª ¡¤� �¤ ¢�· °¤©·©¢� ��·¥�©�� �¢¥¨ ³ �ª©�´� � ���´¢©¬� �ª�¢´� ³ � ¡  ·� �¡�·¥�©· � § ��¤� �¤��¶©�±¸ �· �°�±¥� �ª¥�¤ ¢ ��ª�©¡·¥�©² ³ ¤° ª�¤ ª�¢´��³ �´ «· � µ / ��´¢©· �ªª¤�¤³ ²  �® �ª  ����� § ³ �ª©¤° �¥¨ �¢¥¨ � ¤�©©· ¥¨¤�¤°¡�� ©�¶ ����� �¤ ¡°��¤ �¤��¶©�±¸ � ¥�¤ �� ª�¤  ¡¤«·¥¨ ¥�·©©�°¬� ���� ¡¢ µ �· �°�±¸��¢ �´�� « ³ � ¡ ¡¤°¤  ¤� ¤ µÊ �� �· ¡®�¢³ � �·�¤���¤¥³ ¤ µ / �¤° �­�°¡¢ ¨¤� ��¤©�¤ ³ �ª©�³ �´ «· ����� ª�¢´² � �ª¤¸ �¬�©��¶©¤ �¤��¶©�±¥� ��®ª°�±¥� ���� ¡¢ �´�� « �ª ¥�¤ ¢ ����ª ¡¤� ��©�³ ©¤ �· ¢©°¢ �Ô µ�� µ / �¤° �­�°¡¢�·�¤���¤¥³ � ©¤ � ����� �� ª�¬¥¨ �´�� « ©¤ � ¬«� «¤ �¥�·*©��  � ���ª��¤©· ³ � ¡ ��¤°��� ��¥�©·¥¨�´�¤©�¥��º ª�¤ �´�� « µ � ��·¥�©·¥¨ ���·�¤ª°¤¥¨ �´ «· ©�´ª· ¢¥��°¤¸ ª� ©�� °�º¥��©�±¥� © ��� �´² § � � ¢° «¤ª· �¤�  ��  ² �´�¤©�¥��©� § ¤ �� «·� ±¥�¤©�° � �¥�©·¥¨ ©�� � �¶� �·¸ �¤©��ª�¤©·µà� ¡¤�¤�·  �® ¡��¤� ��¤ª¤¸ ¥�· ª�¤ � �®° ��³ ���±¥� �´�� « ©¤ � ¬«� «¤ �¥�·*©�� �·�¤���¤¥³ ¤ � �¶��· ¡²��¸ µ

å Ã



 0

 0.5

 1

 1.5

 0  0.5  1  1.5  2  2.5  3

a

t

 0

 0.5

 1

 1.5

 2

 2.5

 0  0.5  1  1.5  2  2.5  3

l

t

ç· ¢©�° Ô µê � ç¢¥¨ ³ �ª©�´� � ���´¢©¬�
a
��� ����³ � ��¤� ª «¢´�±¸

l
³ �ª©�³ � �´�� « ��� ��¤��³ �� ­¢©°¥³ � ¥�¤ ¢ § ª�¤ ª�¬¥¨ �´�� « �� ©²¥·¥¨ ©¤ �¬«� «¤ �¥�·*©�� � �¤��¤¥� ¦��  °�� ¥�·©©�°������� ¡¢ µ
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v

t

ç· ¢©�° Ô µ� � �¤��¶©�±¸ ��®ª°�±¥�
v
³ �ª©�³ � �´��« �ª ¥�¤ ¢ § ª�¤ ª�¬¥¨ �´�� « �� ©²¥·¥¨ ©¤�¬«� «¤ �¥�·*©�� � �¤��¤¥� ¦��  °�� ¥�·©©�°��� ���� ¡¢ µ ãª��� ��ª©� �·°��  ª�¤ ª�¢´��³ �´ «·³ � ¡ �ª�©¡·¥�©·µ

; "3 " < �xz�z� 8� xz |� y %� x � %� ��� ?
¹�´¬�©��©�� ª�¢´��³ � �¡�ª· ©¤ ���·�¤ª�°

n ∈ N
�´�� « © �� �����¤ª�¤ ©��·¥¨ § � ��¤ ©�¡¤¥³ ²������� ¬� µ â�¢°¤�· �¬�©¤©�¤ ©¤

gt
ª�¤

t ≥ 0
� ®ª²¥�´� °�©­����©·� �ª������¤©���

gt : C+\ (Γ1 ∪ Γ2 ∪ . . . ∪ Γn) → C+
�Ô µè��

��ª©��©¤¥�©�±¸ ¢�· °¤�· � �¤�¢©°¢ �Ô µÔ� µ ã�©¤¥��· �����
γk(t), k = 1, 2, ..., n

�����¥¨�«°�«¢°¬�
Γk(t)

µ ã�©¤¥��©�¤ ¤©¤��´�¥�©� ª� ���·³ ®¡·¥¨ � ������ª©�� �¤�¤´�¤��
ft : C+ → C+\ (Γ1 ∪ Γ2 ∪ . . . ∪ Γn)

ft ◦ gt = gt ◦ ft = id , t ≥ 0

ak(t) = lim
ε→0

gt(γk(t) + iε), k = 1, 2, ..., n.
�Ô µèß�

»©¤���¢³ ²¥ �ª������¤©��
gt

ª�¤ ¥�¤ ¬�
t
�
t + h

����¤¶¤�· �«�¶�©�� � � ¡¤¥�
gt+h = φn ◦ . . . ◦ φ2 ◦ φ1 ◦ gt + O(h2).

�Ô µê÷�
åÅ



�ª�® °�© ¡�¢°¥³ � �ª������¤©�¤ ©¤
n
�´�� « ����ª ¡¤� �¤ �· ¢©�° Ô µß µ à�³ ¤� �¤³ ²  �® ¡¤� ��©¤¯

ç· ¢©�° Ô µß � �ª�¤ °�© ¡�¢°¥³ � � «�¶�© �¤ ª�¤
n
�´�� « µ ��¢ ¡�¤¥³ ¤ �¤ �Åå � µ

¥��©�¤ ª�¤
j, k = 1, 2, ..., n

a0
j = aj(t)

ak
j = φk(a

k−1
j )

an
j = aj(t + h)

�Ô µê Ã�
Ê��� ¤���¢³ ²¥ � �³ �ª·©¥�² ­¢©°¥³ ®

φj
§ � ���·§ ¶�

aj
³ � ¡ ³ �³ �¢©°¡��  ¡¤«·� § ���¢� �¤©·� � �© �� ©¤ ¡®�¢³ ²¥�³ ´�¤©�¥·

lim
h→0

lim
ε→0

φj(a
j−1
j − ε) + φj(a

j−1
j + ε)

2
= aj−1

j ,
�Ô µêÅ�

 ¡²ª
aj

j = aj−1
j .

�Ô µêÄ�
à� ¡¤¸ ­¢©°¥³ �

φj
¡�

φj(z) =
√

(z − aj
j)

2 + 2hdj(t) + aj
j .

�Ô µêå �
Æ¢©°¥³ �

φj
 � �«©�¤³ ² �¤«�¶�©�¤ ��� ¤¡¢ � � �¥¨�ª©�³ � «�¶�© �¤ § �¤¡�� ���� �©�®¥�� ª� ¥� «�©¬���© ���·¥¨ �«�¶�©�¤ �Ô µê÷� �¤ �� ¡¤¸

gt+h(z) = gt(z) +
n
∑

i=1

hdi(t)

gt(z) − ai(t)
,

�Ô µêÔ�
´ª·¶ ���·

h → 0
§
aj

j → aj(t)
µ �©¤³ ª*�· ³ � �¥�� �¬�©¤©�� ©¤ ­¢©°¥³ �

a
µ � «�¶�©�� �¢��´�®ª©�¤¯³ ²¥� ©��� ¤���¤¥³ ®� ª�¤

j = 1, 2, ..., n
�¤ �� ¡¤¸

aj(t + h) = φn ◦ . . . ◦ φj+1 ◦ φj−1 ◦ . . . ◦ φ2 ◦ φ1(aj(t)) + O(h2)
�Ô µêè�

â¡²ª ���� �© �®¥��
aj(t + h) = aj(t) +

n
∑

i=1

i6=j

hdi(t)

aj(t) − ai(t)
.

�Ô µêê�

åÄ



à���¥¨�ª�²¥ � �¬�©¤©�¤¥¨ �Ô µêÔ� � �Ô µêê� �
h
ª� ���¤ �¡��·�¢³ ��· �¬�©¤©�� £���©��¤ ª�¤

n�´�� « ©¤ � ¬«� «¤ �¥�·*©��

ġt(z) =
n
∑

i=1

di(t)

gt(z) − ai(t)
,

�Ô µê��
��¤� �¬�©¤©�� ©¤ �¢¥¨ ���´¢©¬� �ª��� �¤ª¤³ ²¥� ´��ª��·³ ©·� �´ «��

ȧj(t) =
n
∑

i=1

i6=j

di(t)

aj(t) − ai(t)
.

�Ô µêß�

à��·¶ �¤ ���¥�ª¢�¤ ³ � ¡ �¤�ª�� ¢©���� ¤�©¤ ���· �·����¤ª�¤©�¢ �¬�©¤º £���©��¤ § ª�¤¡�´����· °���³©·¥¨ �·����¤ª��©�¤¥¨ � �� �³ ¤¸ � ®ª����· �� ®ª©�  �¥��´¬«· �� ¬� ��©� � ¡·� ���¯ª��¤�� µ

þØÖî ú£ÖÚñúÚ æ�¤ � �®° ��³ ��¥��· �´�� « ©¤ � ¬«� «¤ �¥�·*©�� ��ª ¡���¥¨ � �­�°¡· �·�¤���¤¥³ �  ²� �ª�¥�©� � ­¤°¡·¥�©�� �¤��¤¥� ¦��  °�� ¥�·©©�°� ���� ¡¢ ��¤� ��®ª°�±¥� ����´�·�¤³ ²¥·¥¨ �´�� « �¤ª¤³ ² ª� ���¤ µ ç· ¢©�° Ô µÃ÷ ����ª ¡¤� �¤ � ��¬�©¤©�� ©¢� ��·¥�©·¥¨ ¡�¤³ �°¡���� ¡���¥¨ �´�� «©¤ � ¬«� «¤ �¥�·*©�� ��  ¡¤«·� � � �¤��¤¥� ¦��  °�� ¥�·©©�°¤� � ���� ¡¢ µ
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y

x

ç· ¢©�° Ô µÃ÷ � ä �¡¤«¡· ¡���¥¨ �´�� « �� ©²¥·¥¨ ©¤ �¬«� «¤ �¥�·*©�� ��  ¡¤«·� � ¥�·©©�°¤� � ����¯ ¡¢
d = 1

��� ����³ � � �¤��¤¥� ¦��  °�� � ¥�·©©�°¤� � ���� ¡¢ ��� ��¤��³ � µ
� ���·�¤ª°¢  ¡¤«·¥¨ ¥�·©©�°¬� ���� ¡¢ �´ «· � �¥�²¡°��� �� ©² ��� ¡� § ¤ ´ª· �¤¥�·©¤³ ²©¤  ����� �ªª��¤«·�¤¸ �ª¥¨·�¤³ ²  �® �ª  ����� µ »  ·��¡�¡·¥�©�� �� ©² ��� ¡� � ¤³ ²¥  ¡¤«� °²¡·©¤¥¨·��©�¤ ��´�®ª�� � � ���¥�·� � ¡�³ � �¤�¡�±¥� 1

4

(

1 + 3√
57

)

π
§ ¢�· °¤©· ¤©¤��¡·¥�©�� � �Åå � µ� ���·�¤ª°¢ �¤��¤¥� ¦��  °�� �· ¡®�¢³ � �·�¤���¤¥³ ¤ µ à�¥�²¡°��� �´ «· �� ©² �ª�©¡·¥�©�� § ���¯ ¡� § � � ¥�·� � ­¤��� �ªª��¤«·�¤©�¤ ±��ª°��¤ �´ «¤ �¤¡��·�¢³ �  �® µ �·´�·�¤³ ²¥� �·�¤���¤¥³ ®ª� �� �´ «· ª����²  �® ���� ¡���©�² § ¡¤° ³ ¤°�· ±��ª°���³ ©�� �· «� § ¢�· °¢³ ²¥ ¤ ·��¡�¡·¥�©�� °²¡·©¤¥¨·��©�¤ ��´�®ª�� � � ���¥�·� � ¡�³ ³ ¤° ª�¤ ª�¬¥¨ �´�� « � ���·�¤ª°¢

d = 1
à���´�·�¤©��±��ª°���³ �´ «· ���¤�¢³ � �·°��  ��®ª°�±¥� � ­¢©°¥³ � ¥�¤ ¢ ©¤ �· ¢©°¢ Ô µÃÃµ æ� �� �·´�·�¤³ ²¥��´ «· � �®ª�·  ��² ³¢¶ ©�� �·�¤���¢³ ² µ �·¡«¢� ¤¥�·¸ ¡� � �¶©¤ �·©�°��� ¢�· °¤©·� � �Ãß� § ¥�·�� ¡¤���©�±¥�² � ¤° ·� ¤�©��  ��±¥�¢ �´�� « ©¤ � «¤ �¥�·*©�� �·�¤ ¡¤³ ²¥·¥¨ � �¢©°¡¢ µ ø�¤°¡¢³ ²¥ �±���¥�·� � ¡² ³ ¤°� ª� �� �´ «· � �ª��³ ¤³ ²¥ ´¬�©² � ¬«� «¤ �¥�·�©® ©¤ ª��©² § � ���·�¤ª°¢ ª�¬¥¨ �´�� «¢�· °¤�· ¤ ·��¡�¡·¥�©��  ¡¤���©· ¢° «¤ª  ��±¥�¢ �´�� « µ æ �¤ ¡���¥¨ �´�� « � � �ª��¥�¢ ¢�· °¤�·� ��� § ¥�·�� ª� �� � ©�¥¨ �³ �ª©¤ ©¤ �¬«� «¤ �¥�·*©�� � � ®ª² �¢ �¤«· ����´�¤¸ �·�¤���¤¥³ ® µ

åå
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ç· ¢©�° Ô µÃÃ � à�®ª°�±¥� ���� ¡¢ ¡���¥¨ �´�� « ©¤ � ¬«� «¤ �¥�·*©�� µ à�®ª°�±¥� � �¥�©·¥¨ �´�� «  ²�ª�©¡·¥�©� ���© �¤ ¥�²´ «¤� µ ¢��ª°��¤ ���© �¤ �����·�¤©¤� ��¥�²¡°��� �� ©²¥¤ �ª�©¡·¥�©�� ³ ¤°�´ «· � � � �°¤¥¨ § ����´�·�¤ �·�¤���¤¥³ ® � ³ �³ ��®ª°�±¸  �¤ª¤ � ¥�¤ �� ª� ���¤ µ
â·¡¢¤¥³ ¤ � �� �©©¤ �©¤¥�²¥� �� ��©�¸  �® ���· ����³ ±¥�¢ ª� ´��� �¡��� °¤©¤«¢ µ /�¥�©� ±¥�¤©°��´�¤©�¥�¤³ ² ���� ¡���º ª�¤ �´�� « ��¢ �¤³ ²¥ ³ � ª� °�©°¢��©¥³ � § ����� ¥�  � �ª����¤¸  �® � ®ª����·�­�°¡¢ �·�¤���¤¥³ � ³ ¢¶ ª�¤ ª�¬¥¨ �´�� « µ
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�·����¤ª��©� � ������ª©�� ���ª��¤�� �¬�©¤©�� £���©��¤ ©�� ³ � ¡ ³ �ª·©·� �¬�©¤©��� ¡�´�¡·�¢ µ � ��¬� ��©·� ª�¡·¥¨¥�¤  ���·�¤ª°¢ �´ «· �¤¥�·©¤«·  �® � ª����©·� �¢©°¥�� � � ���¥�·¯� � ¡�³ � �� «· � �� �¤��� � ¬«� «¤ �¥�·�©·µ � �¬*©��³  �·¥¨ ��¤¥¤¥¨ � �³ ¤� �«·  �® ��� ³ � ¡�´� �¬�¯©¤©�¤ ª�¤ �©©·¥¨ ´��� �¡��� µ� ¡¤° ©� µ � ���·¥³ ¤¥¨ �Åå � § �Åè� § �Åê� ��¶©¤ �©¤��*¸ ���¬¥� �¬�©¤©�¤ª�¤ � ¬«� «¤ �¥�·�©·§ �¬�©¤©�� ª�¤ �´�� « �� ©²¥·¥¨ � �� �¤���
D = {z ∈ C :

��
(z) ∈ ] 0, π [ }� �¤¥�·©¤³ ²¥·¥¨  �® ©¤ � � ���¥�·� � ¡�³ �¡�� µ ª�� ��¤� £���©��� § �´�� « �� ©²¥·¥¨ � �� �¤���

W = {z ∈ C : |z| > 1} �¤¥�·©¤³ ²¥·¥¨  �® ©¤ �°�®´¢ ³ �ª©� ¡°��·� �¡�� µ �¤ª�¤� £���©�����¤� � �� �¤���
A = {z ∈ C : ε < |z| < 1, ε ∈ (0, 1)} � �´ «¤� � �¤¥�·©¤³ ²¥·� �  �® ©¤ �°�®´¢ ����� ��©�¢

ε
�¡�� µ ¤©©¢�¤� £���©��� µ ç· ¢©�° è µÃ ����ª ¡¤� �¤  ¥¨�� ¤¡·¥�©�� �� �¤�· ���� ¡¢�´�� « ª�¤ ¥�¡���¥¨ �·� ��©��©·¥¨ �·¶�³ ���·�¤ª°¬� µ ã ��� ���·�¤ª�° �¤ª�¤�©· � �¶©¤ ¡�¤°¡�¯

ç· ¢©�° è µÃ � à��¬�©¤©�� �� �¤�¬� ���� ¡¢ �´�� « ª�¤ ���·�¤ª°¬� � ¤� �¬�©¤©�� £���©��¤ ª�¤� ¬«� «¤ �¥�·�©·§ � � ª�� ��¤� £���©�� § ¥� �¤ª�¤� £���©�� § ª � ¤©©¢�¤� £���©��
�¤¸ ³ ¤°� � �ª�� °�� ¬�°� á ���¯â¨¤�¤ � ¡�³  ¤� �³  ·� �¡��� § ¡� ��¤°¢³ � ��� ¢ �ª��� �¤ª¤³ ²¥�´����� ¡�� � £¤��¤¥� ¦¤ � ��� ¡�°²¡©�³ °�� ¬�¥� á���¯â¨¤�¤ µ ç¬�©¤©�� £���©��¤ ª�¤ � ¬«� «¤ �¯¥�·�©· ©�� ª¤³ � �¤ª��¤�¤³ ²¥�´� ��� ¢ § ´ª·¶ �� «·� ±¥�¤©�° � �¥�©·¥¨ ©�� ³ � ¡ �¤©��ª�·�¤�©·µ� ¡·� ���ª��¤�� �·����¤ª���· �¬�©¤©�� £���©��¤ ª�¤ ª�¢�·� �¤����´� °¤©¤«¢ � �ª��³ ¤³ ²¯¥·� � ±¥�¤©°¤� � � �¥�©·� � µ à��¥·�¢³ ²¥ § �©¡��� ��¤¸ ©¤  � ®ª��� ���� ¡ �´�� « � �ª¥�©°¤ �¯ Ã§Ã� ©¤�¬«�¤ °¢ § ����� ¥� ���¢� ���· ���¬�

P
�ª��©���¤©· � ©¤ ¡®�¢³ ²¥·  � � ¬�

P = {z ∈ C :
��

(z) > 0,
ç�

(z) ∈ ] 0, 1 [ } �è µÃ�
ç��� �²�·�¤¸ � ®ª����· �¬�©¤©�¤ £¤��¤¥� ¦¤ � ¡·� �� �¤��� � �¤�¢©°¤� � ����´��·� �

u = 0
©¤ª��©�³ � �ª ¡¤� ��

[−1, 1]
� �´ «¤¥¨ § ∂u

∂x = 0
©¤ ±¥�¤©¤¥¨ � �¥�©·¥¨ ��¤� ∂u

∂y = const
� ©�� °�º¥��¯©�±¥� µ ãª��� �¤ª¤ ¡� �¤�¢©°�� ����´��·� ©¤ ¥�±©��©�� � ��� ¡�°²¡©�³ °�� ¬�¥� á���¯â¨¤�¤ µä  �¡¤«¡ �� �¤�¢ � �¤�©¤¥��©·� � �¤�¢©°¤� � ����´��·� � ª�¤ �¬�©¤©�¤ £¤��¤¥� ¦¤ � �°¤�¤©·³ � ¡ ©¤ �· ¢©°¢ è µÅ µ / ��  ¡�¤¡· �´¬�©�±¥� �¤�¢©�° � ©�� °�º¥��©�±¥� � �¶��·  ����¤ª��¸ ª�

åê



ç· ¢©�° è µÅ � â¥¨�� ¤¡ �� �¤�¢
P

��¤©�´� � ¬«�¤ °��� § � �¤�©¤¥��©·� � �¤�¢©°¤� � ����´�¯�·� � ª�¤ �¬�©¤©�¤ £¤��¤¥� ¦¤ µ
∂u
∂y = 1

µ æ �¤ �¢ ¡�´� �¤ °¤ �� �� �´�� «� ���� �²�¤© �� �¬�©¤©�¤ £¤��¤¥� ¦¤ � ¤ �� ¡¤¸
u0(x, y) = y.

�è µÅ�
ø�  ¤� � ���� �²�¤©�� ³ � ¡ ¢¶·�¤©� ���· �·����¤ª��©�¢ ����¢ �Å µÅè� § ¤ �¤¡�� �¬�©¤©�� �Å µÅè�ª¤³ � �¤��¤¥� ¦��  °� ¥�·©©�° ���� ¡¢ ©�� ¡·�°� � ���·�¤ª°¢ �¬«� «¤ �¥�·�©·§ ¤�� � � ¬ «�¤ °¤ µ
= "#" < �xz�z� 8� xz |� y %� }  yz } �� ?�
â�¢°¤¸ � ®ª����· �¬�©¤©�¤ ©¤ ­¢©°¥³ ®

gt
ª�¤

t ≥ 0
§ � ®ª²¥² �ª������¤©��� °�©­����©·�

gt : P \ Γ1 → P
�è µÄ�

�����¤ª*�·§ ³ ¤° � �����ª©�� § ­¢©°¥³ ® �ª���¡©²
ft : P → P \ Γ1

ft ◦ gt = gt ◦ ft = id , t ≥ 0
�è µå �

ãª������¤©��
gt

³ � ¡ ³ �ª©��©¤¥�©� ª�¤ ª¤©�´�
Γ1(t)

� ª�° «¤ª©�±¥�² ª� ¤¢¡�� �����¢ � �®¥� ¡·� �¤��� ��¡����©· � ®ª��� �¤�¢©�° ©��� ¤���¢³ ²¥·§ °¡¬�· ¢ ¡¤�� ³ �ª©��©¤¥�©�� ­¢©°¥³ ® µà�©���¤¶ ©¤ ª��©�³ � �ª ¡¤� �� �¤ °¤ ¢¶·�¤�· �©©�´� �¤�¢©°¢ ����´���´� § ¡� ¥¨¥�����·±�·¤�· � ¤���¤©��
ft

��´«� �·¸ ��� �����©� ©¤ ¥�²´ «²  ¢�³ �°¥³ ® ª��©�³ � �ª ¡¤�·
ft : [−1, 1] →

[−1, 1] ∪ Γ1
§ ª�¤¡�´� ³ ¤°� �¤�¢©°� ©��� ¤���¤¥³ � ���·³� ���·

lim
z→−1

g(z) + 1 = lim
z→1

g(z) − 1 = 0
�è µÔ�

à�©¤ª¡� ¥¨¥��· ¤�· ±¥�¤©°� � �¥�©� � ¬«�¤ °¤ ����¥¨�ª��«· ©¤  ����� §  ¡²ª �·©�°¤ ¶²ª¤©���· �¢©°¡ � ©�� °�º¥��©�±¥� �· « �¢©°¡��  ¡¤«·� �ª������¤©�¤ µ ø� �¤�¢©°� ³ �ª©��©¤¥�©���°��±�² ­¢©°¥³ ®
gt
µ �¤° ��°¤¶��·§ � �¤�¢©°¬� ¡·¥¨ �·©�°¤ �¶

lim
y→∞

∂
��

[gt(x + iy)]

∂y
= 1,

�è µè�
å�



¤  ¡²ª § ¶�
lim

y→∞
∂u(x, y)

∂y
= lim

y→∞
∂u0(

ç�
[gt(x + iy)],

��
[gt(x + iy)])

∂y
= lim

y→∞
∂
��

[gt(x + iy)]

∂y
= 1,

�è µê�
¥�·��  � �«©��©· ³ � ¡ �¤�¢©�° ����´��· � ©�� °�º¥��©�±¥� µö¤«�±¸ �·����¤ª��©�¤ �¬�©¤©�¤ £���©��¤ ª�¤ � ¬«� «¤ �¥�·�©· �����¤«¤  �® ©¤ �ª������¤¯©�¢ �¥�²´¤³ ²¥·� � �± ���¥�·� � ¡² ¥¤«² �´ «® � ª «¢´�±¥� √

2hd
�� ©²¥² � °���¢©°¢ � � ¢��³ �©�³ µà� ¡¤�¤³�·  �® ¡��¤�  °�© ¡�¢��¤¸ ¤©¤��´�¥�©² ­¢©°¥³ ® ª�¤ � ¬«�¤ °¤ ��¥�²´¤³ ²¥²� ¡¤°²  ¤� ²�´ «® ¤�� � �ª¥�©�°

[ −1, 1 ]
� ¢��´�®ª©��©��� ³¢¶ ©¤ ¡·� ������ �� �¤�¢©°¢ ©��� ¤���¤¥³ � �è µÔ� µ�ª�® °�© ¡�¢°¥³ � ����ª ¡¤� �¤ �· ¢©�° è µÄ µ
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ç· ¢©�° è µÄ � �ª�¤ °�© ¡�¢°¥³ �
φ

à����  �� �ª������¤©�� ��©¤¥��©� ©¤ �· ¢©°¢ ����� � Ã� ����° �¡¤«¥¤ � ¬«�¤ �° ©¤ � ¬«¯� «¤ �¥�·�©® � �¤¥¨��¤©��� �¢©°¡¬�
A = −1

��¤�
E = 1

� ¡·�  ¤�·� � ��³  ¥¢ � ³ � ¡ ¡�­¢©°¥³ ¤
sin
(

π
2 z
) µ à¤� �®¡¤³ ²¥ § ¶� �· �°�±¸ �´ «· ³ � ¡ � ¤«¤ § ¥�·�� √

2hd << 1
��¶��· ����¥�·¸�· �°�±¸ �´ «· � � �¤ª��¤«¤©�¢ �����  �·� �ª������¤©��� � ���� �©�®¥�¤ �  ����´ ø¤·���¤ ª�¥� «�©¬� ��© ���·¥¨ �

h
�ª�¤ ¢��� �¥��©�¤ �¤�� ¢ � �� �³ ¤¸ � ®ª����· � ©�¡¤¥³ � �¤��¶©�±¸

d
�
a�ª ¥�¤ ¢

t
� µ
sin

(

π

2
(a + i

√
2hd)

)

≈
(

1 +
π2

4
hd

)

sin

(

π

2
a

)

+
iπ

2

√
2hd cos

(

π

2
a

)

.
�è µ��

�¤¡�� ��©¤¥�¤³ ²¥ ©��² �· �°�±¸ �´ «· ����� √
2hd′

�¡��·�¢³ ��·
d′ = d

π2

4
cos2

(

π

2
a

) �è µß�
�����¤ª*�· ¡¤°¶� (

1 + π2

4 hd
)

= β
µ ãª������¤©�� �Å� �¥�²´¤ �´ «® � �± ���¥�·� � ¡² § ¥�·��³ � ¡ ¡� ¢¶·�¤©¤ �¥��±©��³ ª� �·����¤ª��©�¤ �¬�©¤©�¤ ©¤ � ¬«� «¤ �¥�·*©�� ­¢©°¥³ ¤ § °¡¬�¤ � �¢��´�®ª©��© �¢ � Ã� �¤ �� ¡¤¸
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φ
¡�

φ(z) =
2

π
arc sin

[

2

ϕ(1) − ϕ(−1)

(
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=

=
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√
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(
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=
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(
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(
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=
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(
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=
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(
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(
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(
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(
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(
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(
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(
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(
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(
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(
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(
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π
2 z
)

− sin
(

π
2 a
)

)]

=

=
2

π
arc sin

[

sin

(

π

2
z

)

+ hd
π2

4

(

cos2
(

π
2 z
)

sin
(

π
2 z
)

− sin
(

π
2 a
)

)]

=

Ô÷



= z +
2

π

1
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(
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=
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φ(a(t)) ≡ lim
ε→0

φ(a(t) − ε) + φ(a(t) + ε)

2
=

= hd(t)
π
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(

π
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(

π
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)

− sin
(
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(

π
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)
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(

π
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(

π
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)

)

=
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π
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π
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√

2
√
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12
√
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a(0) = a0
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d = 1
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√
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π
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)

+ sinh2 (π
2 h(t)
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�
1
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(

π
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) � � �¬¥�¸ ©¤ �¤ �° ����� 2
π arc sin

µ » �¤¡�� ­¢©°¥³ ¤ �¥�²´¤³ ²¥¤ �´ «® ��· �°�±¥�
h(t)
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2
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

√
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π
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)
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)
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(

π
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)



 .
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�è µÄ÷�

�¬¶©�¥�°¢³ ��· �����  �· �¤�
f ′

t(gt(z)) · g′t(z) = 1
�è µÄ Ã�

� ª�¢´� �¤�
f ′′
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.
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∣
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∣
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lim
h(t)→∞

d =

(

π

2

)−3/2

≈ 0, 507949 . . .
�è µÄê�
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ξt(z)

ª� �¬�©¤©�¤ £���©��¤ �¡��·�¢³ ��·
∂

∂t
ξt(z) =

π

2

[

π

2
ctgh

(

π

2
h(t)

)]−3/2

ctg

(

π

2
ξt(z)

)

.
�è µÄ��

à� � ¡¤� ��©�¢ � � ¡¤¥� ­¢©°¥³ �
ξt(z)

�� ����¢ �è µÅß� � � ���¢ ����° �¡¤«¥�©�¤¥¨ ¤�·¡� �¡·¥�©·¥¨�¡��·�¢³ ��· �¬�©¤©�� �¬¶©�¥�°��� ©¤
h(t)

�� ¡¤¥�

ḣ(t) =

√

2

π
tgh

(

π

2
h(t)

)

.
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Ê�� ¡�¡· � ��·¶ ��´� �¬�©¤©�¤ ©�� ª¤  �® ���� �²�¤¸ ¤©¤��¡·¥�©�� § � ���· ©¤¡�� �¤ ¡ § ¶� ª�¤ � ¤¯«·¥¨
h(t)

��¶©¤ ©�� �¬�©¤©�¢ �¤ ¡� ��¤¸ ���·���¶�©�� 2
π tgh

(

π
2 h(t)

)

≈ h(t)
µ � ¡�´� �¬�©¤©�¤�¤± �·©�°¤ �¤�¤� ���¥�©· ���� ¡ � ¥�¤ �� § ¥�·�� ³ ¤° � ���·�¤ª°¢ �¬�©¤©�¤ �Ô µÄ÷� ��� ¢³ ²¯¥�´� ���� ¡ �´ «· ©¤ � ¬«� «¤ �¥�·*©�� � �¤��¤¥� ¦��  °�� ¥�·©©�°��� ���� ¡¢ µ »  ·��¡�¡·¥�©���

h(t) → ∞ ��¤�¤  ¡��©¤ �¬�©¤©�¤ ª²¶· ª�  ¡¤«�³ §  ¡²ª ��®ª°�±¸ ���� ¡¢ ³ � ¡  ¡¤«¤ � ª¤©¤����� �

lim
t→∞

v(t) = |f ′′
t (0)|−1/2 =

(

π

2

)−1/2

≈ 0.7978845 . . .
�è µå÷�
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a = 0
µ

æ �¤ � ¤«·¥¨ ¥�¤ ¬� ���� ��©¤¸ � �¶��· ���� ¡ �¤�¤� ���¥�©·§ �ª� �� �¤ª¤³ ²¥· ­¤��� § ´ª·�� «·� ±¥�¤©�° ³ � ¡ �¤©��ª�·�¤�©·§  �·�°� ����¥¨�ª�� �© ³ �ª©¤° �� ���� ¡ ��  ¡¤«² ��®ª°�¯±¥�² § ¥�·�� ¤ ·��¡�¡·¥�©� �¤¥¨��¤©�� ª�¤ �¤ °¤ µ »©¤��´�¥�©�� ª� ���·�¤ª°¢  ¡¤«�´� ¥�·©©�°¤���� ¡¢ § � �� � �¬¶©�´� ° �¡¤«¡¢ �´�� « § �¬¶©�¥� � ���·¶ ��³ �¤��¶©�±¥� ª�¤ � �¥�²¡°���´�
a = 0

�
a = 0.5

 ² ��®ª¢
10−2 µ ��¤ª¤¸ � �¶��· ³ � �¥�� �¤��¶©�±¸ ¥�·©©�°¤ ���� ¡¢ � ��®ª°�±¥� ���� ¡¢�ª ¥�¤ ¢ µ ö¨�¥�¤¶ ³ �³ � � ¡¤¸ ¤©¤��¡·¥�©¤ ©�� ³ � ¡ �©¤©¤ § � �¶��· �·�©¤¥�·¸ ¤ ·��¡�¡·¥�©��¤�¡�±¥�

d
�

v
ª¤©� �ª��� ��ª©�� �¬�©¤©�¤� � �è µÄê� � �è µå÷� µ �¤��¶©�±¸ ¥�·©©�°¤ ���� ¡¢ ���®ª°�±¥� �ª ¥�¤ ¢ ¢�· °¤©� ©¢� ��·¥�©�� ����ª ¡¤� �¤ �· ¢©�° è µ� µ
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ç· ¢©�° è µ� � �¤��¶©�±¸ ¥�·©©�°¤ ���� ¡¢
d
��� ����³ � � ��®ª°�±¥� ���� ¡¢

v
��� ��¤��³ � ª�¤³ �ª©�³ �´ «· �� ©²¥�³ ©¤ � ¬«�¤ °¢ � �¤��¤¥� ¦��  °�� ¥�·©©�°��� ���� ¡¢ §  ¡¤�¡¢³ ²¥�³ �

a = 0
µ

�´ «¤  ¡¤�¡¢³ ²¥¤ � �©©�´� � ��³  ¥¤ ©�¶
a = 0

§ ³ ¤° ³¢¶ � ���· ³ � ¡ ���·¥�²´¤©¤ ª� ±��ª°¤�¤ °¤ � ¤ ·��¡�¡·¥�©�� �¤¥¨��¢³ �  �® ³ ¤° �´ «¤ �� ©²¥¤ ��ª «¢¶ � �  ·� �¡��� µ �·´�®¥�� �´ «· ©¤ª��� �¤ °¤ ���ª�¥�©� ©¤ �· ¢©°¢ è µÔ� ©�� � �� �©©� � ��¸ �� «·�¢ ©¤ ¤ ·��¡�¡·¥�©² �¤�¡�±¸¥�·©©�°¤ ���� ¡¢ � ��®ª°�±¥� �´ «·µ ç��¥�·� �±¥�� ª�¤ �´ «·  ¡¤�¡¢³ ²¥�³ �
a = 0.5

§ �¤��¶©�±¥� �ª¥�¤ ¢ ¥�·©©�°¤ � ��®ª°�±¥� ���� ¡¢ �¬¶©�²  �® � �¤�¡�±¸ ��®ª¢
10−2 �ª ¡·¥¨ ª�¤ �´ «·  ¡¤�¡¢³ ²¯¥�³ �

a = 0
§ ©¤¡�� �¤ ¡ �¤�¡�±¸ ¤ ·��¡�¡·¥�©¤ �ª¡�¤��¤©¤ ³ � ¡ � � ¤° ·� ¤�©² ª�° «¤ª©�±¥�²©¢� ��·¥�©² µà� ����¤©¤�����¤©�¢ �¤¥¨��¤©�¤ ³ �ª©�³ �´ «· � �¶��· �¤¥�²¸  �¢°¤¸ �­�°¡¢ �·�¤���¤¥³ � �¢° «¤ª��� � � �®° ��³ ��¥���� �´�� « µ

= "! " < �xz�z� 8� xz |� y %� x � %� ��� ?
¹�´¬�©��©�� ©¤

n ∈ N
�´�� « ��������¤ª�¤�· ��¤� �� ¡¤°  ¤� � ³ ¤° ª�¤ � ¬«� «¤ �¥�·�©·µ â�¢°¤�·�¬�©¤©�¤ ©¤

gt
ª�¤

t ≥ 0
� ®ª²¥�´� °�©­����©·� �ª������¤©���

gt : P\ (Γ1 ∪ Γ2 ∪ . . . ∪ Γn) → P

��ª©��©¤¥�©�±¸ ¢�· °¤�· � �¤�¢©°¢ �è µÔ� µ ã�©¤¥��· �����
γk(t), k = 1, 2, ..., n

�����¥¨�«°�«¢°¬�
Γk(t)

µ à�©¤ª¡� �����¤ª�¤�· ��©¤¥��©�¤ ¤©¤��´�¥�©� ª� ���·³ ®¡·¥¨ ©¤ �¬«� «¤ �¥�·*©��
ft : P → P\ (Γ1 ∪ Γ2 ∪ . . . ∪ Γn)

ft ◦ gt = gt ◦ ft = id , t ≥ 0

ak(t) = gt(γk(t)), k = 1, 2, ..., n

»©¤���¢³ ²¥ �ª������¤©��
gt

ª�¤ ¥�¤ ¬�
t
�
t + h

����¤¶�· ©¤ ¡®�¢³ ²¥� � «�¶�©��
gt+h = Φn ◦ . . . ◦ Φ2 ◦ Φ1 ◦ gt + O(h2),

�è µå Ã�
��©¤ª¡� ª�¤

j, k = 1, 2, ..., n

a0
j = aj(t)

ak
j = Φk(a

k−1
j )

an
j = aj(t + h).

�è µåÅ�
Ôè



Æ¢©°¥³ �
Φj

ª¤©�  ² �����

Φj(z) = z + hd
π

2

cos
(

π
2 z
)

sin
(

π
2 z
)

− sin
(

π
2 aj−1

j

) .
�è µåÄ�

â� �«©�¤³ ² �©� �¤«�¶�©�¤ ��� ¤¡¢ � � �¥¨�ª©�³ � «�¶�©�¤ § �¤¡�� ���� �©�®¥�� ª� ¥� «�©¬� ��© ���·¥¨�«�¶�©�¤ �è µå Ã� �¤ �� ¡¤¸

gt+h(z) = gt(z) +
π

2

n
∑

i=1

hdi
cos

(

π
2 gt
)

sin
(

π
2 gt
)

− sin
(

π
2 ai
) .

�è µåå �
� ��¤©��©�°¢ ��³ ¤� �¤  �®

ai
§ ´ª·¶ ���·

h → 0
§
ai−1

i → aj(t)
µ ç¬�©¤©�¤ ©¤ ����¢¥³ ®

aj��¶��· �©¤��*¸ � ¡�´�  ¤� �´� � «�¶�©�¤ �è µå Ã� § ¤�� �¤� �®¡¤³ ²¥ § ¶� ���· ����¥�¤©�¢
Φj(a

j−1
j )¢¶·¸ �¢ ��· ���� �©�®¥�¤ �è µÅ÷�

aj(t + h) = aj(t) −
π

4
hdj(t) tg

(

π

2
aj(t)

)

+
π

2

n
∑

i=1,i6=j

hdi
cos

(

π
2 aj(t)

)

sin
(

π
2 aj(t)

)

− sin
(

π
2 ai(t)

)

�è µåÔ�
à���¥¨�ª�²¥ � �¬�©¤©�¤¥¨ �è µåå � � �è µåÔ� �

h
ª� ���¤ �¡��·�¢³ ��· �¬�©¤©�� £���©��¤ ª�¤

n�´�� « ©¤ � ¬«�¤ °¢

ġt =
π

2

n
∑

i=1

di
cos

(

π
2 gt
)

sin
(

π
2 gt
)

− sin
(

π
2 ai
) ,

�è µåè�
��¤� �¤�¢©�° ©¤ �¢¥¨ ���´¢©¬� § �¤� ��©�¤³ ²¥· ´��ª��·³©�±¸

ȧk = −π

4
dk tg

(

π

2
ak

)

+
π

2

n
∑

i=1

di
cos

(

π
2 ak

)

sin
(

π
2 ak

)

− sin
(

π
2 ai
) .
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d = 1

µ ä  �¡¤«¡ �´�� « ��� ����³ � ª�¤ ���·° «¤ª��·¥¨ §  ·� �¡�·¥�©·¥¨�¤�¢©°¬� ��¥�²¡°��·¥¨
a1(0) = 0.75 = −a2(0)
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a1(0) = 0.75 = −a2(0)

ã� ���¢³ ��· ����¶¤©��  �® �´�� « ª� ��� ¡·¥¨
x = 0.5

�
x = −0.5

µ æ �¤ �¤�¢©°¬� ��¥�²¡°�¯�·¥¨
a1(0) = 0.25 = −a2(0)
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ç· ¢©�° è µÃ÷ � ä �¡¤«¡ ª�¬¥¨ �´�� « �� ©²¥·¥¨ ©¤ �¬«�¤ °¢ ��  ¡¤«·� � ¥�·©©�°¤� � ���� ¡¢ § ¡¤�¡¢³ ²¥·¥¨ �  ·� �¡�·¥�©�´� � �«�¶�©�¤ � �¥�²¡°���´� ���´¢©¬�
a1(0) = 0.25 = −a2(0)

Ê¤¡�� �¤ ¡ ª�¤ �¤�¢©°¢ ��¥�²¡°���´�
a1(0) = 0.5 = −a2(0)
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ç· ¢©�° è µÃÃ � ä �¡¤«¡ ª�¬¥¨ �´�� « �� ©²¥·¥¨ ©¤ �¬«�¤ °¢ ��  ¡¤«·� � ¥�·©©�°¤� � ���� ¡¢ § ¡¤�¡¢³ ²¥·¥¨ �  ·� �¡�·¥�©�´� � �«�¶�©�¤ � �¥�²¡°���´� ���´¢©¬�
a1(0) = 0.5 = −a2(0)

ø�  ¤� � �³ ¤� � °� ©¤ ¡®�¢³ � ª�¤ ���´¢©¬� §
a1

�
a2

���·¥�²´¤©�  ² ª� ±0.5
µ �©¡¢�¥·³ ©��� �¶©¤ �· «�  �®  � �ª����¤¸ ¡¤°��´� �¤¥¨��¤©�¤ � �©¡�����¡¤¥³ � ��·¥�©�³ �¤¥¨��¤©�¤ �´�� « § ������ �ª�� æ£» µ à��·� ��©�³�·§ ¶� � ¡·� ��ª��¢ § ��� ¤©·� � �¤�¤´�¤�� Å µå �¤° «¤ª¤�·§ �¶ �©�� °�º¥��©�±¥� �·�¢ �¥�¤©· ³ � ¡  ¡¤«·  ¡�¢� ��º ª·­¢©ª¢³ ²¥·¥¨ ¥�² ¡�° § °¡¬�� ���·°��³ ¤³ ² �® ª� ¥�¢�°¤ �´ «· � ���ª¢³ ²¥ ³ �³ ���� ¡ µ�´ «· ª����²  �®  ¡�¢� ��©��� ¥�² ¡�° � ¡�©  � � ¬� §¤�· °¤¶ª¤ �¡��·�·�¤«¤ �¥¨ ¡·��  ¤� � § �¤¡�� ��� «�¶²  �® ³ �ª©���ª©�� ©¤ �ª¥�©°¢

[−1, 1]
�� ®ª² ¢¡��·�·�¤¸  ¡¤«� �ª��´ «�±¥� � �®ª�·  ��² � � �«�� �¥�©² �ª��´ «�±¸ ª� �ª��³ ¤³ ²¥·¥¨ ¥�² ¡°�±¥�¤©�° � �¥�©·¥¨ µ ã´¬�©�� ª�¤

n
�´�� « ©¤ � ¬«�¤ °¢ � �´���·±�·  �®  � �ª����¤¸ ¶� � �«�¶�©�¤���´¢©¬�

ai = (2i + 1)/n− 1
§
i = 0, . . . , n− 1

� ®ª² �¢©°¡¤� �  ¡¤«·� � ¢° «¤ª¢ �¬�©¤º �è µåê���  ¡¤«·� �
d = 1

µ â��¤�ª*�· ª�¤ ���´¢©¤ � �©ª�° ��
k

ȧk = −π

4
tg

(

π

2

2k − n + 1

n

)

+
π

2

n−1
∑

i=0

i6=k

cos
(

π
2

2k−n+1
n

)

sin
(

π
2

2k−n+1
n

)

− sin
(

π
2

2i−n+1
n

) =

= −π

4
tg

(

π

2

2k − n + 1

n

)

+
π

2
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∑

i=0

i6=k

cos
(

π
2

2k−n+1
n

)

2 cos
(

π
2

(

2k−n+1
2n + 2i−n+1

2n

))

sin
(

π
2

(

2k−n+1
2n − 2i−n+1

2n

)) =

= −π

4
tg

(

π

2

2k − n + 1

n

)

+
π

2
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∑
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(

π
2
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n

)
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π
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n

)

sin
(

π
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n

) =
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4
tg
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π

2
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n

)

− π

4
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∑

i=0

i6=k

tg

(

π

2
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n

)

− ctg

(

π

2

k − i

n

)

=
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4
tg

(

π

2
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)

+
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∑
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ctg

(

π

2
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n

)

+ ctg

(

π
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k − i

n

)

=

=
π

4
ctg

(

π
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+
π
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ctg
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)

+
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=
π

4

n−1
∑

i=−n

i6=k

ctg

(

π

2

k − i

n

)

= 0.
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ç· ¢©�° è µÃÅ � ä �¡¤«¡ ª�¬¥¨ �´�� « �� ©²¥·¥¨ ©¤ �¬«�¤ °¢ ��  ¡¤«·� � ¥�·©©�°¤� � ���� ¡¢ § ¡¤�¡¢³ ²¥·¥¨ � ©�� ·� �¡�·¥�©�´� � �«�¶�©�¤ � �¥�²¡°���´� ���´¢©¬�
a1(0) = 0.6

§
a2(0) = 0.8

¹°«¤ª �¬�©¤º �è µåê� ��  ¡¤«·� � ¥�·©©�°¤� � ���� ¡¢  ¡¤©�� � �¤�ª�� ¥��°¤�· ���·° «¤ª¢° «¤ª¢ ª·©¤� �¥�©�´� µ à ����  �· ¥� «�© �ª��� �¤ª¤ ���©®¡��©��¢ �ªª��¤«·�¤©�¢ ©¤ °¤¶ª· ����´¢©¬� § °¡¬�� ���·¥�²´¤ ³ � ª�
a = 0

§ ª�¢´� �¤± ¡� ©����© ���� § �ª�·¥¨¤³ ²¥� �ªª��¤«·�¤©��� �®ª�· ���´¢©¤� � µ � ¢�¤´� ©¤ ¥� «�© �ª�·¥¨¤³ ²¥·§ ¡�¤³ �°¡���� ���´¢©¬� ©�� � �´²  �® ����¥�¯©¤¸ µ ø¤°  °�����°��¤©· ¢° «¤ª � � �¤ª¤ �¤�¤��� �¢©°¡·  ¡¤«� � ¡¤° ª¢¶�³  ·� �¡��� µ à��·�¤ª�° ¡¤«·¥¨ ¥�·©©�°¬� ���� ¡¢ ©�� ³ � ¡ ³ �ª©¤° �©¡��� ¢³ ²¥· ��·¥�©�� µ æ¢¶� ¥��°¤�  �� � �¤¶©� ��° � ��·� �©¡¤�©�´� �¢©°¡¢ � �ª��©�¤  ² �¤��¤¥� ¦��  °�� ¥�·©©�°� ���� ¡¢ µ à��·  ¡¤«·¥¨ ¥�·©¯©�°¤¥¨ ���� ¡¢ ³ ¤° ³¢¶ � ���·§ �·�¤���¤¥³ ¤ �· ¡²��¸ ©�� � �¶� µ ö�· �¤¡�� ����¤¶¤³ ²¥ ª� ���´ «· � �¤��¤¥� ¦��  °�� ¥�·©©�°��� ���� ¡¢ � �¶©¤ ¢�· °¤¸ �·�¤���¤¥³ ®. ��¤ª¤³�· ©¤³������¤�¢©°� � �¥�²¡°��� �  ·� �¡��² �ª��¥�¤ ��´�®ª�� ±��ª°¤ �¤ °¤ § ¡�© µ
a1(0) = −a2(0)

µ �ª¤¯�¤¸ �·  �® � �´ «� § ¶� ¡¤°²  ¤� ²  ·� �¡��® �¢ � � ��¸ ¡¤°¶� ���� �²�¤©�� µ � ¡·� ���·�¤ª°¢ � �ª����¤¸  �® � ®ª����·§ ¡¤° ³ ¤° ³ ¤° � �¶©¤ �· «� �¤�� �����¤¸ � �° � ��·� �©¡¤¥¨ �ª��� �¤¯ª¤³ ²¥·¥¨ ���� ¡�� � £¤��¤¥� ¦¤ § © �� ¡¤���©�±¥� ���� �²�¤©�¤ µ é �¡�ª· ©¢� ��·¥�©� �¤�  �� ��¤�¯¥��©�  ² ³ ¤°�� ± � «®ª�� �¥� � �¶� �ª��� �¤ª¤¸ ��·¥�©·� �¢°¡¢¤¥³ �� ���¤ £¤��¤¥� ¦¤� § �����¥� ©�� ¡¤���©� ���� �²�¤©��  ·� �¡�·¥�©� � ®ª��� ����¥¨�ª��¸ � ³ �ª©� ��  ¡¤���©·¥¨ ���� �²�¤º §°¡¬�� �©¤³ ª��¤¸ � ®ª����· ©¢� ��·¥�©�� µ ç· ¢©�° è µÃÄ ����ª ¡¤� �¤ ° �¡¤«¡ �´�� «  ¡¤�¡¢³ ²¥·¥¨�
a1(0) = 0.5 = −a2(0)
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a1(0) = 0.5 = −a2(0)
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à�¥�²¡°��� �´ «·  ² �ª�©¡·¥�©� � �� ©² � ³ �ª©¤°��² ��®ª°�±¥�² § ª� ¥�¤ ¢ �° µÃµÔ¯Å ���«�¶�©�¤� �¥�²¡°��� �´��«  ² �ª�©¡·¥�©� � ª�° «¤ª©�±¥�² ª� ÃÔ ¥·­� �©¤¥�²¥·¥¨ § ¤ �  ���° �� �¬¶©�¥� � �¥¨����¢¥³ � �·©�°¤³ ² � �� «·�¢  �¢�¢ ©¢� ��·¥�©�´� � © �� ¡¤���©�±¥� ¢° «¤ª¢ � µ Ê ¤ ¡®�©�� ³ �ª©¤� �´�� « �·��³ ¤  �® � �©¤ª ª�¢´² § ����� ¥� ��±©�� ¥��¤�  �·� ¥��³ § ¤¶ � �²´©�� ¤ ·��¡�¡·¥�©��¤�¡�±¥� ¥�·©©�°¤ � ��®ª°�±¥� ���� ¡¢ ª�¤ ³ �ª©�³ �´ «· �� ©²¥�³  ¤� �¡©�� ©¤ �¤ °¢ µ � ¡·� ¤�·� ¥�¤ �� ��®ª°�±¸ � ¥�·©©�° ���� ¡¢ ����´�·�¤³ ²¥�³ �´ «·  �¤ª¤³ ² ª� ���¤ µ Ê ¤ �· ¢©°¢è µÅ÷ �� �³ ���¸ � �¶��· ��� ³ ® �· ¢©°¢ è µÃÄ � ©¤©�� ��©·� � ��© �¤� � �°� �� �¡�©¥³ ¤�©·� � � ��¤£¤��¤¥� ¦¤ ��°¬« �´�� « µ Ê¤ ���� ��°¬« ��·¥�® °��³ �´ «·§ � �°�©¤©¤ �ª¤³ �  �® � �´¬�� ©�� � ��¸�� «·�¢ µ 0 �¤ª��©¡ � ��¤ ���· ¥�¢�°¢ ����´�·�¤³ ²¥�³ ©¤ �· ¢©°¢ �´ «· ³ � ¡  ¡� �¤�· �©��³  �·§©�¶ ���· ¥�¢�°¢ �·´�·�¤³ ²¥�³ µ»�· ��¤ª¤¸ ª�° «¤ª©��³ �� «·� �´��« ©¤  ����� § ���·³ ��·³�·  �® ª�° «¤ª©��³ ° �¡¤«¡�� ��¯¥�²¡°¬� �´��« � �· ¢©°¢  ¡¤�¡¢³ ²¥·¥¨ � ¡��¥¨® �¤�ª��� ��� ¢©�®¡�´� �¤�¢©°¢ ��¥�²¡°���´� §¥�·��
a1(0) = 0.75 = −a2(0)

µ à��¬�©¤³�· ³ � � ° �¡¤«¡�� �´��« �� ©²¥·¥¨ ��  ¡¤«·� ¥�·©©�°������� ¡¢ ��¤� � �³ �ª·©¥�² �´ «²  ¡¤�¡¢³ ²¥² � ¡·¥¨  ¤�·¥¨ �¤�¢©°¬� ��¥�²¡°��·¥¨ µ à��¬�©¤©��¡� ����ª ¡¤� �¤ �· ¢©�° è µÃè µ� �ª¤¸ § ¶� �¤�¬�©� ����´�·�¤³ ²¥¤ �´ «¤ ��� ����³ � § ³ ¤° � �·´�·�¤³ ²¥¤ ��� ��¤��³ � ��¥�²¡¯°��� ��°�·�¤³ ²  �® � � ��¬�©·�¤©·� � ���·�¤ª°¤� � �ª� �· �°�±¥� �° ÷ µÔ� µ à ����  �¤ �ªª����¤
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a1(0) = 0.75 = −a2(0)

µ � ����³ ����¶�©�� ����³ �´ «·§ ¤ � ��¤��³ ¯ ��¤��³ �´ «·µ
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l1 − l2
µ à��¬�©¤³�· �¤¡�� ª¤©� ©¢� ��·¥�©�� � �·©�°��� ¤©¤��¡·¥�©·�ª�¤ ©�� °�º¥��©�� ª «¢´�¥¨ § ��� ¡·¥¨ �´�� « �å µÃ÷� § ¥�·��

v1/v2 = exp(π/2(l1 − l2))
µ à��¬�©¤©������ª ¡¤� �¤ �· ¢©�° è µÃê µ Ê¤��¶· ���¬¥�¸ ¢�¤´® § ¶� ¤�´¢� �©¡�� ­¢©°¥³ � ©¤ �·°�� �� ³ � ¡ �¬¶¯
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a1(0) = 0.5 = −a2(0)
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ä���³ ©·� ���·�¤ª°��� § °¡¬�·�  �® �¤³� ���·§ ³ � ¡ ������� ���� ¡¢ �´�� « � ´��� �¡��� �¤ °¤ §¤�� ¡·� �¤��� � � ����ª·¥�©·� � �¤�¢©°¤� � ����´��·� � � ¢¡�¶ ¤� ��· ª� �� ���©��� ±¥�¤©°�� �¥�©� § ©¤ª¤³ ²¥ �� �¤��� � ° �¡¤«¡ ©�� °�º¥��©�´� �¤�¥¤ µ â�¥��´¬�©· ���·�¤ª�° ¡¤°��´� ¢° «¤ª¢�ª�¤ ��� ¡·¥¨ �´�� «� �· « ³ ¢¶ �¤ª¤©· � ���ª��¤�� å µ à����ª·¥�©� �¤�¢©°� ����´��� ����¤�¤³ ² ©¤� �ª����¤©�� � ¤«�³ ��¥��· �´�� « § �©¤³ ª¢³ ²¥·¥¨  �® ���©²¡�� ª¢¶�´� ¢° «¤ª¢ µ à��·³�¢³ ²¥ § ³ ¤°� �����ª©�� �¤�¢©�°  ¡¤«�´� ´�¤ª��©¡¢ � ©�� °�º¥��©�±¥� § � ¤³ ²¥�´� �¤�¡�±¸ Ã§ ª�¤ �¢ ¡�´��� �� �´�� «� �¤�¥¤ ���� �²�¤©�� �¬�©¤©�¤ £¤�¤�¥� ¦¤ ³ � ¡ ¡¤°��  ¤� � ³ ¤° � ������ª©�¥¨ ���ª��¤¯«¤¥¨ µ �·©�°¤  ¡²ª § ¶� � ¡·� ���·�¤ª°¢ � ®ª����· ��´�� °���· ¡¤¸ � �¬�©¤©�¤ �Å µÅè� ©¤ ¥�·©©�°���� ¡¢ § °¡¬�· � ®ª��� �ª� �� �¤ª¤« ���� ¡�� � �¤��¤¥� ¦��  °���¢ µ
ª "#" <�xz�z� 8� xz |� y %� }  yz } �� ?�
æ� �·����¤ª��© �¤ �¬�©¤©�¤ � �¡����©� ©¤� ³ � ¡ �ª������¤©�� ©¤ �¤�¥¢ �¥�²´¤³ ²¥� � ¤«² �´ «®� ��ª ¡¤�® �¤�¥¤ µ ä �¤ ·¥�©�� ³¢¶ ����¤¶¤�· ©¤ �¤ °¢

P
� ¢¡�¶ ¤� ��©·� � � �°¤� �

y = 1
�

y = −1
§ �´ «® � �· �°�±¥� √

2hd
�·¥¨�ª�²¥² � �¢©°¡¢

a > 0
©¤ � � ���¥�·� � ¡�³ �¤©¤��´�¥�©������¤¶·¸ � �¶©¤ ���·�¤ª�°

a < 0
� µ �¤¢�¤¶�·§ ¶� ���� �²�¤©�� �¬�©¤©�¤ £¤��¤¥� ¦¤ � ¡¤°���� �¤��� � ¤  ·� �¡��® �ª��¥�¤ ��´�®ª�� � �

x = a
¡�© µ �¤� �¤©¤

z
©¤

2a − z
©�� �� ��©�¤���� �²�¤©�¤ µ �·©�°¤  ¡²ª § ¶� ©¤ ��� ¡�³

x = a− 1
©��� ¤�©¤ ª� ©��³  ° «¤ª��¤ ´�¤ª��©¡¢ � ��¤�©�°¤ µ �·°�©¢³ ²¥ �¤� �¤©® �� ��©©·¥¨

z̃ = z − a
�¡��·� ¤�· �´ «® �¤¥�·©¤³ ²¥²  �® � ����� ��· �°�±¥� √

2hd
©¤ �¬«�¤ °¢ � �¤�¢©°��� ����´��·� ∂u

∂x = 0
©¤ ±¥�¤©°¤¥¨ ��¥�©·¥¨ µ �¡·� ���·�¤ª°¢ �� �¢°��¤©� �ª������¤©�� �¥�²´¤³ ²¥� �´ «· ³ � ¡ �ª�©¡·¥�©� � ����¤¶¤©·� �������ª©�� ���ª��¤�� § ³ � ¡ ¡� �è µÃÔ� � ���´¢©�� �

a = 0
�

φ(z̃) = z̃ + hd
π

2
ctg

(

π

2
z̃

)

.
�ê µÃ�

â¡²ª  �¢°¤©·� ����� ©¤  �ª������¤©��� § � ª�° «¤ª©�±¥�² ª�  ¡¤«�³ ¤ªª·¡·�©�³
ã ∈ R

³ � ¡

Ψ(z) = z + hd
π

2
ctg

(

π

2
(z − a)

)

− a + ã.
�ê µÅ�

»�· ¢©��� ��¤¸ ©¤ �� �ª������¤©�� �¤¢�¤¶�·§ ¶� �¬�©¤©�� £���©��¤ ©¤ �¤�¥¢ � � �ª ¡¤� ��
2L

��� �©©� ª¤�¤¸ �¬�©¤©�� £���©��¤ ª�¤ � ¬«� «¤ �¥�·�©· � ´�¤©�¥·
L → ∞ § ¥�·��

φ(z) = z +
hd

z − a
.

�ê µÄ�
èê



Ê¤ � �¤��¥ � ¤  ����°�±¸
2
§ © ��¡�¢ª©� ³ �ª©¤° ��ª¤¸ �ª��� �¤ª¤³ ²¥² ­¢©°¥³ ® �¥�²´¤³ ²¥² § ª�¤�¤�¥¤ � � �ª ¡¤� ��

2L
§ ª¤©² ����� ���� °¤���¤©��

Ψ(z)

Ψ(z)/L = z/L +
hd

L2

π

2
ctg

(

π

2
(z − a)/L

)

− a/L + ã/L.
�ê µå �

à���¥¨�ª�²¥ �
L → ∞ �¤�·

ctg(π
2 (z − a)/L) ≈ 2

πL/(z − a)
µ � ¬�¥�¤ 

Ψ(z) = z +
hd

z − a
+ ã − a.

�ê µÔ�
� ���¬�©¤©�¤ �ê µÄ� � �ê µÔ� �·©�°¤ § ¶� ©¤��¶· ���·³ ²¸

ã = a
µà�ª ¡¤� �¤³ ²¥ ª� � «�¶�© �¤ �Ô µè� � ����¥¨�ª�²¥ �

h → 0
�¡��·�¢³ ��· �¬�©¤©�� £���©��¤ª�¤ ³ �ª©�³ �´ «· ©¤ �¤�¥¢

ġt = d
π

2
ctg

(

π

2
(gt − a)

)

.
�ê µè�

à���� ���·³ ®¡² ©��� ¤���¤¥³ ® § �¤�¢©�° ´��ª��·³©�±¥� � ¤ ¡¤°²  ¤� ² �� ¡¤¸ ³ ¤° ª�¤ � ¬«� «¤ �¥�·¯�©·§ ¥�·��
a = const.

ç¬�©¤©�� £���©��¤ ª�¤ �¤�¥¤ ©�� �·�¬¶©�¤ �¢©°¡¬� ©¤ ³ �´� � �ª ¡¤� �� §¤ ³ �´� ���� �²�¤©�¤ �ª��� �¤ª¤³ ² ���� ¢©�®¡·� �  ¡¤«² ���� �²�¤©��� ª�¤ ³ �ª©�³ �´ «· ©¤ ±��ª°¢�¬«�¤ °¤ µ
ª "! " < �xz�z� 8� xz |� y %� x � %� ��� ?
¹�´¬�©��©�� ©¤

n ∈ N
�´�� « ��������¤ª�¤�· ¡¤°  ¤� � ³ ¤° ª�¤ � ¬«� «¤ �¥�·�©·µ ã�©¤¥��· �����

γk(t), k = 1, 2, ..., n
�����¥¨�«°� «¢°¬�

Γk(t)
µ à�©¤ª¡� �����¤ª�¤�· ��©¤¥��©�¤ ¤©¤��´�¥�©�ª� ���·³ ®¡·¥¨ ©¤ �¬«� «¤ �¥�·*©��

ft : P → P\ (Γ1 ∪ Γ2 ∪ . . . ∪ Γn)

ft ◦ gt = gt ◦ ft = id , t ≥ 0

ak(t) = lim
ε→0

gt(γk(t) + iε), k = 1, 2, ..., n
�ê µê�

»©¤���¢³ ²¥ �ª������¤©��
gt

ª�¤ ¥�¤ ¬�
t
�
t + h

����¤¶�· �«�¶�©��
gt+h = Ψn ◦ . . . ◦ Ψ2 ◦ Ψ1 ◦ gt + O(h2),

�ê µ��
´ª���

Ψj(z) = z + hdj
π

2
ctg

(

π

2
(z − aj)

)

.
�ê µß�

à�©¤ª¡� ª�¤
j, k = 1, 2, ..., n

a0
j = aj(t)

ak
j = Ψk(a

k−1
j )

an
j = aj(t + h)

�ê µÃ÷�
� �¤�¢©°¢ ©��� ¤���¤¥³ � � ���·§ ¶�

aj
j = Ψj(a

j−1
j ) = aj−1

j

µ Æ¢©°¥³ �
Ψj

 � �«©�¤³ ² �¤«�¶�©�¤��� ¤¡¢ � � �¥¨�ª©�³ � «�¶�©�¤ �¤¡�� ���� �© �®¥�� ª� ¥� «�©¬� ��© ���·¥¨ � �ê µ�� �¤ �� ¡¤¸

gt+h(z) = gt(z) +
π

2
h

n
∑

i=1

di ctg

(

π

2
(gt − ai)

)

,
�ê µÃÃ�

è�



´ª·¶ ¡¤°  ¤� � ³ ¤° ©¤ �¤ °¢ ���·
h → 0

§
aj

j → aj(t)
µ ç ¬�©¤©�¤ ©¤ �� �¤©®

aj
��¶��· �©¤��*¸

� ¡�´�  ¤� �´� � «�¶�©�¤ �ê µ�� § ¤�� �¤� �®¡¤³ ²¥ § ¶�
Ψj(a

j−1
j ) = aj−1

j

aj(t + h) = aj +
π

2
h

n
∑

i=1

i6=j

di ctg

(

π

2
(aj − ai)

) �ê µÃÅ�

à���¥¨�ª�²¥ � �¬�©¤©�¤¥¨ �ê µÃÃ� � �ê µÃÅ� �
h
ª� ���¤ �¡��·�¢³ ��· �¬�©¤©�� £���©��¤ ª�¤

n�´�� « ©¤ �¤�¥¢

ġt(z) =
π

2

n
∑

i=1

di ctg

(

π

2
(gt − ai)

)

,
�ê µÃÄ�

��¤� �¤�¢©�° ´��ª��·³©�±¥�

ȧj(t) =
π

2

n
∑

i=1

i6=j

di ctg

(

π

2
(aj − ai)

)

.
�ê µÃå �

þØÖî ú£ÖÚñúÚ �¤° � �¶©¤ �¤¢�¤¶·¸ �  ·� �¡��� ¡�¤© �¤¥·³©�³ �¬�©¤º �ê µÃÄ� § �ê µÃå � ª�ª¤©�� ¡¤«�³ ª�
ai

� �¤�¢©°¤¥¨ ��¥�²¡°��·¥¨ ©�� �� ��©�¤ ª·©¤� �°� ¢° «¤ª¢ µ æ �¤ ª�¬¥¨ �´�� «  ¡¤«²�¤�  �� � �¶©¤ ª���¤¸ ¡¤° § �·
a1 = −a2

� �������  ����¤ª�¤  �® ª�  ·� �¡�·¥�©�´� � �«�¶�©�¤� �¥�²¡°���´� ª�¤ ª�¬¥¨ �´�� « ©¤ � ¬«�¤ °¢ µ ç���¤¶�· �´¬�©��³  �· ¢° «¤ª
n
�´�� « ©¤ � ¬«�¤ °¢ �

d = 1
� ¡² � «¤ ©�±¥�² § ¶� ª�¤ °¤¶ª�´� ���´¢©¤

ai
� ¡© ��³ � ���´¢©

aj
¡¤°� § ¶�

ai = −aj
§ �¬�¥�¤ 

ġt =
π

2

n
∑

i=0

cos
(

π
2 gt
)

sin
(

π
2 gt
)

− sin
(

π
2 ai(t)

) =

=
π

2

n
∑

i=0

cos
(

π
2 gt
)

2 cos
(

π
4 (gt + ai)

)

sin
(

π
4 (gt − ai)

) =

=
π

4

n
∑

i=0

ctg

(

π

4
(gt − ai)

)

− tg

(

π

4
(gt + ai)

)

=

=
π

4

n
∑

i=0

ctg

(

π

4
(gt − ai)

)

− tg

(

π

4
(gt − ai)

)

=

=
π

2

n
∑

i=0

ctg

(

π

2
(gt − ai)

) �ê µÃÔ�
ã¡��·� ¤��±�· � ¡�©  � � ¬� �¬�©¤©�� ª�¤ �¤�¥¤ µ »©¤��´�¥�©�� � � ¡®�¢³ �  �® � �¬�©¤©��� ©¤�¢¥¨ ���´¢©¬� � �¬�©��¶ ¢�· °¤  �® �·©�° ³ ¤° ª�¤ �¤�¥¤ µ æ �¤ ª�¬¥¨ ���´¢©¬� § ´ª·

a1−a2 = 1��ª ¡¤� �¤³ ²¥ ª� �¬�©¤©�¤ �ê µÃå � �
d = 1

�¡��·� ¤�·
ȧ1 = ȧ2 = 0

µ ø¤°�� � �«�¶�©�� ��´�®ª©�³ � ¡ �¢©°¡��  ¡¤«·� � ����¢¥³ � � ��´¢©¬� µ ���¬¸�· ¢�¤´® § ¶� ¡¤°� ¢° «¤ª ª²¶· ª� ��«�¶�©�¤ §� °¡¬�·� �ª��´ «�±¸ � �®ª�· �´ «¤� � ³ � ¡ �¬�©¤ ³ �ª�© � �´ «· �� ©²¸ � ®ª² ���©��� µ » ·��¡�¯¡·¥�©� �¤¥¨��·�¤¸  �® �© � ®ª��� ³ ¤° ¢° «¤ª ��� ¤©· � ���ª��¤�� å § ¥�·�� � �ª��¢ ��� ¡·¥¨ �´�� « µ��¤ª¤³�· �¤¥¨��¤©�� ¡¤°��´� ¢° «¤ª¢ � ���·�¤ª°¢ �¤��¤¥� ¦��  °�� µ ä �¡¤«¡ �´�� « ©¤ �¤�¥¢ � �¯�¬�©¤©· � ° �¡¤«¡�� ª�¤ �´�� « ©¤ �¤ °¢ � ¡·¥¨  ¤�·¥¨ �¤�¢©°¬� ��¥�²¡°��·¥¨ ����ª ¡¤� �¤�· ¢©�° ê µÃ§ �¤± �ª� �� ��ª©�� ¥�·©©�°� ���� ¡¢ ¯ �· ¢©�° ê µÅ µ

èß
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ç· ¢©�° ê µÃ � ä �¡¤«¡ ª�¬¥¨ �´�� « �� ©²¥·¥¨ ©¤ �¤�¥¢ ���© �¤ ¥�²´ «¤� � ©¤ � ¬«�¤ °¢ ���© �¤ �����·¯�¤©¤� � �¤��¤¥� ¦��  °�� � ¥�·©©�°¤� � ���� ¡¢ §  ¡¤�¡¢³ ²¥·¥¨ � � �«�¶�©�¤ � �¥�²¡°���´� ���´¢©¬�
a1(0) = −0.2

§
a2(0) = 0.3
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d

t

ç· ¢©�° ê µÅ � ö�·©©�°� ���� ¡¢
d
� ­¢©°¥³ � ¥�¤ ¢ § ª�¤ ª�¬¥¨ �´�� « �� ©²¥·¥¨ ©¤ �¤�¥¢ �������³ � � ª�¬¥¨ �´�� « �� ©²¥·¥¨ ©¤ �¬«�¤ °¢ ��� ��¤��³ � � �¤��¤¥� ¦��  °�� � ¥�·©©�°¤� � ���� ¡¢ ¡¤�¡¢³ ²¥·¥¨ � � �«�¶�©�¤ � �¥�²¡°���´� ���´¢©¬�

a1(0) = −0.2
§
a2(0) = 0.3
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Ê¤ �¬«�¤ °¢ �·´�·�¤ �¤�  �� �´ «¤ �¤¥�·©¤³ ²¥¤  �® ���¶�³ � �  ·� �¡��� § ¤ ����¢¥³ ¤ � ¡·����·�¤ª°¢ ³ � ¡ ª�¡��� �©� ¡·¥�©¤ µ �©¤¥��³ ³ � ¡ ©¤ �¤�¥¢ ¯ � � ���ª¢ ��¤°¢ ±¥�¤©�° ¶¤ª©¤ �´ «¤©�� ³ � ¡ �·�¬¶©��©¤ � ¡� °¡¬�¤ � ©�¥¨ �·´�¤ ³ � ¡ ¥�· ¡� �� ��� ¯  � ���ª��¤©� ©�� ¡¤���©�±¥�²�  �¢� �� ©¢� ��·¥�©·����¬¸�· ¢�¤´® ©¤ ° �¡¤«¡ � �°�©¤©�³ �´ «·µ Ê ¤ �¤�¥¢ ¢° «¤ª ª²¶· « § � ­¤��� �¬�©�´� ���� ¡¢ §ª�  ¡¤©¢  ¡¤¥³ �©¤�©�´� ³ ¤° ���·
d = 1

§ ¥�·�� �¬�©���´ «·¥¨ �´�� « �ªª¤��©·¥¨ �ª  ����� �
1
µ 0ª·³ �ª©¤ � �´�� « �» � �· «¤ ¨¤� ��¤©¤ § ³ �³ �ªª��¤«·�¤©�� � ª�¢´² �´ «² �/ � ��¤� ³ �³ � ����ª·¥�©·��ª��¥��� �/ ¦�  ��¤� �¤«� § ¶� �´ «¤ �» � ���� ¡¤³ � ©¤  �·� °�º¥¢  °�����¤©¤ ���©��� ª� ´¬�·µ �¡¤°�� ���·�¤ª°¢  � �ª����¤�·  �® ª¢¶� ��� ��³ �´�ª©�±¥� �·©�°¬� ©¢� ��·¥�©·¥¨ �� �������å µÃ÷� µ à��·� ��©�³�·§ �·©�° ¡�© �¡��·� ¤©· ª�¤ ��� ¡·¥¨ �´�� « � � ����ª·¥�©·¥¨ �¤�¢©°¤¥¨����´��·¥¨ � ¤ �� ¡¤¸

v1/v2 = exp [π/2(l2 − l1)]
µ à��¬�©¤©�� ¢�· °¤©·¥¨ ©¢� ��·¥�©�� �¤��¶¯©�±¥�  ¡� ¢©°¢ ��®ª°�±¥�

v1/v2
§ � ­¢©°¥³ � �¬¶©�¥· ª «¢´�±¥�

l2− l1
ª�¤ �´�� « ©¤ �¤�¥¢ � � ¬«�¤ °¢� ¡¤°�� �  ¤�·� � �¤�¢©°¤� � � �¥�²¡°��·� � ����ª ¡¤� �¤ �· ¢©�° ê µÄ µ
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l2-l1

ç· ¢©�° ê µÄ � £�´¤�·¡�  ¡� ¢©°¢ ��®ª°�±¥� � ­¢©°¥³ � �¬¶©�¥· ª «¢´�±¥� § ª�¤ ª�¬¥¨ �´�� « ��¯ ©²¥·¥¨ ©¤ �¤�¥¢ � �¤��¤¥� ¦��  °�� � ¥�·©©�°¤� � ���� ¡¢ ���© �¤ ¥�²´ «¤� � �´�� « �� ©²¥·¥¨ ©¤�¬«�¤ °¢ � �¤��¤¥� ¦��  °�� � ¥�·©©�°¤� � ���� ¡¢ ���© �¤ �����·�¤©¤�  ¡¤�¡¢³ ²¥·¥¨ � � �«�¶�©�¤� �¥�²¡°���´� ���´¢©¬�
a1(0) = −0.2

§
a2(0) = 0.3

µ ä ��·�¤ ¤©¤��¡·¥�©¤ ª�¤ ¢° «¤ª¢ ��� ¡·¥¨�´�� « ª¤©¤ ����� �å µÃ÷� �¤�©¤¥��©¤ ³ � ¡ ��© �² °���°��¤©² µ
à��·¶ �� �·©�°� � �°¤�¢³ ² § ¶� �ª�³ ±¥�� �ª �¤¥¨��¤©�¤ ¤ ·��¡�¡·¥�©�´� ª�¤ ª�¬¥¨ �´�� «©¤ � ¬«�¤ °¢ � �¤«�  ��³ ² ���·¥�·©® � � ¡©��©�¢ �ª��³ ¤³ ²¥·¥¨ ±¥�¤©�° µ 1 ­�°¡· ����´��� ������±¥�� £¤��¤¥� ¦¤ © �� � �´² �·¸ �¤©��ª�¤©� �  ¡� ��¤©�� �¬�©¤º ©��¢��´�®ª© �¤³ ²¥·¥¨ � ¡¯© ��©�¤ ����´¢  °¤�¤©¤ ³ � ¡ ©¤ ©��� ���ª��©�� § ³ ¤°� ¶� ���� �¤�· ©� µ °�� ¬�°� á���¯â¨¤�¤ ©�� ² ��·°�� �¤©��ª�·�¤�©� � ���¬�©¤©�¢ � ¥¨¤�¤°¡��· ¡·¥�©² �ª��´ «�±¥�² � �®ª�· ª�©ª�·¡¤� � µÆ��� ¤���� �¬�©¤©�¤ £���©��¤ ª�¤ �¤ °¤ � ¤ �¤¡��  ����°�� �¤ ¡� ��¤©�� ��¤°¡·¥�©� µ

ê Ã
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� ��¤¥· ����¤©¤�����¤©� ������� ���� ¡¢ �´ «��·¥¨ ª�©ª�·¡¬� � ���¢ ¨¤�� �©�¥�©·� � � �«¯© �¤³ ²¥·� �¬�©¤©�� £¤��¤¥� ¦¤� µ æ � ���� �²�¤©�¤ �������¢ ¢¶·¡� ¤�¤�¤¡¢ ¤©¤���· �� � ���©�³ µä �¢¥���� �°¤�¤«�  �® �¤ ¡� ��¤©�� ­��� ¤����¢ �¬�©¤©�¤ £���©��¤ § �¤ � �� �¥² °¡¬��´� � �¶©¤±��ª��¸ ����¢¥³ ® � ¤�· °�©­����©�³ �� �¤�¢ ©¤ ���©²¡�� �� ©²¥·¥¨ ª�©ª�·¡¬� ©¤ ��� ¡ �· ��¯ �¤� � «¤ �¥�·�©· �� � ���©�³ § ©¤ °¡¬�·� ���� �²�¤©�� �¬�©¤©�¤ £¤��¤¥� ¦¤ «¤¡�� ³ � ¡ �©¤��*¸ µ�  �¥��´¬�©�±¥� � � �¤� �����  �· �¬�©¤©�� £���©��¤ �� ¡¤«� �·����¤ª��©� � ���� �²�¤©� ���·¥�©�� �¤�ª�� �¤¶©�³ ´��� �¡��� °�� ¬�°� á ���¯â¨¤�¤ ��ª��� �¤ª¤³ ²¥�³ °¤©¤«�� � § ©¤ � �¥�©�±¥�¤©°� °¡¬��´� ©¤��¢¥�©�  ² �ª��³ ¤³ ²¥� �¤�¢©°� ����´���� µ à�°¤�¤©� § ¶� ���� ¡ � ¡�³ ´��¯� �¡��� ¥¨¤�¤°¡��·�¢³ �  �®  ��©·� � § ©����© ���·� � �ªª��¤«·�¤©�¤� � � �®ª�· ª�©ª�·¡¤� � § ���¯�¤ª�²¥·� � ª� �³ ¤� � °¤ �·�¤���¤¥³ � § � °¡¬�·� ª«¢¶ �� ª�©ª�·¡· ¨¤�¢³ ² ���� ¡ �©��³  �·¥¨�©¤³ ª¢³ ²¥·¥¨  �® � �¥¨  ² ��ª�¡� �� µ ø� � «¤±©�� �³ ¤� � °�  ��¤� �¤ § ¶� ����´ �� ©²¥�´� �� �¤�¢¡����·  °�����°��¤©� § ­�¤°¡¤�©� ­���·µç¤¥¨¢©°� ¤©¤��¡·¥�©� § � �«²¥��©� � ����¥��©�¤� � ©¢� ��·¥�©·� � � ������«· ©¤ ���±¥����  ¥¨¤¯�¤°¡��·���¤©�� �·�¤���¤¥³ � � �®ª�· ª�©ª�·¡¤� � µ ��¤ª¤©� �� «·� �¬¶©·¥¨ �¤�¢©°¬� ����´�¯�·¥¨ �±¥�¤©°� �ª� �³ ¤³ ²¥� § ¢° «¤ª � ����ª·¥�©·§ ©�� °�º¥��©¤ ���� ¡���º � ©¤  ¡� ¢©�° ��®ª°�±¥�ª�©ª�·¡¬� ���·¥�® °��´�� ª� ���°�©¤©�´�� � � ��¬�©¤©� �·©�°� �� ±¥� «·� ���¢�¡¤¡�� § ¢�·¯ °¤©·� ª�¤ � ����ª·¥�©�´� ¢° «¤ª¢ ��� ¡·¥¨ § �¬�©���´ «·¥¨ �´�� « µã¡��·� ¤©� ©��� �¬�©¤©�� £���©��¤ �¡� ���¤ � �� � �°¡·�® �¤ª¤º �� �¢°¢³ ²¥·¥¨ °���³©·¥¨ §±¥� «·¥¨ ���� �²�¤º ¡�´� �¬�©¤©�¤ µ Ê ¤¡�� �¤ ¡ ��� °�±¸ ��� ·�¤©�´� ©�� ¢°«¤ª¢ ª� ���·�¤ª°¬����¥�·� � ¡·¥¨ ª¤³ � � �¶����±¥� � ��¬�©·�¤©�¤ ¢�· °¤©·¥¨ ¤©¤��¡·¥�©�� � ©¢� ��·¥�©�� �·©�°¬�� �·©�°¤� � ª�±� �¤ª¥��º µ

êÄ
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� ×Ø+ ÛÝó ðÛÚÐôÜÖñÝûØ ÜÚ üðØîÚñúÚ à������· ��³ ¤� �¤³ ²¥�  �® ���· ¥¤«°��¤©�¢ �¬�©¤º£���©��¤ �� ¬� ��· ©¤ ���·° «¤ª��� �¬�©¤©�¤ ª�¤ � ¬«� «¤ �¥�·�©· � ³ �ª©�³ �´ «·µ à��·� ��©�³�·§¶� �¬�©¤©�� � ¤ �¬�¥�¤  � � ¡¤¸
ġt(z) =

d(t)

gt(z) − a(t)
.

�» µÃ�
�� ¡ ¡� �¬�©¤©�� �¬¶©�¥�°��� ��·¥�¤³ ©� �����  ��´� ��®ª¢ � ª�¤ °¤¶ª�´�

z
��¶��· �©¤��*¸³ �´� ���� �²�¤©�� § ����� ¥¤«°® � �¤�¢©°��� ��¥�²¡°��·�

g0(z) = z

gt(z) = z +

∫ t

0

d(τ)

gτ (z) − a(τ)
dτ.

�» µÅ�
���¬¸�· ¢�¤´® ©¤ � � ¡¤¸ � �¤©��©�°¤ ­¢©°¥³ � � �ª¥¤«°���³ � �¬�©¤©�¢ �» µÅ� µ 0ª·

gτ (z)³ � ¡ ��� ° ��
a(τ)

¥� �ª��� �¤ª¤
z
��� ° ���¢

γ(τ)
¢ «¤� �° � ¤ � ������±¸ µ æ���³ �  �® ¡¤° § ´ª·¶ª���ª��©¤

gt
¥�·��

C+\Γ(t)
�� ��©�¤  �® � ¥�¤ �� � � °���³ ©·¥¨ ¥¨� ��¤¥¨ ­¢©°¥³ ¤ ���� ¡¤³ � �·¸�°��±��©¤ � �¢©°¡¤¥¨ ¡����²¥·¥¨ �� ©²¥² �´ «® µ à�©¤ª¡� ¥��¤� ¡� ©��� �� �¤�· � «¤ �¥�·�©· ² ���·¥�²´¤©� � �°���¥� � ������±¥� µ �¤ ¡²��· ¥¤«°® �����  ¢� ® ���·³�¢³ ²¥ °��° ¥�¤ ��·

∆t

gN ·∆t(z) ≈ z +
N
∑

i=0

∆t · d(i · ∆t)

gi·∆t(z) − a(i · ∆t)

�» µÄ�
à��·���¶�©�� ¥¤«°� �» µÅ� �����  ¢� ® �» µÄ� ª��¤«¤ § � �ª �¤�¢©°��� § ¶� ¥� «�©·  ����´¢  ² �ª��¯� ��ª©�� � ¤«� µ �¤¢�¤¶�· ³ �ª©¤° § ¶� ∀κ

� ∀∆t
� ¡© ��¸ � ®ª��� �¡�¥��©�� ¥�¢�°¤ �´ «·§ � °¡¬�·�

∆t · d(i · ∆t)

gi·∆t(z) − a(i · ∆t)
> κ.

�» µå �
� ���²�°¢ � ¡·� ���·���¶¤©�� ¥¤«°�  ¢� ² � ¤  �©  ¡·�°� �¬�¥�¤  ´ª· ����¤¶¤�· �¢©°¡·�ª��´ «� �ª � ����¥¨�«°¤ �´ «· ���· �ª��� ��ª©�� � ¤«·� °��°¢ ¥�¤ ��·� µ Ê �� ³ � ¡ ¡� ³ �ª©¤° ¤¡· ­¤°¥³ �©¢³ ²¥¤ � �¡�ª¤ § ´ª·¶ �©¡��� ¢³ � ©¤  � �«�¶�©�� � ����¥¨�«°¤ �´ «· � �¤ª¤©�³ ¥¨� ��� §¥�·�� �©¤�����©�� ¡¤°��´�

γ
§ ¶�

gt(γ)
³ � ¡ ©¤³ ���¶�³

a(t)
µ »�· �©¤��*¸ ¥�·©©�° ���� ¡¢ � ®ª����·�¬�©��¶ � �¡���� ��¤¸ �����  �·¥¨ ª�¬¥¨ ��¥¨�ª©·¥¨ ­¢©°¥³ �

gt
§ ���· ¥¤«°��¤©�¢ °¡¬�·¥¨ �·¯ ¡®�¢³ ² ¤©¤��´�¥�©� �������·µ â·¡¢¤¥³ ¤ ©�� ³ � ¡ �¥¤�� ��� �¤ ª�¤ �©©·¥¨ �¬�©¤º £���©��¤ ¡�© µ¡�©  ¤� ������� �· ¡®�¢³ � ª�¤ � ¬«�¤ °¤ � �¤�¥¤ µ ��ª©·� ��  � � �� ¬� ���� �²�¤©�¤ �������¢³ � ¡ ����ª ¡¤� ��©¤ � �©�¶�³ � �¡�ª¤ µ

êÔ



¦ð üÚíÚñúÝ ØíîÖØ×ØîÚï �ª�® � �¡�ª· � �¶©¤  ¡��±¥�¸ �ª¤©��� � � T^ \TW` PO^ V]gRUP Vv Y RTukQY_TP\Tp WQuTbTP\V Yb_UY]Y_T³ µ �¤¢�¤¶�· ¶� �  �· ¡°�� �¬�©¤©�¤ £���©��¤ �¡��·� ¤��±�· ° «¤ª¤³ ²¥ ­¢©°¥³ ® ´�©��¢³ ²¥² �
ϕ
§
φ
�¢�

Ψ
� �

gt
�· �¡��·� ¤¸

gt+h
�Ô µè� µ â°��� �¡��·� ¤©� �¬�¯©¤©�� ³ � ¡ ¡�¢ª©� ª� ©¢� ��·¥�©�´� ¥¤«°��¤©�¤ ��¬¸�· ª� �·����¤ª��©�¤ � �¤� �¤ ¡ ¥¤«°��¤¸�ª������¤©�� §

gt+h
� °���³©�³ ¥¨� ��� ¥�¤ ¢ �©¤³ ª¢³�· ����� � «�¶�©�� ­¢©°¥³ � ´�©��¢³ ²¥�³ �

gt
µà��¥�ª¢�® ª¤  �® ¢�´¬�©�¸ ©¤ � ���� �´��« �����¤ª�¤³ ²¥ �ª�¢�·� �¤���· � ¥�¤ 

T
ª¤©· �¬�©¤¯©���

T = t · n + i
�» µÔ�

´ª���
n
¡� ���±¸ �´�� « § ¤

i
��©¤¥�¤ ©¢� �� °���³ ©�³ �´ «·µ � ¬�¥�¤  � «�¶�©��

gT = ΦT (gT−1)
�» µè�

�·°�©¤©�
n
�¤�· � ®ª��� ª¤�¤¸ ����¢¥³ ® ¢° «¤ª¢

n
�´�� « � ��³ �ª·©¥�·� °��°¢ ¥�¤ ��·� µ»©¤��´�¥�©��  ¡� ¢³ �  �® � «�¶�©�¤ � �¬�©¤©�¢ ©¤ �¢¥¨ ���´¢©¬�

a
µ ø ² � �¡�ª² ³ � ¡�±�· � ¡¤©�� �¡��·� ¤¸

gt(z)
ª�¤ ª����©�´�

t
�
z
µä���³ ©·� ������� �� ³ � ¡ ©¢� ��·¥�©� �©¤³ ª��¤©�� ¥�¢�°¤ �´ «·§ ¥�·��  �¢°¤©�¤

γt
¡¤°��´� §¶�

gt(γt) ≈ a
µ »�· ���� �²�¤¸ ¡� �¤´¤ª©��©�� �����¤ª*�· ­¢©°¥³ ®

m
ª¤©² �¬�©¤©���

m(x, y) = |gt(x + iy) − a(t)|. �» µê�
� �ª¤¸ § ¶� � �¢©°¥��

x+ iy = γt
­¢©°¥³ ¤

m
�¤ � �©��¢� ´���¤�©� µ â����¤ª����±�· �¤¡�� ���¯���� �©¤�����©�¤ ¥�¢�°¤ �´ «· ª� �©¤�����©�¤ � �©��¢� ­¢©°¥³ � ���¥�·� � ¡�³ ª�¬¥¨ �� ��©©·¥¨ µ� ©¤�� ¤©·� ���´�¤� �� § ³ ¤°� � �¡�ª® � �©�� ¤���¤¥³ � ¢¶·�¤©¤ �· «¤ ¡�� µ �æ��©¨���  �����n��¡¨�ª� ��� ¤©¤ � ���·¥³ � �Åß� µ � ª����©�� ���¤©² ª�° «¤ª©�±¥�² �©¤³ ª��¤©� ���· ³ �³ ¢¶·¥�¢� �«�¶�©�� ¥�¢�°¤ �´ «·µ �·��¥�¤©�� ¥�·©©�°¤ ���� ¡¢ ©¤ ¡®� ��¤«� ���· ¢¶·¥�¢ ����¢ �è µÄÄ�

f ′′
t (a) = − lim

z→γ

g′′t (z)

g′3t (z)
.

�» µ��
ã ������±¸ � �¤©��©�°¤ � ¢ «¤�°¢ ¡�´� �¬�©¤©�¤ ³ � ¡ ������� � �¤�· ���� ©¤ � «¤ �¥�·*©�� § ¥�·��©¢� ��·¥�©�� § ���· ����¥��©�¤¥¨ � � �ª�¬³©² ª�° «¤ª©�±¥�² § �ª� �� �¤ª¤ ¡� �¡�¥��©�¢ ¥�¢�°¤ �´ «·� ���� ��©�¢ �° µ

10−15 µ à¢©°¡ γt
�©¤³ ª��¤©· ³ � ¡ � �¡�ª²  ·����° ��² � � ��©² ª�° «¤ª©�¯±¥�²

δ
µ ��±��

δ
³ � ¡ ª¢¶� � �®° �¤ �ª ´�¤©�¥·  �¢�¢ ¥�·��

10−15 �¥¨�¸ �¥�²¶ �· ¡¤�¥�¤³ ²¥�� ¤«¤ �· �¤� ��©�¸ �¤ª��¤�¤³ ²¥² ª�° «¤ª©�±¸ ©¢� ��·¥�©²� § ¡� ������� � ������±¥� © �� � ®ª����· ¡®� ��¤« µ�©¤³ ª��¤©�� ­¢©°¥³ �
g′t

�
g′′t

©¤ ¡®� ��¤«� � ¢¶·¥��� ��°¢��©¥³ � �
g′t(z) = Φ′

t(gt−1(z)) · g′t−1(z)

g′′t (z) = Φ′′
t (gt−1(z)) ·

(

g′t−1(z)
)2

+ Φ′
t(gt−1(z)) · g′′t−1(z)

� �¤�¢©°��� ��¥�²¡°��·�
g0(z) = z

§
g′0(z) = 1

�
g′′0(z) = 0

µ �©¤¸ ¡����¤ �· «� ³ �ª·©��
Φ′

t��¤�
Φ′′

t

§ °¡¬�� «¤¡�� ����¥�·¸ ª�¤ �  �· ¡°�¥¨ �¤ª¤©·¥¨ ���·�¤ª°¬� ��¬«� «¤ �¥�·©¤ § � ¬«�¤ �° §�¤��¥� µ

êè



� üÒíô î óÝÑØíÖúÝ � ��� ¤©�³ � �¡�ª��� ©¢� ��·¥�©�³ � �®° ��±¸ ¥�·©©�°¬� �� «·�¤³ ²¥·¥¨©¤ � «®ª· ³ � ¡ �  � ¬�©¤ ª�¤ �  �· ¡°�¥¨ �¬�©¤º µ à�ª ¡¤���� ª�¤ � ©�¥¨ § ¡� �
• â°�º¥��©· °��° ¥�¤ ��·§
• æ�° «¤ª©�±¸ �æ��©¨���  �����n ��¡¨�ª� µ

� �«�¶�©�¢ �» µè� ��� �³ ¤�· ¥� «�©· ��®ª¢
∆t2

§ °¡¬�� �©�°¤³ ² � ´�¤©�¥·
∆t → 0

µ æ �¤  °�º¯¥��©�´� °��°¢ ¥�¤ ���´�
∆t

ª¤�¤¸ ¡� � ®ª��� � «²ª ��®ª¢
∆t2

ª�¤ °¤¶ª�´� � «�¶�©�¤ µ Ê ¤³ �����³�¤�� �����¤¸ ¡�© � «²ª � �¶©¤ ���¬�©¢³ ²¥ ����¢¥³ ® ª�¬¥¨ �´�� « �¡¢¡¤³ ¤°¢�¤¡ ©¤ � ¬«� «¤ �¯¥�·*©��� ���· �¬¶©�³ °���³©�±¥�  ° «¤ª¤©�¤ µ æ �¤
∆t → 0

ª� ¡¤³ ��· �¬�©¤©�� £���©��¤ § ¤�� ª�¤ °�º¥��©�´�
∆t

¥� «�©· ��®ª¢
∆t2

� ®ª² � �ª�¥�©� � � ®ª² � ���ª��¤«· �¬¶©�¥® � ¡�¤³ �°¡���¤¥¨�´�� « ª�¤ �¬¶©�³ °���³ ©�±¥� � «�¶�º µ �·°��±��· ��ª¢ « �¬¶©�¥· � �®ª�· � �«�¶�©�¤� � � ����¥¨�«°¬��´��« ª�¤ �¬¶©·¥¨ °���³©�±¥�  ° «¤ª¤©�¤ � ­¢©°¥³ � ¥�¤ ¢ § ª�¤ �¬¶©·¥¨ °��°¬� ¥�¤ ��·¥¨ µ �·©�°�����ª ¡¤� �¤ �· ¢©�° » µÅ æ�¢´� ¥�·©©�° �� «·�¤³ ²¥· ©¤ � «²ª ¡� ª�° «¤ª©�±¸  �¢°¤©�¤ � ����¯

 0

 5e-005

 0.0001

 0.00015

 0.0002

 0.00025

 0  0.2  0.4  0.6  0.8  1  1.2  1.4

∆ 
γ

t

 0

 5e-007

 1e-006

 1.5e-006

 2e-006

 2.5e-006

 0  0.1  0.2  0.3  0.4

∆ 
γ

t

ç· ¢©�° » µÃ � �¤�¡�±¸ � ����´�®ª©¤ �¬¶©�¥· � �®ª�· � �«�¶�©�¤� � � ����¥¨�«°¬� �´��« ª�¤ �¬¶¯©·¥¨ °���³©�±¥�  ° «¤ª¤©�¤ � ­¢©°¥³ � ¥�¤ ¢ § ª�¤ ª�¬¥¨ �´�� « ©¤ � ¬«� «¤ �¥�·*©�� § �� ©²¥·¥¨ �� ¡¤«·� � ¥�·©©�°¤� � ���� ¡¢ µ à� ����³ ¯°��° ¥�¤ ��· ÷ µ÷ Ã§ � � ��¤��³ ¯°��° ¥�¤ ��· ÷ µ÷÷ Ã
¥¨�«°¤ �¤ � �� �¥² � �¡�ª·  ·����° �����³ µ Ê ¤ª� ��©�¸ ©¤��¶·§ ¶� � «²ª ¡�© ³ � ¡ � ¡�¡©· ³ �ª·©��� ���·�¤ª°¢ �¤��¤¥� ¦��  °�� § ´ª· ��«�¶�© �� � ����¥¨�«°¤ � �¡����©� ³ � ¡ ©¤� ª� �·��¥��©�¤���� ¡¢ µ / «²ª � ¡�³ �� ��¤¥³ � � ®ª��� �� «·�¤« ©¤ �¤¥¨��¤©�� �´�� « � ¥¨� ��¤¥¨ � ¬*©��³  �·¥¨ §� ¡�©  � � ¬� � «®ª· ����¤´¢³ ²  �® � ¥�¤ �� µ � ���·�¤ª°¢ ¥¤«°��¤©�¤ �¬�©¤º ��  ¡¤«·� �¥�·©©�°¤� � ���� ¡¢ § �©¤³ ª��¤©�� � ����¥¨�«°¤ ³ � ¡ � �¡����©� ³ �ª·©�� ª� � ��¢¤���¤¥³ � �´ «· � © ���� «·�¤ ©¤ ³ �³ ����¢¥³ ® µæ���·� ¡� ¡�� ª�° «¤ª©�±¥� � �¡�ª·  ·����° ���³ � ��¥��©�¤ ¥�·©©�°¤ ���� ¡¢ § ³ � ¡ �ª¯¡�¤��¤©�� ¤ ·��¡�¡·¥�©�³ �¤�¡�±¥�
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¶ ·¸ ¹º»¼½¾·¿ÀÁÂ½ÃÄ Å¶ ·¸ ¹º»¼½¾·¿Ä Ã¸ ·ÆÅ¶ ·¸ ¹º»¼½¾¹ÀÁ¼º ·ÇÅ¶ ·¸ ¹º»¼½¾¹Ä ÃÁÈ Å¶ ·¸ ¹º»¼½ ¾·¿ÀÁÂ½ÃÄ Å¶ ·¸ ¹º»¼½ ¾ÉÀÁÂ½ÃÄ Å¶ ·¸ ¹º»¼½ ¾Ä ÃÁÈ ÊÈÅ¶ ·¸ ¹º»¼½ ¾¹¿ÄÆ º½ËÅ¶ ·¸ ¹º»¼½ ¾¹¿ÄÆ º½ËÉ Ê¹ÆÆÅ¶ ·¸ ¹º»¼½¾ÃºÌ¿Â ·ÁÈÄ ÅÍÍ Î½É ·¸ ·¹Ï½ ¼ºÃ ¼¿Ð¸È ·ºº À·ÄÆº½Ë¶ ·¸ ¹º»¼½ ¾¸Â»Á ·º Ê¹Å¶¼½É ·¸½ Ñ ÒÓÔ Õ ÊÖ½ ×Ø ÍÍÙ ÀÄ Ãºº ¸»ÄÇ½Â Ê¶¼½É ·¸½ ÓÚÙÛ ØÖÖÖ ÍÍÚÃË ·Ä»Ä Ãºº¿Ð½¼ ¸»ÄÇ½Â ¿É É»¸ ¹Á ·¿¸ ½ÜÃº»ÃÁ ·¿¸ À Ê¶¼½É ·¸½ ÝÞÑßàáâÚ É¿Â ãÏä Õ åÏ¾ä¸¼ ·Ä åÏææ ç èÉ¿Â ãÀ»Ä äÖ ÊÖ é·ä Õ å·¾äÄÆÁÀ å·ææ ç À»Ä æä Æ ê·ë êÏë å Æ À»Ä êÏëäÀ»Ä åì¶¼½É ·¸½ áíÙà ãÃ éÇ ç èÀÐÃÆä ãÃ ç åãÃ çä ãÇ ç åãÇ çäÀÐÃÆ åìÍÍ î¿¸ ·½¹ ¼½É ·¸ ·¹Ï · ¼ºÃ ¼¿Ð¸È ·ºº À·ÄÆº½Ë
» À·¸Ì ¸ÃÄ ½ÀÆÃ¹½ ÀÁ¼ å
¼¿»Ç º½ ÆÆä Õ ÊØïÖïðñòóñïðôõðññ Õðóò Õòó Õñð Õñòðõ å ÍÍÆ ·Íó¼¿»Ç º½ ½Æ À·º¿¸ßº¿Ìä Õ ÊÖ½ ×ÕÖ å ÍÍ¼¿îöÃ¼¸¿À¹ Ð ÷¼¿Ð¸È ·ºº À·ÄÆº½Ë ÷·¸Á Á ·Ä ½Ä ÃËäØÖÖÖ å ÍÍ·º¿À¹ îÂ¿î¿Ð ¹øÃÀ¿Ðù¹È·¸Á ·º¿À¹·Ì ·½º å ÍÍ·º¿À¹ ·Ì ·½º¼¿»Ç º½ ¼ÁäÖ ÊÖÖÖ Õ å ÍÍîÂ¿î ¹øÃÀ¿Ðù¼¿»Ç º½ Ç¿îùäÖ ÊÖò å ÍÍÇ¿î Æ¿¹øÃÁî¿Ð½Ì¿ ÁÂ¿ÏîÃÁÃ Ð ÷¼¿Ð¸È ·ºº À·ÄÆº½Ë ÷¼¿»Ç º½ Ç¿îËäÖ ÊÖò å ÍÍÇ¿î Æ¿¹øÃÁî¿Ð½Ì¿ ÁÂ¿ÏîÃÁÃ Ð ÷¼¿Ð¸È ·ºº À·ÄÆº½Ë ÷¼¿»Ç º½ î¿ÆäÖ ÊÖÖÖÖÖ Õ å ÍÍ ÆÃÂÃÄ ½ÁÂ ÁÂúÏîûÁÃ Ð ¼¿Ð¸È ·ºº À·ÄÆº½Ë¼¿»Ç º½ ½ÁÃäÖ å ÍÍÐùîöÃ¼¸ ·î ½ÁÃ¼¿»Ç º½ ¹øÃÀßÀÁÃº½Ì¿ä Õ å ÍÍÏÃî ¼º»Ì¿ Æ¿¹øûÁî¿Ð ¿ Ä Ã Çùü ¼ä Õ¹¿ÄÆ º½Ë¾¼¿»Çº½Å ßÒÄ ÃÌ ·¸ÃÂù ãÖ éÕç å ÍÍ º·¹øÇÃ ·
ÍÍÎ½îºÃÂÃ¹Ï½ ÁùÆúÐ ÁÃÇº·¹ Ð ·½º¿ÐùÄ ·ÃÂ¿Ðù¹È¼¿»Ç º½ ýÄ ÃÁÂ ·Ë ÕÎ ã·¸Á Ã çè¼¿»Çº½ ýÁÃÇä ¸½Ð ¼¿»Çº½ êÃë åÂ½Á»Â¸ ÁÃÇ åì
¹¿ÄÆ º½Ë¾¼¿»Çº½Å ý¹Ä ÃÁÂ ·Ë ÕÎ ã·¸Á Ã çè¹¿ÄÆº½Ë¾¼¿»Çº½Å ýÁÃÇä ¸½Ð ¹¿ÄÆº½Ë¾¼¿»Çº½Å êÃë åÂ½Á»Â¸ ÁÃÇ åì
¼¿»Ç º½ ýýÄ ÃÁÂ ·ËóÎ ã·¸Á Ã é ·¸Á Ç çè¼¿»Çº½ ýýÁÃÇ ä ¸½Ð ¼¿»Çº½ý êÃë åÉ¿Â ã·¸Á · ä Ö å · ¾ Ã å ·ææ çÁÃÇ ê·ë ä ¸½Ð ¼¿»Çº½ êÇë åÂ½Á»Â¸ ÁÃÇ åì
¹¿ÄÆ º½Ë¾¼¿»Çº½Å ýý¹Ä ÃÁÂ ·ËóÎ ã·¸Á Ã é ·¸Á Ç çè¹¿ÄÆº½Ë¾¼¿»Çº½Å ýýÁÃÇ ä ¸½Ð ¹¿ÄÆº½Ë¾¼¿»Ç º½Åý êÃë åÉ¿Â ã·¸Á · ä Ö å · ¾ Ã å ·ææ çÁÃÇ ê·ë ä ¸½Ð ¹¿ÄÆº½Ë¾¼¿»Ç º½Å êÇë å
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Â½Á»Â¸ ÁÃÇ åì
¼¿»Çº½ ýýýÄ ÃÁÂ ·ËòÎ ã·¸Á Ã é ·¸Á Ç é ·¸Á ¹çè ¼¿»Çº½ ýýýÁÃÇ ä ¸½Ð ¼¿»Çº½ýý êÃë åÉ¿Â ã·¸Á · ä Ö å · ¾ Ã å ·ææ çè ÁÃÇ ê·ë ä ¸½Ð ¼¿»Çº½ý êÇë åÉ¿Â ã·¸Á Ï ä Ö å Ï ¾ Ç å Ïææ çè ÁÃÇ ê·ë êÏë ä ¸½Ð ¼¿»Çº½ ê¹ë åììÂ½Á»Â¸ ÁÃÇ åì
¹¿ÄÆº½Ë¾¼¿»Çº½Å ýýý¹Ä ÃÁÂ ·ËòÎ ã·¸Á Ã é ·¸Á Ç é ·¸Á ¹çè ¹¿ÄÆº½Ë¾¼¿»Ç º½Å ýýýÁÃÇ ä ¸½Ð ¹¿ÄÆº½Ë¾¼¿»Çº½Åýý êÃë åÉ¿Â ã·¸Á · ä Ö å · ¾ Ã å ·ææ çè ÁÃÇ ê·ë ä ¸½Ð ¹¿ÄÆº½Ë¾¼¿»Çº½Åý êÇë åÉ¿Â ã·¸Á Ï ä Ö å Ï ¾ Ç å Ïææ çè ÁÃÇ ê·ë êÏë ä ¸½Ð ¹¿ÄÆº½Ë¾¼¿»Ç º½Å ê¹ë åììÂ½Á»Â¸ ÁÃÇ åì
ÍÍÁÃÇº·¹½ Ìº¿ÇÃº¸½¹¿ÄÆº½Ë¾¼¿»Çº½Å ýýýÃ å¹¿ÄÆº½Ë¾¼¿»Çº½Å ýý¼ å¹¿ÄÆº½Ë¾¼¿»Çº½Å ýýÌÃÄ Ã å¹¿ÄÆº½Ë¾¼¿»Çº½Å ýÁÃÇº·¹øîÃ å¹¿ÄÆº½Ë¾¼¿»Çº½Å ýÁÃÇº·¹øîÃßÆÂ ·Ä å¹¿ÄÆº½Ë¾¼¿»Çº½Å ýÁÃÇº·¹øîÃßÇ ·À å¼¿»Çº½ ý¼º»Ì¿À¹ å·¸Á Á ·Ä ½É»¸î ¹ÏÃ å
ÍÍ þÔÑÙÑ ÿ ÓâÚÞ� ÒþÙ� �Þþ Òà ÒÞá
¼¿»Çº½ ýÃººÜ½¹ ã·¸Á ¸ ç èÂ½Á»Â¸ ã¼¿»Çº½ýç ¹Ãºº¿¹ ã¸ éÀ·ø½¿É ã¼¿»Çº½ çç å ì
Ü¿·¼ ÉÂ½Ü½¹ ã¼¿»Çº½ ýÜ½¹ç èÉÂ½½ ãÜ½¹ç å ì
Ü¿·¼ ÃÄ ¿½ÇÃ ã¼¿»Ç º½ ýýÆ é ¼¿»Çº½ ù êë é ·¸Á ¸¼ ·Ä é ¼¿»Çº½ ÉÁ¿º é ¼¿»Çº½ ãýÉ»¸î ç ã¼¿»Çº½ êë ç é ·¸Á ý¸É»¸î ç
ÍýÚ»ºÁ ·¼ ·Ä ½¸ À·¿¸Ãº Ä ·¸ ·Ä ·øÃÁ ·¿¸ ¿É ÁÈ½É»¸ ¹Á ·¿¸ É»¸î ãË ç ÐÈ½Â½ Ë êÕ ÊȨ̂ ¼ ·Ä ë ·À Ã Ü½¹Á¿Â ·¸ ¸¼ ·Ä¼ ·Ä ½¸ À·¿¸ À é Çù ÁÈ½ ¼¿Ð¸È ·ºº À·ÄÆº½Ë Ä ½ÁÈ¿¼ ¿É Ó½º¼½Â Ã¸¼ Ú½Ã¼ Ê ÑÈ½ Ä ÃÁÂ ·Ë Æ êÕ ÊȨ̂ ¼ ·Ä æ ÕëêÕ ÊȨ̂ ¼ ·Ä ë ·À ·¸Æ»Á Ê ÒÁÀ ¸¼ ·Ä æ Õ Â¿Ð À ÃÂ½ ¸¼ ·Ä ×¼ ·Ä ½¸ À·¿¸Ãº Ü½¹Á¿ÂÀ ÐÈ ·¹È ÃÂ½ ÁÈ½ Ü½ÂÁ ·¹½À ¿ÉÁÈ½ ÀÁÃÂÁ ·¸Ì À·ÄÆº½Ë Ê ÙºÀ¿ ·¸Æ»Á ·À ÁÈ½ Ü½¹Á¿Â ù êÕ ÊȨ̂ ¼ ·Ä æ Õë é ÐÈ¿À½ ¹¿ÄÆ¿¸½¸ÁÀ Ä » ÀÁ Ç½ ÆÂ½·¸ ·Á ·Ãº·ø½¼ Á¿ ÁÈ½ ÜÃº»½À ¿É É»¸î ½ÜÃº»ÃÁ½¼ ÃÁ ÁÈ½ ¸¼ ·Ä æ Õ Ü½ÂÁ ·¹½À ãÂ¿Ð Àç ¿É Æ å Ã¸¼ ÉÁ¿º ÁÈ½ÉÂÃ¹Á ·¿¸Ãº ¹¿¸Ü½ÂÌ½¸ ¹½Á¿º½ÂÃ¸ ¹½Á¿Ç½ Ã¹È ·½Ü½¼ ·¸ÁÈ½É»¸ ¹Á ·¿¸ ÜÃº»½ ã¸ ÊÇ Ê�ç Ê �¸ ¿»ÁÆ»Á é Æ Ã¸¼ù Ð ·ºº ÈÃÜ½ Ç½½¸ Â½À½Á Á¿ ¸¼ ·Ä æ Õ ¸½Ð Æ¿·¸ÁÀ Ãºº Ð ·ÁÈ ·¸ ÉÁ¿º ¿É Ã Ä ·¸ ·Ä»Ä É»¸ ¹Á ·¿¸ ÜÃº»½ é Ã¸¼¸É»¸î Ì ·Ü½À ÁÈ½ ¸»ÄÇ½Â ¿É É»¸ ¹Á ·¿¸ ½ÜÃº»ÃÁ ·¿¸ À ÁÃî½¸ Ê ýÍ
è ÍÍ¹¿»Á ¾¾ ½¸¼º å¹¿»Á ¾¾ ÷Ã ÷ å¼¿»Çº½ ÃÄ ¿ÁÂù ã¼¿»Ç º½ ýýÆ é ¼¿»Çº½ ù êë é ¼¿»Çº½ Æ À»Ä êë é ·¸Á ¸¼ ·Ä é¼¿»Çº½ ãýÉ»¸î ç ã¼¿»Çº½ êë ç é ·¸Á ·È · é ¼¿»Çº½ ÉÃ¹ç å·¸Á · é·È · é·º¿ é·¸È · éÏ éÄÆÁÀä¸¼ ·Ä æ Õ å¼¿»Çº½ ÂÁ¿º éÀ»Ä éÀÐÃÆ éùÀÃÜ½ éùÁÂù éýÆ À»Ä å
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Æ À»Ä äÜ½¹Á¿Â ãÕ ȩ́ ¼ ·Ä ç åý¸É»¸îäÖ åÝÞÑßàáâÚÉ¿Â ãååç è·º¿ä Õ åÍÍ� ·ÂÀÁ Ð½ Ä» ÀÁ¼½Á½ÂÄ ·¸½ ÐÈ ·¹ÈÆ¿·¸Á ·ÀÁÈ½È ·ÌÈ½ÀÁ ãÐ ¿ÂÀÁ ç é¸½ËÁ ×È ·ÌÈ½ÀÁ éÃ¸¼º¿Ð½ÀÁÍÍ ãÇ½ÀÁ ç é Çù º¿¿Æ ·¸Ì ¿Ü½Â ÁÈ½ Æ¿·¸ÁÀ ·¸ ÁÈ½ À·ÄÆº½Ë Ê·È · ä ù êÕëÅù êóë � ã·¸È ·äó éÕç � ã·¸È ·ä Õ éó ç åÉ¿Â ã·ä Õ å·¾äÄ ÆÁÀ å·ææ ç è·É ãù ê·ë ¾ä ù ê·º¿ë ç ·º¿ä · å·É ãù ê·ë Å ù ê·È ·ë ç è·¸È ·ä ·È · å·È ·ä · åì ½ºÀ½ ·É ãù ê·ë Å ù ê·¸È ·ë �� · �ä ·È ·ç ·¸È ·ä · åìÍÍÂÁ¿ºäó ÊÖýÉÃÇ À ãù ê·È ·ë ×ù ê·º¿ë çÍ ãÉÃÇ À ãù ê·È ·ë çæÉÃÇ À ãù ê·º¿ë çæÑ ÒÓÔ ç åÂÁ¿ºäÉÃÇ À ãÆ ê·È ·ë êÕë ×Æ ê·º¿ë êÕë çæÉÃÇ À ãÆ ê·È ·ë êóë ×Æ ê·º¿ë êóë ç å
ÍÍþ¿ÄÆ»Á½ ÁÈ½ ÉÂÃ¹Á ·¿¸Ãº ÂÃ¸Ì½ ÉÂ¿Ä È ·ÌÈ½ÀÁ Á¿ º¿Ð½ÀÁ Ã¸¼ Â½Á»Â¸ ·É ÀÃÁ ·ÀÉÃ¹Á¿Âù Ê
·É ãÂÁ¿º ¾ ÉÁ¿ºç è ÍÍÒÉ Â½Á»Â¸ ·¸Ì é Æ»Á Ç½ÀÁ Æ¿·¸Á Ã¸¼ ÜÃº»½ ·¸ Àº¿Á Õ ÊáíÙà ãù êÕë éù ê·º¿ë çÉ¿Â ã·ä Õ å·¾ä¸¼ ·Ä å·ææ ç áíÙà ãÆ êÕë ê·ë éÆ ê·º¿ë ê·ë çÇÂ½Ãî åì·É ãý¸É»¸î Åä ÓÚÙÛ ç ¸Â½ÂÂ¿Â ã÷ÚÃË ·Ä Ãº ¸»ÄÇ½Â ¿É ·Á½ÂÃÁ ·¿¸ ½Ë¹½½¼½¼ ÷ç åý¸É»¸î æä ó åÍÍ�½Ì ·¸Ã ¸½Ð ·Á½ÂÃÁ ·¿¸ Ê � ·ÂÀÁ ½ËÁÂÃÆ¿ºÃÁ½Çù ÃÉÃ¹Á¿Â ×Õ ÁÈÂ¿»ÌÈ ÁÈ½ ÉÃ¹½ ¿É ÁÈ½ À·ÄÆº½ËÍÍÃ¹Â¿ÀÀ ÉÂ¿Ä ÁÈ½ È ·ÌÈ Æ¿·¸Á é · Ê½ Êé Â½Éº½¹Á ÁÈ½ À·ÄÆº½Ë ÉÂ¿Ä ÁÈ½ È ·ÌÈ Æ¿·¸Á ÊùÁÂùäÃÄ ¿ÁÂù ãÆ éù éÆ À»Ä ȩ́ ¼ ·Ä éÉ»¸î é·È · é×Õ ÊÖ ç å·É ãùÁÂù ¾ä ù ê·º¿ë çÍÍÝ ·Ü½À Ã Â½À»ºÁ Ç½ÁÁ½Â ÁÈÃ¸ ÁÈ½ Ç½ÀÁ Æ¿·¸Á é À¿ ÁÂù Ã¸ Ã¼¼ ·Á ·¿¸Ãº ½ËÁÂÃÆ¿ºÃÁ ·¿¸ Çù ÃÍÍÉÃ¹Á¿Â ó ÊùÁÂùäÃÄ ¿ÁÂù ãÆ éù éÆ À»Ä ȩ́ ¼ ·Ä éÉ»¸î é·È · éó ÊÖ ç å½ºÀ½ ·É ãùÁÂù Åä ù ê·¸È ·ë ç èÍÍÑÈ½ Â½Éº½¹Á½¼ Æ¿·¸Á ·À Ð¿ÂÀ½ ÁÈÃ¸ ÁÈ½ À½¹¿¸¼ ×È ·ÌÈ½ÀÁ é À¿ º¿¿î É¿Â Ã¸ ·¸Á½ÂÄ ½¼ ·ÃÁ½ÍÍº¿Ð½Â Æ¿·¸Á é · Ê½ Êé ¼¿ Ã ¿¸½ ×¼ ·Ä ½¸ À·¿¸Ãº ¹¿¸ÁÂÃ¹Á ·¿¸ ÊùÀÃÜ½äù ê·È ·ë åùÁÂùäÃÄ ¿ÁÂù ãÆ éù éÆ À»Ä ȩ́ ¼ ·Ä éÉ»¸î é·È · éÖ ÊØ ç å·É ãùÁÂù Åä ùÀÃÜ½ ç è ÍÍþÃ¸ 	Á À½½Ä Á¿ Ì½Á Â ·¼ ¿É ÁÈÃÁ È ·ÌÈ Æ¿·¸Á Ê �½ÁÁ½ÂÉ¿Â ã·ä Õ å·¾äÄ ÆÁÀ å·ææ ç è ÍÍ¹¿¸ÁÂÃ¹Á ÃÂ¿»¸¼ ÁÈ½ º¿Ð½ÀÁ ãÇ½ÀÁ çÆ ¿·¸Á Ê·É ã· �ä ·º¿çèÉ¿Â ãÏä Õ åÏ¾ä¸¼ ·Ä åÏææ çÆ ê·ë êÏëäÆ À»Ä êÏëäÖ ÊØý ãÆ ê·ë êÏëæÆ ê·º¿ë êÏë ç åù ê·ëä ãýÉ»¸î ç ãÆ À»Ä ç åììý¸É»¸î æä ¸¼ ·Ä å ÍÍ
½½Æ ÁÂÃ¹î ¿É É»¸ ¹Á ·¿¸ ½ÜÃº»ÃÁ ·¿¸ À ÊÝÞÑßàáâÚ ÍÍ�½¹¿ÄÆ»Á½ Æ À»Ä Êìì ½ºÀ½ ×× ãý¸É»¸î ç å ÍÍþ¿ÂÂ½¹Á ÁÈ½ ½ÜÃº»ÃÁ ·¿¸ ¹¿»¸Á Êì ÍÍÝ¿ ÇÃ¹î É¿Â ÁÈ½ Á½ÀÁ ¿É ¼¿¸½¸½ÀÀ Ã¸¼ ÁÈ½ ¸½ËÁÉÂ½½ßÜ½¹Á¿Â ãÆ À»Ä éÕ ȩ́ ¼ ·Ä ç å ÍÍ·Á½ÂÃÁ ·¿¸ Êì

ÍÍ¶ ·¸ ¹º»¼½ ÷¸Â»Á ·º ÊÈ ÷
¼¿»Ç º½ ÃÄ ¿ÁÂù ã¼¿»Çº½ ýýÆ é ¼¿»Çº½ ù êë é ¼¿»Çº½ Æ À»Ä êë é ·¸Á ¸¼ ·Ä é¼¿»Çº½ ãýÉ»¸î ç ã¼¿»Ç º½ êë ç é ·¸Á ·È · é ¼¿»Çº½ ÉÃ¹ç
ÍÍÞËÁÂÃÆ¿ºÃÁ½À Çù Ã ÉÃ¹Á¿Â ÉÃ¹ ÁÈÂ¿»ÌÈ ÁÈ½ ÉÃ¹½ ¿É ÁÈ½ À·ÄÆº½Ë Ã¹Â¿ÀÀ ÉÂ¿Ä ÁÈ½ È ·ÌÈ Æ¿·¸Á é ÁÂ ·½ÀÍÍ·Á é Ã¸¼ Â½ÆºÃ¹½À ÁÈ½ È ·ÌÈ Æ¿·¸Á ·É ÁÈ½ ¸½Ð Æ¿·¸Á ·À Ç½ÁÁ½Â Ê
è ·¸Á Ï å¼¿»Çº½ ÉÃ¹Õ éÉÃ¹ó éùÁÂù éýÆÁÂù å

ÆÁÂùäÜ½¹Á¿Â ãÕ ȩ́ ¼ ·Ä ç åÉÃ¹Õä ãÕ ÊÖ ×ÉÃ¹çÍ¸¼ ·Ä å
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ÉÃ¹óäÉÃ¹Õ×ÉÃ¹ åÉ¿Â ãÏä Õ åÏ¾ä¸¼ ·Ä åÏææ ç ÆÁÂù êÏëäÆ À»Ä êÏëýÉÃ¹Õ×Æ ê·È ·ë êÏëýÉÃ¹ó åùÁÂùä ãýÉ»¸î ç ãÆÁÂù ç å ÍÍÞÜÃº»ÃÁ½ ÁÈ½ É»¸ ¹Á ·¿¸ ÃÁ ÁÈ½ ÁÂ ·Ãº Æ¿·¸Á Ê·É ãùÁÂù ¾ ù ê·È ·ë ç è ÍÍÒÉ ·Á 	À Ç½ÁÁ½Â ÁÈÃ¸ ÁÈ½ È ·ÌÈ½ÀÁ é ÁÈ½¸ Â½ÆºÃ¹½ ÁÈ½ È ·ÌÈ½ÀÁ Êù ê·È ·ëäùÁÂù åÉ¿Â ãÏä Õ åÏ¾ä¸¼ ·Ä åÏææ ç èÆ À»Ä êÏë æä ÆÁÂù êÏë ×Æ ê·È ·ë êÏë åÆ ê·È ·ë êÏëäÆÁÂù êÏë åììÉÂ½½ßÜ½¹Á¿Â ãÆÁÂù éÕ ȩ́ ¼ ·Ä ç åÂ½Á»Â¸ ùÁÂù åì
ÍÍ 
�Ó ÒÞþ þÔÑÙÑ» ÿ ÓâÚÞ� ÒþÙ� �Þþ Òà ÒÞá
ÍÍÆ¿Ï½¼ù¸ ¹ø½ Æ ¹È¸ ·�¹·½ Ð ¹ÈÐ ·º· Á ·Ä ½ ¿¼ Ç ·½Ì»¸Ã ¸»Ä ½Â ¸Ã ÆúöÆöÃÀø¹øù�¸ ·½¹¿ÄÆº½Ë¾¼¿»Çº½Å ÆÈ · ã·¸Á ¸»Ä ½Â é·¸Á Á ·Ä ½ é ¹¿ÄÆº½Ë¾¼¿»Ç º½Å ø çè

·É ãÃÇ À ãø ×Ã ȩ̂ »Ä ½Âë êÁ ·Ä ½ë ȩ̂ »Ä ½Âë ç¾ Õ ÊÖ½ ×ÕÖ çè Â½Á»Â¸ Ö ÊØý¼ÁýÆÆýÆÆý¼ ȩ̂ »Ä ½Âë êÁ ·Ä ½ëýÀ·¸ ãÆÆ ýÃ ȩ̂ »Ä ½Âë êÁ ·Ä ½ë ȩ̂ »Ä ½Âë ç åì¹¿ÄÆº½Ë¾¼¿»Ç º½Å À·¸ß äÀ·¸ ãÆÆýÃ ȩ̂ »Ä ½Âë êÁ ·Ä ½ë ȩ̂ »Ä ½Âë çý ãÕ ÊÖæÆÆýÆÆý¼Áý¼ ȩ̂ »Ä ½Âë êÁ ·Ä ½ë ç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å ¹¿Àß ä¹¿À ãÆÆýÃ ȩ̂ »Ä ½Âë êÁ ·Ä ½ë ȩ̂ »Ä ½Âë ç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å ÀäÀ·¸ ãÆÆ ýø ç×À·¸ß å¹¿ÄÆº½Ë¾¼¿»Ç º½Å ÉäÀ
ÂÁ ãÀýÀæóý¼ÁýÆÆýÆÆý¹¿Àßý¹¿Àßý¼ ȩ̂ »Ä ½Âë êÁ ·Ä ½ë ç å·É ãÀ ÊÂ½Ãº ãç¾Ö ç Éä ×É åÂ½Á»Â¸ É åÍÍæÀ·¸ß åì
ÍÍÆ¿Ï½¼ù¸ ¹ø½ Æ ¹È¸ ·�¹·½ Ð ¹ÈÐ ·º· Á ·Ä ½ ¿¼ Ç ·½Ì»¸Ã ¸ · Ï½Ì¿ Æ¿¹È¿¼¸½¹¿ÄÆº½Ë¾¼¿»Çº½Å É · ã·¸Á ¸»Ä ½Â é·¸Á Á ·Ä ½ é ¹¿ÄÆº½Ë¾¼¿»Çº½Å ø çè

¹¿ÄÆº½Ë¾¼¿»Ç º½Å É ÕäÆÈ · ã¸»Ä ½Â éÁ ·Ä ½ éÕç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å ÉßÕäÆÈ · ã¸»Ä ½Â éÁ ·Ä ½ é×Õç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å ¹äó ÊÖÍ ãÉ Õ×ÉßÕç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å ÇäÖ ÊØý ãÉ ÕæÉßÕç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å Á½ÄÆä¹ý ãÆÈ · ã¸»Ä ½Â éÁ ·Ä ½ éø ç×Ç ÊÂ½Ãº ãçç åÂ½Á»Â¸ ÃÀ·¸ ãÁ½ÄÆ çÍÆÆ åì
¹¿ÄÆº½Ë¾¼¿»Çº½Å É ·ßÆÂ ·Ä ã·¸Á ¸»Ä ½Â é·¸Á Á ·Ä ½ é ¹¿ÄÆº½Ë¾¼¿»Çº½Å ø çè ¹¿ÄÆº½Ë¾¼¿»Ç º½Å À·¸ß äÀ·¸ ãÆÆýÃ ȩ̂ »Ä ½Âë êÁ ·Ä ½ë ȩ̂ »Ä ½Âë çý ãÕ ÊÖæÆÆýÆÆý¼Áý¼ ȩ̂ »Ä ½Âë êÁ ·Ä ½ë ç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å É ÕäÆÈ · ã¸»Ä ½Â éÁ ·Ä ½ éÕç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å ÉßÕäÆÈ · ã¸»Ä ½Â éÁ ·Ä ½ é×Õç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å ¹äó ÊÖÍ ãÉ Õ×ÉßÕç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å ÇäÖ ÊØý ãÉ ÕæÉßÕç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å ÆÈ ·ßäÆÈ · ã¸»Ä ½Â éÁ ·Ä ½ éø ç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å Ä äÀ
ÂÁ ãÕ ÊÖ × ¹ý¹ý ãÆÈ ·ß ×Ç çý ãÆÈ ·ß ×Ç çç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å ÀäÀ·¸ ãÆÆ ýø ç×À·¸ß å¹¿ÄÆº½Ë¾¼¿»Ç º½Å Á½ÄÆä¹ý¹¿À ãÆÆýø çýÀÍÄ ÍÆÈ ·ß åÂ½Á»Â¸ Á½ÄÆ åì
¹¿ÄÆº½Ë¾¼¿»Çº½Å É ·ßÇ ·À ã·¸Á ¸»Ä ½Â é·¸Á Á ·Ä ½ é ¹¿ÄÆº½Ë¾¼¿»Ç º½Å ø çè ¹¿ÄÆº½Ë¾¼¿»Ç º½Å À·¸ß äÀ·¸ ãÆÆýÃ ȩ̂ »Ä ½Âë êÁ ·Ä ½ë ȩ̂ »Ä ½Âë çý ãÕ ÊÖæÆÆýÆÆý¼Áý¼ ȩ̂ »Ä ½Âë êÁ ·Ä ½ë ç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å É ÕäÆÈ · ã¸»Ä ½Â éÁ ·Ä ½ éÕç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å ÉßÕäÆÈ · ã¸»Ä ½Â éÁ ·Ä ½ é×Õç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å ¹äó ÊÖÍ ãÉ Õ×ÉßÕç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å ÇäÖ ÊØý ãÉ ÕæÉßÕç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å ÆÈ ·ßäÆÈ · ã¸»Ä ½Â éÁ ·Ä ½ éø ç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å Ä äÀ
ÂÁ ãÕ ÊÖ × ¹ý¹ý ãÆÈ ·ß ×Ç çý ãÆÈ ·ß ×Ç çç å¹¿ÄÆº½Ë¾¼¿»Ç º½Å ÀäÀ·¸ ãÆÆ ýø ç×À·¸ß å

�Å



¹¿ÄÆº½Ë¾¼¿»Çº½Å ¹¿Àßä¹¿À ãÆÆýø ç å
¹¿ÄÆº½Ë¾¼¿»Çº½Å Á½ÄÆä¹ýÆÆ ý ã ¹¿Àßý¹¿ÀßÍ ãÄ ýÆÈ ·ßç × ¹¿Àßý¹¿ÀßýÀýÀÍ ãÄ ýÆÈ ·ßýÆÈ ·ßýÆÈ ·ß ç æ¹ý¹ý¹¿Àßý¹¿ÀßýÀýÀý ãÆÈ ·ß×Ç çÍ ãÄ ýÄ ýÄ ýÆÈ ·ßýÆÈ ·ßç æ À·¸ ãÆÆýø çýÀÍ ãÄ ýÆÈ ·ß ç ç åÂ½Á»Â¸ Á½ÄÆ åì

ÍÍÆ¿Ï½¼ù¸ ¹ø½ Æ ¹È¸ ·�¹·½ ø ¼Ð»ÐùÄ ·ÃÂ¿ÐùÄ ¹øÃÀ½Ä · Ï½Ì¿ Æ¿¹È¿¼¸½¹¿ÄÆ º½Ë¾¼¿»Çº½Å É ·ß ã·¸Á Á ·Ä ½ß é ¹¿ÄÆº½Ë¾¼¿»Çº½Å ø çè ·¸Á Á ·Ä ½ä ã·¸Á çÉº¿¿Â ãã¼¿»Ç º½ ç ãÁ ·Ä ½ß çÍ ã¼¿»Çº½ ç·º¿À¹·Ì ·½ºç å·¸Á ¸»Ä ½ÂäÁ ·Ä ½ß×Á ·Ä ½ý·º¿À¹·Ì ·½º åÂ½Á»Â¸ É · ã¸»Ä ½Â éÁ ·Ä ½ éø ç å
ì
¹¿ÄÆ º½Ë¾¼¿»Çº½Å É ·ßÆÂ ·Ä ß ã·¸Á Á ·Ä ½ß é ¹¿ÄÆº½Ë¾¼¿»Çº½Å ø çè ·¸Á Á ·Ä ½ä ã·¸Á çÉº¿¿Â ãã¼¿»Ç º½ ç ãÁ ·Ä ½ß çÍ ã¼¿»Çº½ ç·º¿À¹·Ì ·½ºç å·¸Á ¸»Ä ½ÂäÁ ·Ä ½ß×Á ·Ä ½ý·º¿À¹·Ì ·½º åÂ½Á»Â¸ É ·ßÆÂ ·Ä ã¸»Ä ½Â éÁ ·Ä ½ éø ç å
ì
¹¿ÄÆ º½Ë¾¼¿»Çº½Å É ·ßÇ ·Àß ã·¸Á Á ·Ä ½ß é ¹¿ÄÆº½Ë¾¼¿»Ç º½Å ø çè ·¸Á Á ·Ä ½ä ã·¸Á çÉº¿¿Â ãã¼¿»Ç º½ ç ãÁ ·Ä ½ß çÍ ã¼¿»Çº½ ç·º¿À¹·Ì ·½ºç å·¸Á ¸»Ä ½ÂäÁ ·Ä ½ß×Á ·Ä ½ý·º¿À¹·Ì ·½º åÂ½Á»Â¸ É ·ßÇ ·À ã¸»Ä ½Â éÁ ·Ä ½ éø ç å
ì
ÍÍ¼Â»ÌÃ Æ¿¹È¿¼¸Ã É ø ¼Ð»ÐùÄ ·ÃÂ¿ÐùÄ ¹øÃÀ½Ä¹¿ÄÆ º½Ë¾¼¿»Çº½Å ÉßÇ ·Àß ã·¸Á Á ·Ä ½ß é ¹¿ÄÆº½Ë¾¼¿»Çº½Å ø çè É¿Â ã·¸Á º·¹ø¸ ·îäÖ åº ·¹ø¸ ·î ¾·º¿À¹·Ì ·½º åº·¹ø¸ ·îææ çè ÁÃÇº·¹øîÃ êº·¹ø¸ ·îëäø åÁÃÇº·¹øîÃßÆÂ ·Ä êº·¹ø¸ ·îëä Õ åÁÃÇº·¹øîÃßÇ ·À êº ·¹ø¸ ·îëäÖ åìÉ¿Â ã·¸Á º·¹ø¸ ·îä ·º¿À¹·Ì ·½º åº ·¹ø¸ ·î ¾Á ·Ä ½ßæ Õ åº·¹ø¸ ·îææ çè ÁÃÇº·¹øîÃ êº·¹ø¸ ·îëäÉ ·ß ãº ·¹ø¸ ·î éÁÃÇº·¹øîÃ êº ·¹ø¸ ·î ×Õë ç åÁÃÇº·¹øîÃßÆÂ ·Ä êº·¹ø¸ ·îëäÉ ·ßÆÂ ·Ä ß ãº·¹ø¸ ·î éÁÃÇº ·¹øîÃ êº·¹ø¸ ·î ×Õë çýÁÃÇº ·¹øîÃßÆÂ ·Ä êº ·¹ø¸ ·î ×Õë åÁÃÇº·¹øîÃßÇ ·À êº ·¹ø¸ ·îëäÉ ·ßÇ ·Àß ãº·¹ø¸ ·î éÁÃÇ º·¹øîÃ êº·¹ø¸ ·î ×Õë çýÁÃÇº·¹øîÃßÆÂ ·Ä êº·¹ø¸ ·î ×ÕëýÁÃÇº·¹øîÃßÆÂ ·Ä êº·¹ø¸ ·î ×ÕëæÉ ·ßÆÂ ·Ä ß ãº·¹ø¸ ·î éÁÃÇº ·¹øîÃ êº·¹ø¸ ·î ×Õë çýÁÃÇº ·¹øîÃßÇ ·À êº·¹ø¸ ·î ×Õë åìÂ½Á»Â¸ ÃÇ À ãÁÃÇº·¹øîÃßÇ ·À êÁ ·Ä ½ßëÍÆ¿Ð ãÁÃÇº ·¹øîÃßÆÂ ·Ä êÁ ·Ä ½ßë éò çç åì
ÍÍ¼Â»ÌÃ Æ¿¹È¿¼¸Ã É ¸¿ÂÄ Ãº¸ùÄ ¹øÃÀ½Ä¹¿ÄÆ º½Ë¾¼¿»Çº½Å ÉßÇ ·À ã·¸Á Á ·Ä ½ é ¹¿ÄÆº½Ë¾¼¿»Ç º½Å ø çè Â½Á»Â¸ ÉßÇ ·Àß ããÁ ·Ä ½æ Õçý·º¿À¹·Ì ·½º×Õ éø ç åì
ÍÍÕÍÉ 		 Ð ¹ÈÐ ·º· Á ·Ä ½ · ¸Ã Ç ·½Ì»¸ ·½ ¸»Ä ½Â¼¿»Ç º½ ¼ÃÆÆÂ¿Ë ã·¸Á Á ·Ä ½ é ·¸Á ¸»Ä ½Â çè Â½Á»Â¸ ÕÍÃÇ À ãÉßÇ ·À ãÁ ·Ä ½ éÌÃÄ Ã ȩ̂ »Ä ½Âë êÁ ·Ä ½ë çç åì
ÍÍ Ì ø ¼Â»ÐùÄ ·ÃÂ¿ÐùÄ ¹øÃÀ½Ä¹¿ÄÆ º½Ë¾¼¿»Çº½Å Ìß ã·¸Á Á ·Ä ½ß é ¹¿ÄÆº½Ë¾¼¿»Çº½Å ø çè

�Ä



É¿Â ã·¸Á º·¹ø¸ ·îäÖ åº·¹ø¸ ·î¾·º¿À¹·Ì ·½º åº·¹ø¸ ·îææ çÁÃÇº·¹øîÃ êº ·¹ø¸ ·îëäø å
É¿Â ã·¸Á º·¹ø¸ ·îä ·º¿À¹·Ì ·½º åº·¹ø¸ ·î¾Á ·Ä ½ßæ Õ åº·¹ø¸ ·îææ çÁÃÇº·¹øîÃ êº ·¹ø¸ ·îëäÉ ·ß ãº·¹ø¸ ·î éÁÃÇº ·¹øîÃ êº·¹ø¸ ·î ×Õë ç åÂ½Á»Â¸ ÁÃÇº·¹øîÃ êÁ ·Ä ½ßë åì

ÍÍ É»¸î ¹ÏÃ Ì¹¿ÄÆº½Ë¾¼¿»Çº½Å Ì ã·¸Á Á ·Ä ½ é ¹¿ÄÆº½Ë¾¼¿»Ç º½Å ø çè Â½Á»Â¸ Ìß ããÁ ·Ä ½æ Õçý·º¿À¹·Ì ·½º×Õ éø ç åì
ÍÍÆ¿Ä ¿¹¸ ·¹øÃ É»¸î ¹ÏÃ ¼¿ Àø»îÃ¸ ·Ã ¹ø»ÇîÃ ·Ìöù ãÆÃÂÃÄ ½ÁÂ ¼¿Ð¸È ·ºº À·ÄÆº½Ë ç¼¿»Çº½ É»¸î ¹ÏÃßº¿Ì ã¼¿»Çº½ Ë êë çè ¹¿ÄÆº½Ë¾¼¿»Çº½Å ø ãË êÕë éË êóë ç å·É ãË êóë¾Ö ç Â½Á»Â¸ ÕÖÖÖÖÖ å¹¿ÄÆº½Ë¾¼¿»Çº½Å Á½ÄÆäÌ ãÁ ·Ä ½É»¸î ¹ÏÃ éø ç å ÍÍÍ Ñâ ÿÚ ÒÙÓÙ �Â½Á»Â¸ º¿Ì ãÃÇ À ãÁ½ÄÆ ÊÂ½Ãº ãç×ÃÉ»¸î ¹ÏÃ çæÃÇ À ãÁ½ÄÆ Ê·Ä ÃÌ ãççç åì
ÍÍÀø»îÃ¸ ·½ ¹ø»ÇîÃ ·Ìöù ø Ðùî¿ÂøùÀÁÃ¸ ·½Ä ¼¿Ð¸È ·ºº À·ÄÆº½ËÜ¿·¼ Àø»îÃÏÌÃÄ Ã ã·¸Á ¸»Ä ½Â é·¸Á Á ·Ä ½ çè Á ·Ä ½É»¸î ¹ÏÃäÁ ·Ä ½ åÃÉ»¸î ¹ÏÃäÃ ȩ̂ »Ä ½Âë êÁ ·Ä ½ë êÖë ÊÂ½Ãº ãç å¼¿»Çº½ Æ êôë êòë åÆ êÕë êÕëä ÌÃÄ Ã ȩ̂ »Ä ½Âë êÁ ·Ä ½ ×Õë ÊÂ½Ãº ãçæî¿Æ åÆ êÕë êóëä ÌÃÄ Ã ȩ̂ »Ä ½Âë êÁ ·Ä ½ ×Õë Ê·Ä ÃÌ ãç×Ç¿îù åÆ êóë êÕëä ÌÃÄ Ã ȩ̂ »Ä ½Âë êÁ ·Ä ½ ×Õë ÊÂ½Ãº ãç×Ö ÊõññÖóØôÖòïõôôòõñôñïýÇ¿îË åÆ êóë êóëä ÌÃÄ Ã ȩ̂ »Ä ½Âë êÁ ·Ä ½ ×Õë Ê·Ä ÃÌ ãçæÇ¿îùÍó åÆ êòë êÕëä ÌÃÄ Ã ȩ̂ »Ä ½Âë êÁ ·Ä ½ ×Õë ÊÂ½Ãº ãçæÖ ÊõññÖóØôÖòïõôôòõñôñïýÇ¿îË åÆ êòë êóëä ÌÃÄ Ã ȩ̂ »Ä ½Âë êÁ ·Ä ½ ×Õë Ê·Ä ÃÌ ãçæÇ¿îùÍó å

¼¿»Çº½ ù êôë å¼¿»Çº½ Ë êòë åË êÕëäÆ êÕë êÕë åË êóëäÆ êÕë êóë åù êÕëäÉ»¸î ¹ÏÃßº¿Ì ãË ç å
Ë êÕëäÆ êóë êÕë åË êóëäÆ êóë êóë åù êóëäÉ»¸î ¹ÏÃßº¿Ì ãË ç å
Ë êÕëäÆ êòë êÕë åË êóëäÆ êòë êóë åù êòëäÉ»¸î ¹ÏÃßº¿Ì ãË ç å
¼¿»Çº½ ãýÐ ÀîÆ êôë çäèýÆ éý ãÆæ Õç éý ãÆæó ç éý ãÆæò çì å·¸Á º·¹ø¸ ·î åÃÄ ¿½ÇÃ ãÐ ÀîÆ é ù é ó é ½Æ À·º¿¸ßº¿Ì é É»¸î ¹ÏÃßº¿Ì é �º·¹ø¸ ·î ç åÌÃÄ Ã ȩ̂ »Ä ½Âë êÁ ·Ä ½ë ä ¹¿ÄÆº½Ë¾¼¿»Çº½Å ããÆ êÕë êÕëæÆ êóë êÕëæÆ êòë êÕë çÍò éãÆ êÕë êóëæÆ êóë êóëæÆ êòë êóë çÍò ç åì

ÍÍº·¹øù ÐÃÂÁ¿�ü ¹øù¸¸ ·îÃ ÐøÂ¿ÀÁ» Ð ¹ÈÐ ·º· Á ¼ºÃ ·Ìöù ¸»Ä ½Â¹¿ÄÆº½Ë¾¼¿»Çº½Å º·¹ø¼ ã·¸Á ¸»Ä ½Â é·¸Á Á ·Ä ½ çè ·É ã½ÁÃääÖ ÊÖ ç Â½Á»Â¸ Õ å½ºÀ½ Â½Á»Â¸ Æ¿Ð ã¼ÃÆÆÂ¿Ë ãÁ ·Ä ½ ȩ́ »Ä ½Â ç éÕæ½ÁÃ ç åì
ÍÍº·¹øù Â» ¹È Ç ·½Ì»¸úÐ Ã Ð ¹ÈÐ ·º· Á ã¼ºÃ Ð ÀøùÀÁî ·¹È ·Ì ·½öçÜ¿·¼ º·¹øÃ ã·¸Á Á ·Ä ½ çè É¿Â ã·¸Á ¸äÖ å̧ ¾ ·º¿À¹·Ì ·½º ×Õ å¸ææ çÉ¿Â ã·¸Á îäÖ åî¾·º¿À¹·Ì ·½º åîææ çè

�å



Ã êîë êÁ ·Ä ½ ×Õë ȩ̂ æ ÕëäÉ · ã¸ éÁ ·Ä ½ ×Õ éÃ êîë êÁ ·Ä ½ ×Õë ȩ̂ ë ç åì
É¿Â ã·¸Á îäÖ åî¾·º¿À¹·Ì ·½º åîææ çè Ã êîë êÁ ·Ä ½ë êÖëäÉ · ã·º¿À¹·Ì ·½º×Õ éÁ ·Ä ½ ×Õ éÃ êîë êÁ ·Ä ½ ×Õë ê·º¿À¹·Ì ·½º×Õë ç åìì

·¸Á Ä Ã ·¸ ãçè
ÍÍÎ½îºÃÂÃ¹Ï½ Æº·îúÐ·ÉÀÁÂ½ÃÄ É ·º½ ·¸ ã÷·¸ ÊÁËÁ ÷ç å¿ÉÀÁÂ½ÃÄ É ·º½¿»Á ã÷¿»Á ÊÁËÁ ÷ç å·É ã �É ·º½ ·¸ Ê·Àß¿Æ½¸ ãççè ¹¿»Á ¾¾ ÷�ºÃ¼ ÷ ¾¾½¸¼º å½Ë ·Á ãÕç åì
¼¿»Çº½ ÃÃ é¼¼ åÍÍÐ ¹øùÁ»Ï½ øÄ ·½¸¸½ ø Æº·î»É ·º½ ·¸ ÅÅ ½ÁÃ åÉ ·º½ ·¸ ÅÅ ¹øÃÀßÀÁÃº½Ì¿ åÉ ·º½ ·¸ ÅÅ ½Æ À·º¿¸ßº¿Ì åÉ ·º½ ·¸ ÅÅ ¼Á åÉ ·º½ ·¸ ÅÅ Á ·Ä ½Ä ÃË åÉ ·º½ ·¸ ÅÅ Ç¿îË åÇ¿îùäÇ¿îË åÉ ·º½ ·¸ ÅÅ ·º¿À¹·Ì ·½º åÍÍ¼½îºÃÂ»Ï½ øÄ ·½¸¸½ Ð ÆÃÄ ·�¹·Ã ä ¹Ä ÃÁÂ ·ËòÎ ã·º¿À¹·Ì ·½º éÁ ·Ä ½Ä ÃË é·º¿À¹·Ì ·½º ç åÍÍÆ¿ö¿�½¸ ·½ ¿ÇÂÃø» ¹ø»ÇîÃ ·Ìöù Ã ȩ̂ »Ä ½Âë ê¹ÈÐ ·ºÃ ¹øÃÀ»ë¼ ä ¹Ä ÃÁÂ ·ËóÎ ã·º¿À¹·Ì ·½º éÁ ·Ä ½Ä ÃË ç å ÍÍ ¹øù¸¸ ·î ÐøÂ¿ÀÁ» ¼ ȩ̂ »Ä ½Âë ê¹ÈÐ ·ºÃ ¹øÃÀ»ëÌÃÄ Ã ä ¹Ä ÃÁÂ ·ËóÎ ã·º¿À¹·Ì ·½º éÁ ·Ä ½Ä ÃË ç å ÍÍ Æ¿ö¿�½¸ ·½ ¹ø»ÇîÃ ·Ìöù ÌÃÄ Ã ȩ̂ »Ä ½Âë ê¹ÈÐ ·ºÃ ¹øÃÀ»ëÍÍÆ¿Ä ¿¹¸ ·¹ø½ ¼¿ º·¹ø½¸ ·Ã É 		ÁÃÇº·¹øîÃ ä¹Ä ÃÁÂ ·Ë ÕÎ ãÁ ·Ä ½Ä ÃËý·º¿À¹·Ì ·½ºç åÁÃÇº·¹øîÃßÆÂ ·Ä ä¹Ä ÃÁÂ ·Ë ÕÎ ãÁ ·Ä ½Ä ÃËý ·º¿À¹·Ì ·½ºç åÁÃÇº·¹øîÃßÇ ·À ä¹Ä ÃÁÂ ·Ë ÕÎ ãÁ ·Ä ½Ä ÃËý·º¿À¹·Ì ·½º ç å
¼º»Ì¿À¹ äÄ ÃÁÂ ·Ë ÕÎ ã·º¿À¹·Ì ·½º ç å ÍÍ¼º»Ì¿À¹ ·Ìºù
ÍÍÆ¿¹øûÁî¿Ð½ ¼Ã¸½ ¼¿ øÄ ·½¸¸ù¹ÈÉ¿Â ã·¸Á ¸äÖ å̧ ¾ ·º¿À¹·Ì ·½º å¸ææ çè É ·º½ ·¸ ÅÅ ÃÃ å å É ·º½ ·¸ ÅÅ ¼¼ åÃ ȩ̂ ë êÖë êÖëä¹¿ÄÆ º½Ë¾¼¿»Çº½Å ãÃÃ éÖ ç å¼ ȩ̂ ë êÖëä¹¿ÄÆ º½Ë¾¼¿»Çº½Å ã¼¼ éÖ ç å¼ ȩ̂ ë êÕëä¹¿ÄÆ º½Ë¾¼¿»Çº½Å ã¼¼ éÖ ç å¼ ȩ̂ ë êóëä¹¿ÄÆ º½Ë¾¼¿»Çº½Å ã¼¼ éÖ ç å¼ ȩ̂ ë êòëä¹¿ÄÆ º½Ë¾¼¿»Çº½Å ã¼¼ éÖ ç åÌÃÄ Ã ȩ̂ ë êÖëä¹¿ÄÆ º½Ë¾¼¿»Çº½Å ãÃÃ éÖ ç å¼º»Ì¿À¹ ȩ̂ ëäÖ åìÍÍ¼½îºÃÂÃ¹Ï½ Æ¿Ä ¿¹¸ ·¹øù¹È øÄ ·½¸¸ù ¹È·¸Á Á ·Ä ½ßÇ½Ì ·¸äÖ å¼¿»Çº½ Â½ é ·Ä é Á é ÆÂøùÂ¿ÀÁ åÆÂøùÂ¿ÀÁäÖ ÊÖ å
ÍÍàÞÑ�Ù Ý��íÓÙ à��Ý�ÙÚâÉ¿Â ã·¸Á Á ·Ä ½äÖ åÁ ·Ä ½¾Á ·Ä ½Ä ÃË ×Õ åÁ ·Ä ½ææ ç ÍÍøÃîÂ½À øÄ ·Ã¸ù ¹øÃÀ»è É ·º½¿»Á ¾¾ ½¸¼º ¾¾ Á ·Ä ½ý¼Á ¾¾ ÷ ÷ å¹¿»Á ¾¾ Á ·Ä ½ý¼Á ¾¾½¸¼º åÍÍº·¹øùÄ ù ¹øù¸¸ ·î · ÐøÂ¿ÀÁ»É¿Â ã·¸Á ¸»Ä ½ÂäÖ å̧ »Ä ½Â¾ ·º¿À¹·Ì ·½º å̧ »Ä ½Âææ çè ·É ãÁ ·Ä ½Å¹øÃÀßÀÁÃº½Ì¿ ç ¼ ȩ̂ »Ä ½Âë êÁ ·Ä ½ëäº ·¹ø¼ ã¸»Ä ½Â éÁ ·Ä ½ ×Õç å½ºÀ½ ¼ ȩ̂ »Ä ½Âë êÁ ·Ä ½ëä Õ å
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�Ã� ç µ0�©�����¯ö�©¥¤ § � µ ö�¢ª�� § � µ é ¤¢��� ¤©ª » µ á��©�©ª��¯é ¤¥¨¤ª� § Æ �¢¥¡¢¤¡��© ¤©ªÊ�� � £�¡¡��  ù § £ÔÄÔ �Å÷÷å �
�Å� àµ â�·� ¥�¤° § » µ � µ ö µ £¤ªª § 0���¨·  µ ç�  µ £�¡¡ µ ëë § £÷Ôå÷ Ã �Å÷÷è�
�Ä� £ µ é µ â¤©ª�� § ö�©¡�����¤�· à¨· �¥  ù Í § Å÷Ä �Å÷÷÷�
�å � ø µ  �¥ �° § �]TR`TZ �]Y_ `f � fVPY^ VPT �����ª â¥��©¡��¥ § â�©´¤� ��� § Ãß�ß�
�Ô� àµ é �¤°�© § �]TR`TZWp � RTZ\Pv TPb �]Y_ `f �T] �]Y^ � �O\Z\[]\O^ �ö¤����ª´� ¹©�@�� �¡·à��   § ö¤����ª´� § Ãßß��
�è� £ µ £¤©ª¤¢ � 1 µ £ �­ ��¥ § � VRfTP\QT za]YbQi_ j\cvugRf �à�Ê § �¤� �¤�¤ § ÃßÔ��
�ê� æ µ » µ ä�  ��� § � µ ä����° ¤©ª á µ £�@ �©� § »ª@¤©¥�  �© à¨· �¥  ë� § ÅÔÔ �Ãß���
��� ø µ » µ � �¡¡�© ¤©ª £ µ é µ â¤©ª�� § à¨·  µ ç �@ µ £�¡¡ µ ù� § Ãå÷÷ �Ãß� Ã�
�ß� � µ ä ��¡� � ¤©ª ø µ  �¥ �° § � µ à¨·  µ � Í� § £ ÅÔê �Ãß�è�
�Ã÷� 0 µ ç�  � § à¨·  µ ç�@ µ » ëù § ÄÔåÄ �Ãß�è�
�ÃÃ� àµ é �¤°�© § à¨·  µ ç�@ µ » ëë § Ãß�å �Ãß�è�
�ÃÅ� ç µ é µ / �¤ª��· ¤©ª æ µ ä¢©´ § à¨·  µ ç�@ µ » ëù § êÅÄ �Ãß�ß�
�ÃÄ� � µ é µ æ������� ¤©ª £ µ ø¢��¤© § � µ à¨·  µ » � é¤¡¨ µ 0�© Í� § £ ÃÄ Ã �Ãß�è�
�Ãå � àµ é �¤°�© § à¨·  µ ç�@ µ » ë� § Ãß�å �Ãß���
�ÃÔ� é µ 1 µ ö¤¡�  § à¨·  µ ç �@ µ » ëù § Ô÷÷ê �Ãß�ß�
�Ãè� � µ â��� ¤©ª 1 µ £¢´� � § � µ à¨·  µ » � é¤¡¨ µ 0�© Í� § £ ÃÃ÷ß �Ãß�è�
�Ãê� ä µ ä�  ��� ¤©ª Æ µ Æ¤� ��·§ à¨·  µ ç�@ µ 1 ë� § åêßê �Ãß�ß�
�Ã�� ö µ 1@��¡ � § à¨·  µ ç�@ µ » ùÍ§ Ã�Ä÷ �Ãßß÷�
�Ãß� / µ æ ����ª¤ ¤©ª  µ á ¤� �� § à¨·  µ ç�@ µ » ùý § �êÔß �ÃßßÅ�
�Å÷� � µ ä �¢´ § ä µ ä�  ©�� § àµ é �¤°�© ¤©ª Æ µ Æ¤� ��·§ 1¢���¨·  µ £�¡¡ µ Õù § ÔÅê �ÃßßÄ�
�Å Ã� � µ á¢¤©´ § 0 µ ã¢����© § á µ â¤¢��� ¤©ª æ µ â��©�¡¡� § à¨·  µ ç�@ µ 1 ýý § èåÄÄ �Ãßßê�
�ÅÅ� Æ µ £�³ ¤ § �VY]\T �OPQRS \  PTZ\`gRUPgRf �à�Ê § �¤� �¤�¤ ÃßÔê�
�ÅÄ� ä µ £¡�©�� § é ¤¡¨ µ »©© µ �� § Ã÷Ä �ÃßÅÄ�
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�Åå � 0 µ â��¤©ª�� § �_Y bV`V]^ \P\W`\R v ]Y_ `f ^ YbVZW ]VZT`Vb `Y ! \" OW\YPk# \^ \`Vb  vv ]Vv T`\YP §æ �¥¡��¤� ø¨� �  § Ãßßß æ��¤�¡� �©¡ �­ é ¤¡¨�� ¤¡�¥  § ç�·¤� �© ¡�¡¢¡� �­ ø�¥¨©���´·§ â¡�¥¯°¨��� § â��ª�©
�ÅÔ� � µ ä¤´�� § / µ Ê ��©¨¢�  ¤©ª £ µ àµ ä ¤ª¤©�: § � µ â¡¤¡ µ à¨·  µ ÍÍý § �÷Ô �Å÷÷å �
�Åè� é µ /¤¢�� ¤©ª æ µ / ��©¤�ª § à¨·  µ £�¡¡ µ / ýùë § ÃÄÔ �Å÷÷Å�
�Åê� £ µ ö¤��� �© ¤©ª Ê µ é ¤°¤��@ § � µ »©¤� µ é ¤¡¨ µ �� § Ã÷Ä �Å÷÷Å�
�Å�� ã µ � �° ¤©ª 1 µ é � �  § à¨·  µ ç�@ µ 1 �$ § Ô Ã� �Ãßßß�
�Åß� � µ á µ à��   § â µ » µ ø�¢°�� °·§ � µ ø µ  �¡¡����©´ ¤©ª / µ àµ Æ �¤©©��·§ ~O^ V]\RTZ l VR\X VW\P j �ö¤����ª´� ¹©�@�� �¡· à��   § ö¤����ª´� § ÃßßÅ�
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